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EUNSTION OF T
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T2 SPECIFICATIONS.

SUOSTICS ARE 7O
Lw

i TEST TEST TRANSMITTER AND RECEIVER
SHQRGLEER # NGTHS FROM Q0 TO 16 BIVS

ac
AR B IBILITY FOR TRANSMITTER.RECEIVER
20 TRE SITTER AND RECEIVER TOGETMER.
SRBLE T 5T TRANSFERS GCO CHRRACTERS THROUSHT
S R TR

WHEN THE PROGRAM ENTERS TEST #S6 ON ERCH FIRST
TIME RFTER STARTING OR IF THERE ARE MULTIPLE D3!!°S
JNDER TEST: R MESSRGE WI.. BE PRINTED:

“‘HRRRC’ERS DECTECTEC™

=Su@R RODRESS™.

RD
This TEST IS DONE_ONLY JF_HE DGLL-88 OPTION IS
Not INSTRLLED. “THIS TEST IS DETERMINING THE
STRAP-SELECTABLE CHARS ON THE N7818 HJQULE DEFRLT
MR AND AOCRESS IS “CHAR 177777 AND “RGIRESS 17
YWIS MAY BE CHANGED AS PER CUSTOMER PREFE3ANGES AND
SHOJLD BE PRINTED CUT ACCOPDINGLY. IF ThIRE IS
2wV ONE QI UNDER TEST “ni§ MESSASE WIL. BE PRINTED
LY ONGE RFTER EACH START OF SR-GARM. IF THERE ARE
'u_TIP.E DG11°S THIS WILL 2E PRINTER £ACH TIME THRSLGH
“HE TEST. THE ABOVE DESCRISEC MESSAGE [3 #NOT# AN ERROR
8.7 MJST BE VERIFIED TC “UHAT RS PRINTED LT MATCHES
3 w7818 MOTULE™. SEE TES™ 856 FOR MORE CEVAIL.
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1 RuPT TEST
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vl wiEsVEX ang T TESTS, PLUS 85 SRirs.
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1 EHARACTER _ENGTH AND INTERRUPT TESTS.
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AND R PRRRAMETER INPLT PROGRAM IS ~VRILRBLE
1. Do0aG [REV! DQll TRIAL PROGRAM .PRRRMETER INPUT,

2. REGUIREMENTS
s.1 EQUIPMENT
RN\ P P FRMILY CF) (W]ITH MINIMUM 8K MEMORY)=-WITH
ET R HRARCWARE SWITCH REGISTER (LCC. 177870
SSR 3 \0 EQUILIVRLENT)
SYNC MODEM (ONLY REQUIRED FOR ONLIME TEST)
c.2 STCRGE
PROGRNM HILLOEORD RAND RUN
IN Sk OF MEM
LOCR'ION 1400 THRU 1600 ARE ESPECIALLY T
BE NOTED WND 10 UNTCUCHED B yFERRTCR
QFTER 011 TRIRL PRCGRAM HRS SEEN £XECLTED.
oR RFTER THE “AUTJ SIZING™ M&S BEEN DCNE.
3. LIRCING PROCEECURE
J.: “METmID
ALL PROGRAMS RARE IN RBSOLJT; FORMRT wND
“RE LORDED LSING TRE &BSCL LORCER.
ABSIOLJTE LCRDER STRRTING ADDRESS #500
MEMORY #
SIZE
SK. 17
SK g
.2K g7
16K 7?7
=0F. 117
2K 17
28K 1e7
3.:..1 ORC THE RDOURESS oF RBS. LoARDER (LJC.<AXS0Q.
3.1.2 THEN STARY
4. ETRRTING PROCEECURE
A. LORKD LOC. 200
B. SET SR 70 ZERQO FOR "RUTO SICING™ OR LERY
LEARVE SWR BIT 7=1 TC UCE EXISTING PRRRMETERS SEY UF
Br 0411 TRIA. PROGRSM JR & PREVIJUSLY RJiv DS11 DIRGMISTIC
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4.1

HRT JSED THE "AUTQ SIZING™.
iiiiﬂEfER TO SECTION 4.1 FOR SOFTWARE SWITCH REGISTER OPERATION
ANC OPTIONS. ¥2e#
NeTE:THE SOFTWRARE SWITCH REGISTER IS LOCATED AT LCT.178
cETHRRE CISPLRY REGISTER IS LOCATED AT LOC. 174

2. THEN START
THE PROGRAM WILL TYPE MAINCEC NAME AND PROGRAM NAME
IF THIS WAS THE FIRST START UP OF THE PROGRAM) AND ALSG
THE FILLCWING:

Iggp orloo11 STATUS™

1453 1?3858

1438  1£7020

1406 150310

THE RBCVE I? CNLY AN E!RHPBE'

YHIS HO D_INDICATE THE STATUS TABLE STARTING AT AQC.

14C0 HE PROGRAM. THE STATUS TRBLE MUST BE VERIFIED BY THE
USER IF AUTO SIZING IS DONE. FOR INFORMATION OF STARTLS

TRBLE SEE SECTION 8.4 FCR HELP.

r2x2]F THE SCrTWARE SWITCH REGISTER IS SELECTED THEN THE FOLLOWING
WIL. SE TYPED AFTER THE PROGRAM IDENTIFIES ITSELF
SWR=XXXXXX NEW=  (REFER TO SECTION 4.1 FOR OPERQTOR S JPTION) #rax
NOTE:IF USING THE SOFTWARE SWITCH REGISTER WHEN A MARDWARE
SWITCH REGISTER IS AVAILABLE THE PROGRAM LILL NOT
TYPE QUT THE TITLE.
THE PROGRAM WILL TYPE “R"
ANC PROCEED TO RUN THE DIAGNOSTIC
CONTROL SWITCH SETTINGS
IF THE DIAGNOSTIC IS RUN ON R CPU WITHCOUT A SWITCH
RESISTER THEN R SOFTWARE SWIT.H REGISTER IS USED WHICH RLLOWS
THE USER THE SAME SWITCH OPTICNS RS THE WARDWARE SWITCH REGISTER.
IF THE HARCWARE SWITCH REGISTER DOES NOT EXIST OR IF CNE DOES
AND 1T CONTAINS ALL ONES (177777} THEN THE SOFTWARE SWITCH
REGISTER (LOC. 176) IS USED.

CONTROL :

THIS PROGRAM ALSQO SUPPORTS THE DYNAMIC LOADING CF THE SOFTWARE SWITCH
REGISTER (LOC. 176) FROM THE TTY, THIS CAN BE ACCOMPLISHED BY
DCING THE FOLLOWING:

1) TYPE CONTROL G <%G>: THIS WILL ALLOW rns ™ TO ENTER DRTA INTD
LCC. 176 AT SELECTED POINTS THIN THE PROGR

2) THE MACHINE WILL THEN TYPE: SWR=XXXXXXNEWz (XXXXXX IS THE OCTRL CONTENTS
OF THE SOFTWARE SWITCH REGISTER.
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3) QFTER THE °“"NEW='" YRS BEEN TYPED THEN THE OPERATOR CAN DO CNE
JF THE FCLLOWING AT THE TTY:

R) TYPE R NUMBER T2 BE LORDED INTO LOC. 176 FOLLOWED 8Y A (CR>.
(CNLY NUMBERS BETWEEN 0-7 WILL BE RCCEPTED AND ONLY & NUMBESS
WILL BE RLLOWED] ‘

IF A CR> IS THE FIRST KEY DEPREC.c” THE SOFTWARE SWITCH
REGISTER CONTENTS WILL NOT BE CHeNGEL.

IF A CONTROL U <tU> IS DEPRESSED Tr:=™ Tec PROGRAM WILL SEND YOL

2)
BAck TC STES 2.
SW 15 SET: HALT ON ERROR
S 14 SET: LCOP ON CURFFNT JEST
SW 13 SET: INMIBIT ERRum PRINT OUT
Su 12 SET: INWIBIT TYPE QUT/BELL ON ERRGR.
SW ii SET: INMIBIT_ITERATIONS
SW 18 SET: ESCAPE_TO NEXT TEST
S 09 SET: LOOP WITH CURKENT DATA
SW 08  SET: CATCH ERROR AND LOOP ON IT
SW 07 SET: U'SE PREVIOUS STATUS TABLE. CLR-DJ AUTQ SIZE.
SWO&  SET:
Sw 25 SET
S, 04 SET
SW D3 SET

Sw 02 SET: LOCk CN SELECTED TEST
S84 0! SET: RESTART PROGRAM AT SELECTED TEST
SW 30 SET: RESELECT DGI1'S DESISED RCTIVE.

4.1.2 SWITCH RESISTER RESTRICTIONS

SW OC RESELECT DG11°S DESIRED ACTIVE.
PLEASE NOTE THAT A MESSAGE IS TYPED
OUT FOR SWITCH REGISTER BEING EQUAL TO DQLI'S
ACTIVE. THIS MEANS IF THE SYSTEM HRS
FOUR DO11S; BITS 00,0'.02,03 WILL
BE SET IN LOC =DOACH *. USING THIS
SWITCH ALTERS THAT LOCRTION: THEREFORE
IF FOUR DQIIS ARE IN THE SYSTEM
«%¥00 NOT##¥ SET SWITCHS GREATER THAN
SW_G3 IN THE UP POSITION. THIS WOULD BE
A FATAL ERROR. DO NOT SELECT MORE ACTIVE
00115 THAN HAS BEEN GIVEN INFCRMATION
GBOUT IN TRIAL PROGRAM.

METHOD: f: LCRD ADDRESS 200
B: START WITH SW 00=1
C: PROGRAM WILL TYPE MESSAGE
D: CONTINUE THE BINARY_NUMBER OF DG11S DESIRED ARCTIVE
EXAMPLE: 1=1 DQll; 3=2 DQll; 7=3 DQll; 17=4 DOl 37=5 DQl! zTC.
E: NLMBER (IF VALID)'WILL BE IN DATA LIGHTS (EXCLUDING 11-05, I1-04, i1-3%
F: CONTINUE WITH ANY OTHER SWITCH SETTINGS DESIREC.

Sk 0] IT IS STROMGLY SUGGESTED THART
AT LEAST ONE PASS HAS BEEN MACE
BEFCRE TRYING TO SELECT R TEST

_
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THAT IS NOT IN THE ORDER UF :EQLENCE
THE REASON BEING IS T THE

PRCGRRM HAS TO CLERR RREQS ANC SET
UP PARAMETERS. ALSQ WHEN R TEST IS
SELECTED ALWRYS START AT THE VERY
BEGINNING OF THRT TEST.

SW 03 LOOP ON CURRENT DATA:
THIS SWITCH WIL. ONLY WORK IF
CRLL "SCOPI™ IS IN THAT TEST.
THE REASON BEING THRT MOST TESTS
DERL WITH BLOCKS OF DIFFERENT DATA
T0 BE SENT OR RECEIVED ALL AT CNCE
THUS IN BLOCK DATA; ONE PATTERN CANN'T BE SINGLECD CUT.

4.1.3 SWITCH REGISTER PRICRITYS
ERROR SWITOMES
SW 12 DELETE PRINT OUT/BELL ON ERRCR.
S 13 DE_ETE ERROR PRINTOUT.
SW 15 HALT ON THE ERROR.
SW OB GOTO BEGINNING OF THE TEST.
SW 10 GOTO NEXT TEST ON ERROR.
x#23HLT (ERRCR) ROUTINE SUPPORTS ‘1G> OPERATIONRex¥
SJOPE SWITCHES
1. gﬁ 05 [IF ENABLED BY "SCOPI™)
3. SW 11
#3#¥SCOPE ROUTINE WILL SUPPORT <13> OPERATION##a#
4.2 STARTING RDDRESS
STARTING ADDRESS IS AT 000200
THERE ARE NO OTHER STARTING ADDRESSES
FOR THE DQ1l DIAGNOSTICS PREVIQUSLY MENTIONED
NOTE:  IF ADDRESS 000042 1S NON-ZERO
THE PROGRAM ASSUMES IT IS UNDER
ACT11 CR DOP CONTROL AND WILL ACT ACCORDINGLY
AFTER *ALL* AVAILABLE DQ1!'S ARE TESTED
THE PROGRAM WILL RETURN TU “DDP2“ OR “ACT-11".
OPERATING PROCEDURE

WHEN PROGRAM IS INITIALLY STRRTED MESSAGES AS DESCRIBED IN SECTION
FOJR WILL BE PRINTED.

ANC PRCGRAM WILL BEGIN RUNNING THE
DIRGNISTIC

PROGRAM RND/OR OPERATOR RCTION

N L£WNr-—-
L ] L] [] ) .

mn
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(a)

Iy

n

THE TYPICAL RPPROACH SHOULD BE

HALT i E9090R WVIA SW 15=1)
WHEN EVER AN ERROR OCCURS

CLEAR SW 15

SET SW 14: LOCP_ON THIS TEST)

SET SW 13: {(INWIBIT ERROR PRINT OUT)

THE TEST NUMBER AND PC WILL BE TYPED OUT AND
POSSIBILY AN ERROR MESSRGE (THIS DEPENTS ON THE TEST)
T0 GIVE THE OPERRTOR AN IDER RS TO THE SOURCE OF THE
PRUBLEM. IF IT IS NECESSARY TO KNOW MORE INFORMATICN
CONCERNING THE ERROR REPORT; LOOK IN THE LISTING

FOR THAT TEST NUMBER WHICH WRS TYPED OUT

ANC THEN NOTE THE PC OF THE ERROR REPORT

THIS WAY THE EXACT FUNCTIONING OF THE TEST

CAN BE INTERPECITED

ERRORS

RS DESCRIBED PREVIOUSLY THERE WILL ALWRY BE
R TEST NUMBER RAND PC TYPED QUT RT _THE TIME OF AN
ERROR (PROVIDING SW 13=0 AND SW 12=0). IN MOST CASES RDCITICNAL
INFORMRTICN WILL BE SUPPLIED THE THE ERROR MESSAGE
ESAQS IS TO0 GIVE THE OPERATOR AN INDICATION OF THE
OR.

ERRCR RECOVERY

IF FOR_SCME RERSON THE D@1l SHOULD

"HANG THE BUS™ (GAIN CONTROL OF BUS SO THAT

CONSOLE MANUAL FUNCTIONS ARE INHIBITED) AN INIT

OR FOWER DOWN/UP IS NECESSARY FOR CPERATOR

TO REGRIN CONTROL QF CPU.

IF THIS SHOULD HAPPEN; LOOK IN LOCRTION

“TSTNC™ (RDDRESS 1222)FOR THE NUMBER OF THE TEST THAT
ggEOSUNHING AT THE TIME OF THE CATARSTRGPHIC

IN "HIS WAY THE OPERATOR WILL HAVE AN IDER RS 70

wHAT THE DGl1 WRS DOING AT THE TIME OF THE ERRCR.

#2#3##HRALT RECOVERY WHEN USING SOFTWARE SWITCH REGISTER#*x#

iF THE SOFTWARE SWITCH REGISTER IS TO BE CHANGED AFTER R HALT

THE THE OPERATOR 1S REQUIRED TO TYPE A <(*G> BEFORE DEPRESSING CONTINUE.
THE FOLLOWING WILL BE TYPED:

SWR=XXXXXX NEW=  (REFER TC SECTION 4.. FCR OPERRTOR OPTION)
RESTRICTIONS

STRAPTING RESTRILCTIONS

SEE SECTION M. (PLERSE)

CPERATING RESTRICTIONS

e
(]

LT
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0311 TRIAL PROGRAM MUST BE RUN PRIOR TO THE

FIRST AND ONLY THE FIRST RUNNING or ANY D@11 DIARGNOSTIC
NOTE:  IF NO PROGRAM OTHER THAN

Del!l DIRGNOSTIC WRS LOADED AFTER 0011 TRIAL OR

IF CORE MEMORY HAS NOT BEEN CHANGED:OR IF THERE

IS NO DQ11 CONFIGURATION CHANGES: THE

D311 TRIAL PROGRAM NEED NEVER BE RUN AGAIN.

HOWEVER IF ANY OF THE RBOVE HAVE SEEN VIOLATED

THE D@11l TRIAL PROGRAM MUST BE RUN AGRIN

BEFORE RUNNING THE DIAGNQOSTICS

NOTE: AN ALTERNRTIVE TO THE ABOVE IS ATTEMPTING
a?gH"gﬂgg gIZING” WHEN PROGRAM IS INITIALLY STARTED

8. MISCELLANEOQUS
. EXECLTION TIME

8.2 PRSS COMPLETE

WHEN THE DIAGNOSTIC HAS COMPLETED

A PASS THE FOLLCWING IS AN EXAMFLE

OF THE PRINT QUT TO BE EXPECTED.

END PRSS DZDGD-C CSR: 16C000 VEC: 300 PASSES: 000001 ERRORS: 00000C

NOTE:  THE NUMBERS FOR CSR RAND VEC ARE
NCT NECESSARILY THE VALUES FOR THE DEVICE
THEY ARE ONLY FOR THIS EXAMPLE.

1571 (MINI MONITOR)

THE VERY FIRST "TEST™ (T1STl)

IS *NOT* A TEST OF THE D3ll HARDWARE

1T IS A_MINI-MONITOR USED 7Q CYCLE DQll IN THE
SYSTEM THROUGH THE DIAGNOSTIC.

w
W

€.4 KEY LCCATIONS

RETURN (1210)  CONTAINS THE ADCRESS WHERE PROGRAM WILL
RETURN WHEN ITERATION COUNT IS RERCHEC
OR IF LOOP ON TEST IS RSSERTED.

NEXT  (1212) CONTRINS THE ARDDRESS OF THE NEXT TEST
TQ BE PEFQRMED.

TSTNC (1222} CONTAINS THE NUMBER OF THE TEST NOW
BEING PEFORMED.

RUN {ie7e THE BIT IN “RUN" ALWAYS POINTS ONE
EQE;PT?E DQ11 CURRENTLY BEING TESTED.
(RUN} 1272-00000000310000C0
MEANS THAT DGI1 NO.QS IS THE D@1l NOW
RUNNING.

CGCRO0-DACRL?
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235700-D3sTI7
V14003 -1 1476)
THESE LOCATIONS CONTAIN THE INFORMATION
NEEDED 78 TEST UP TQ s (DECIMAL) DQl1lS
SEQUENTIALY. THEY con AIN THE CSR,VECTOR
AND STATUS CONCERNING THE CONFIGURATION
OF EACH CQ11.
DIACTY (15000 EACH BIT SET IN THIS LOCATION INDICATES
THAT THE RSSOCIATED D@1l WILL BE TESTED
IN TURN.
EXAMPLE:
(DQACTY) 1500-000000000C011111
MEANS THAT D@11 NO. 00,0!,02,03.04
NILL BE TESTED.

EXAMPLE :
(DQACTY) 1S00.00000000C0C.i0C0!
MERNS THAT DQ@L1 NC. 00,04
WILL BE TESTED.
DQCSR  (iSC6)  CONTRINS THE RECEIVER CSR OF THE
CURRENT DQ11 UNDER TEST. _
CQSTAT (1S10.  CONTRINS THE STATUS OF THE CURRENT
DGL1 UNDER TEST,

2°7 1§ SET: TWO _SYNC CHRRS/ONE SYNC CHAR
BIT 14 GSET: TEST JUMPER INSTALLED/NOT INSTALLED
BIT 13 SET: BB OPTION INSTALLED/NOT INSTALLED
BIT 12 SET: BA OPTION INSTALLED.NOT INSTRLLED .
BIT 11 SET: ACTIVE ON FIRST NON-SYNC/ACTIVE RFTER NO. OF SYNC
BIT 10 SET: AB OPTION INSTALLED-NOT INSTALLEC
BIT 09 SET: COD _VRC/EVEN VRC
BIT GO-08 VECTOR “R™ CF DEVICE
8.5 ¥xx METHOD OF AUTO SIZING *¥#
8.5.1 FINDING THE CONTROL STATUS REGISTER.

WHEN LOOKING FOR THE CSR IT IS NECESSARY TO TAKE CARE

THAT WHEN A CSR IS FOUND THAT IT IS INDEED A LGll. THAT

IS THE METHOD OF MY MADNESS FOR THIS ROUTINE.

AN ATTEMPT TQ CLEAR THE MISC. REGISTER IS TRIED

IF A TIME-QUT TRAP QCCURES PQINTERS ARE UPDATED

AND QTTEHPTED ARGARIN. IF NO TIME-QUT: THE RECEIVER “ARCTIVE BIT" (BIT l2)
1S SET AND A *COMPARE* FOR_BOTH SYNC1 AND SYNC 2 IS DONE

AT THE MISC. REGISTER. IF THEY ARE THERE THIS IS

A DGL1. THE INFORMATION IS STORED RWRY.

8.5.2 ONE SYNC BIT OR TWO?

CINCE TOO MUCH HARDWARE MUST BE TURNED ON TQ SENSE THE
PRESENTS OF ONE SYNC OR TWQO. THE PROGRAM ASSUMES TWO SYNC
CHRARS. NOTE: THIS ASSUMPTION MAY BE ALTERED AFTER AUTO SIZING
BY ALTERING BIT IS IN APPRIORTE DQSTXX: LOCATION.

“BB" OPTION INSTALLED?

TO SENSE FOR THE "BE" OPTION THE PROGRAM SELECTS THE
CHARACTER DET. REGISTER AND THE LORDS IN ALL 1'S; IF

B.5.

L V)
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ANY ONE OR COMBINATION OF BITS ARE SET THE BB OPTION
IS RSSUMED TO EXIST.

8.5.4 "AB"™ OPTION INSTALLED"
TO SENSE FOR THE ™AB” QPTIO

ION THE P
POE\NOHIRL REG¥§TER AND WRI TEE At
ONE OR_COMBINATYON OF BITS ARE SET

ROGRAN SELECTS THE
Y 442 AR OptIN TS RoSUMED

8.5.5  “"BR™ OPTIUN INSTALLED?

TO SENSE FOR "BAR" OPTION REQUEST TO SEND AND DATA TERMINAL
REACY RRE SET: IF EITHER ONE OR BOTH ARE SET THE PROGRAM
ASSUMES THE BA OPTION EXISTES

§.5.6 JUMPER ON END OF CARBLE?

THE PROGRAM CHECKS TQ SEE IF EITHER OR BOTH CLEAR TO
SENC _RND CARRIER ARE SET; IF SO THE PROGRAM RSSUMES THE
TEST JUMPER IS ON THE END'OF THE CABLE.

8.5.7 RCTIVE ON FIRST NON-SYNC?

SINCE TOO MUCH HARDWARE MUST BE TURNED ON TO SENSE FOR
WHEN THE DQll GOES RCTIVE THE PROGRAM ASSUMES “ACTIVE
ON_FIRST NON-SYNC™. NOTE: THIS CAN BE CHANGED BY ALTERING
BIT 11 IN THE RPPRIOARTE DQSTXX: RFTER AUTO SIZING

©.5.8 SET FOR ODD OR EVEN PARITY?
AS ABOVE TOO MUCH HARDWARE IS NEEC TO SENSE uuxcu PARITY
WAS SELECTED.SO THE PROGRAM ASSEMES ODD PARITY
NOTE: THIS CAN BE CHRNGED BY ALTERINS BIT 9 IN APPRIO-
ATE DASTX¥: LOCATION. RFTER AUTO SIZING
2.5.9 FINDING THE VECTCR.
THE PROGRAM SETS "PRIMARY DONE™,“SECONDAY DONE™ nno ”INTERUPT ENABLE"
AND LOGKS FOR AN INTERUPT. IF 1t INTERUPTS IT 15 PIC
P AND STORED AWAY. IF NO INTERUPT OCCURES THE PROuRRM
ASSUMES VECTOR =300. THIS PROBLEM WILL BE FIXED IN ONE
OF THE DIAGNOSTICS AND *AUTO SIZING* SHOULD BE REDONE T9
GET THE CORRECT VECTOR.
CY PROGRAM DESCRIPTION
CONTAINED WITHIN LISTING
19. LISTING

FOLLOWING
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gqg .ENABLE AMA
=1

551 : MAINDEC-11-DZDAD-C/<377> /TRANSMITTER AND RECEIVER EXERCISER

§§§ :COPYRIGHT 1375, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

b=

533 REVISED 21-JUNE-76 BY S. CARPENTER

31 : A)SUPPORTS SOFTWARE SWITCH REGISTER

SEE : B’BQPTQRIS THE DYNAMIC LORDING OF THE SOFTWARE SWITCH REGISTER
b=V . .

g5g :STARTING PROCEDURE

553 :LORD PROGRAM

SE0 : LOAD RDDRESS 000200

SEl :PRESS STA

¥ : PROGRAM NILL TYPE "MRINDEC-11-DZDQD-C/<377> /TRANSMITTER AND RECEIVER EXERCISER™

563 :PROGRAM WILL TYPE “R" TO INDICATE THAT TESTING HAS STARTED

524 ;AT THE END OF A PASS, PROGRA! WILL TYPE PRSS COMPLETE MESSAGE

SES :AND THEN RESUME TESTING

=

ggg :SWITCH REGISTER OPTIONS

e 100000 SW15=100000 :=1,HALT ON ERROR

£73 040000 S14=40000 :=1 LOOP ON CURRENT TEST

3 0200900 Sk13=20000 +=1) INHIBIT ERROR TYPEOUT

573 010000 SW12=10000 :=1 DELETE TYPEQUT/BELL ON ERROR.

£74 004900 SwW11=4000 :=1. INHIBIT ITERATIONS

57 002000 SW10=2000 :=1 ESCAPE TO NEXT TEST ON ERROR

576 001360 SW09=1000 3=1,L0CP WITH CURRENT DATA

£77 000400 S.08=400 :=1.L00P ON ERROR

£78 000160 SW06=190

5§79 900040 SWOS=40

=83 0029020 SW04=20

£g1 000310 SW03=10

£g2 000504 SW2=4 :LOCK ON TEST SELECT

=k 000002 SWOI=2 !RESTART PROGRAM AT SELECTED TEST

ga4 000001 SW30=1 RE,ELECT DCI1 DESIRED ACTIVE

£8g NOTE: THIS MLUST NOT EXCEED JRISINAL JOUNT
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DZDADC. P11 GENERAL DEFINATIONS AND EQUIVALENCIES
5
589 :REGISTER DEFINITIONS
540 000000 RO="0 :GENERAL REGISTER
591 GO00C R1=%1 ' GENERAL REGISTER
532 000002 R2=%2 ;GENERAL REGISTER
593 00C003 R3=%3 : GENERAL REGISTER
534 000004 R4=%4 ! GENERAL REGISTER
595 500005 RG=/5 'GENERAL REGISTER
595 000006 SP=%b 'PROCESSOR STACK POINTER
537 300907 PC=n7 ' PROGRAM COUNTER
o
599 ;LOCATION EQUIVALENCIES
£0] 177570 DSWR=__ 177570 ;HARDWARE SWITCH REGISTER LOC.
602 177570 DLIGHTS=177570 :HARDWARE DISPLAY REGISTER LOC.
£03 177776 PS=177776 +PROCESSOR STATUS WORD
603 00:208 STACK=1200 :START OF PRCCESSOR STACK
50 : INSTRUCTION DEFINITIONS
608 005THE PUSHISP=S746  ;DECREMENT PROCESSOR STACK 1 WORC
£C9 005726 POP1SP=5726 . INCREMENT PROCEGSOR STACK L WORD
30 010036 PUSHRO=10046  :SAVE RO ON STACK
33 012600 POPRO=12600  :RESTORE RO FROM STACK
612 024656 PUSH2SP=24646  :DECREMENT STACK TWICE
513 02262% POP2SP=22626 _ :INGREMENT STACK TWICE
b1 .EQUIV  EMT,HLT :BRSIC DEFINITION OF ERROR CALL
B16
E17 100000 BIT15=100000
518 040900 BIT14=40000
619 320000 BIT13=2000C
B2G 010000 8]712=10000
b2l 004000 BIT11=4000
B2g 002000 BIT10=2000
623 001000 B173:100C
24 000400 BIT8=400
6285 000200 BIT7=200
B2k 000100 BIT6=100
B27 030040 BITS=40
629 000020 BIT4=20
£25 000010 BIT3=10
630 600004 BIT2=4
£3] 000002 BITi=2
B3z £00001 BITO=1
£33
E34
3 ;DG11 OPTIONAL DEFINITI NG
£37 102000 ABE1T=2000
£30 004900 ACTIT=4000
£33 010000 BABIT=10000
g2 £22000 BES!T=20000
oy 243630 FOMBIT=47900
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ocpelie.pPll GENERAL SETINATIONS ANG EQUIVALENCIES
B4 301200 OCDB]T=1040
£4 1388085 S$YNB1T=100000
s
£48 :D011 SEZONDARY PEGISTER DEFINATIONS
64 g RXBA. P20 RECE[VER BUS ADORESS PRINAAY.
B , RGP VR LORE CCUNT PRIMARY.
£52 TAD BRE AN T TER BuS UROORESS FRIMARY.
£e1 T3uC P23 rnnusnxrrsq BLS ADCRESS PRIMAAY.
£ Sﬂ &4 R\B3.§=3 qzwgiv R SLs RoRESS SECONCARY.
g2 % RXW=. 826 R WORD COUN® SECINDARY.
£Eu TNBA. o<6 | TRENSMITTER BUS ADDRESS SECCMDAR .
£5s BRERee oo, =7 } *RENGMITTER WORC COUNT SE: SNCAFT.
£z AY0C10 “HARDT=12 : CHARAZTER DETECT SESISTER.
£go Lilo Syne 2l SYN; RESISTER,
£E3 K,gxxg WSt L MTSYEL LANE 3US REIISES,
& I Sv R

£ ot IV 1y e

£E3 pex:k gl ochef ng'lezaE S
£ic
£t

a3
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oI0ers.PLl *RAFCRTCHER SOR UNENPECTED INTERJPTS
15 : (RAPCATCAER FOR ILLEGAL INTERRUFTS
?ég 000 200003 = 2 NEXPECTED TRAP TQ THIS LOCATION
b . ¢
£33 355555 ERRRAE HACT N TRE E0alk 7o PINp 2aLs
§°1 P304 G0O0 43 :UNEXPECTED TRAP T0 TRIS COCATION
£~ [03S0e COCOCC . ALY SEXAMINE STACK TO FIND CALSE
§~3 £3301C 200012 : . +2 UNEXPECTED TRAP To THIE _OCATION
e~4 235012 000030 : HALT :EXAMINE STACK TO FIND CAUSE
§5 Sy google 42 unsxpsfreg TRAP TQ_ THIS LECATION
£~§ 3EEie £5093 HALT EXAMINE STAZK TO FIND -AUSE
€~~ 330020 QOfhse 42 UNEXPECTED TRAP TO THIS LOCATION
§79 027333 300230 SALT L EXAMINE STACK 10 FING CRUSE
i-3 53855 Poctae . +3 INEXPECTEL TRRP-TO THIZ LAGATICN
£8C 3052 DOCCOC SALT :EXAMINE STRCK TO FIND »niss
£3] 33633C 0S0C38 43 :UNEXPECTED TRAP TQ THIS LOCATION
£33 333533 A0006T QAT :EXAMINE STACK TO FIND RaoeE
683 C0DST3+ 000036 .*2 : UNEXPECTED TRAP TQ THIS LOCATION
€35 33023 A00C30 SALT :EXAMINE STACK TO FIND CAUSE
£3c D3I340 Q0A%H2 .43 :NEXPECTED TRAP_TQ THIS LOCATICN
685 DOC0C0W2 002000 AL T 'EXAMINE STACK TJ FIND CAJSE
E§c ATAS4Y  0CI046 43 : UNEXPECTED TRAP 10 THIS LJCRTION
£ss [DiChep 003CNS HALT 'EXAMINE STACK TO FIND CALSE
689 OfC3SC 900CS2 .+2 : UNEXPECTED TRAP TC THIS LCCATION
£33 30889 QL300 HAL T 'EXAMINE STACK TO FIND CAUSE
3] COSTE4  0CCSE Ry :UNEXPECTED TRAP TC THIS LOCATION
€3z 305CSp 0CTAI0 AT :EXAMINE STACK TO FIND CAUSE
£33 333%ep QOCQCE2 . +3 ' UNEXPECTED TRAP T0 THIS _OCATION
€94 3202 900300 HALT :EXAMINE STACK 10 FING CAUSE
£33 Z3TRg4  DO00GE Y ;UNEXPECTED TRAP 70 THIS .CATIN
£ Atifep 00CAGT AT tEXAMINE STACK TC FIND AUSE
€37 EoS5c 90357 .42 :UNEXPECTED TRAP "0, THIS LIZATION
£2g ANDI7E  0OOGA0 HALT TEXAMINE STACK T0_FIND ZAUSE
€3 38T374 0007 o2 :UNEXPECTED TRAP T2 .Hxs LaCATIO
°°C 05307e 000000 HRLT ‘EXAMINE STACK TO FIND -AUSE
~T APEIxT QOfIge , L *3 :UNEXPECTED TRAP 70 'st L2CATION
TR D3P133 998340 - HALT SEXAMINE STACK TO FING CAUSE
»3% 33TI04 DOTI0E : L+3 : ONEXPECTED TRAP TG THIS LOATICN
784 2It1%e ACCODO HACT SEXSMINE STACK 1O FIND -AUSE
7%c 335118 Q0CI1E Ry :UNEXPECTED TRAP 7O THIS LOCATION
| 73E 233112 209300 HALT LEXAMINE STACK TC FIND cAUSE
7>¢ F0Oil4 3301E .43 LNEXPECTED TRAP T3 THIS LOCATION
7%e I9%i1e 330030 NALT TEXAMINE STACK TC FIND CRUSE
., ~T§ AIfiZc ATElsE oD ! UNEXPECTED TRAP TO THIS LOCATION
715 F3313% 000000 RALT EXAMINE STACK TO FIND CAUSE
711 3CCi34 63016 Y ! UNEXPECTED TRAP TO THIS LOCATION
) 7:2 SIfi3e (0OCAG0 RALT tEXEMINE STACK TO FIND CAUSE
7:3 23833 £00132 o2 {UNEXPECTED TRAP TO THIS LJCAT!
7.4 G138 00200 HALT Exnng TAgk 10 FIND CAUSE
7' 236134 92013 .+ XPECTED TRAP TO THIS LIfATIS
73t 3201% 206000 - Exnnxne STACK T0 FIND SAUSE
ni7 Gofiad 200, L2 EQEXPECTED TRAP TQ ThIS LECATION
7o S04 A6%Ag HALT MINE STACK 1O FIND CAUSE
718 OEIW 146 .42 : UNEXPECTED TRAP TO THIS LOCATIO
. "ED IZTi4e 0090 1 : EXAMINE STAC.. T0 FIND CAUSE
| 72 EZZicg £ofl .4 :UNEXPECTED TRAP TO THIS _CCATION
, T2 IETiE2 CCUNTC HALT s EXAMINE svncx TO FIND CAUSE
4

|
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11 TRABEATISER ToR ONENE. SEp TNFEALATS

CO21S4 200156 +2 :LNEXPECTED TRAP TO THIS LGCATION
35815 300000 HALT 'ESAMINE STACK TO FIND CALSE
G00i60 D3C1E 43 'UNEXPECTED TRAP TQ THIS LOGATION
900162 DOC0D HAL™ 'EXAMINE STACK T0 FIND CAUSE
200ieY 000166 43 ' UNEXPECTED TRAP TO THIS LOCATION
CCJ1ES COOBCS HALT 'EYAMINE STACK TO FIND CAUSE
933170 OCCI- KE :UNEXPECTED TRAP 1O THIS LOCATION
832172 038300 HAZT 'EXAMINE STACK "0 FIND cALCE
36174 205116 43 'UNEXPECTED TRAP TQ THIS LC-ATION
300176 00900 HALT 'EXAMINE STACK TO FIND CAUSE
300300 DoCRCe (43 'UNEXFECTED TRAP TO THIS LOCATICH
525302 05030 AT LEXAMINE STACK TO FIND CAUSE
28324 £ocage 43 :UNEXPECTED TRAP TQ THIS LICATION
£o550e 090000 AT :EXAMINE STACK TO FIND CAUSE
800210 000212 43 : UNEXPECTED TRAP TO THIS L3CATION
200212 908CC0 AT TEXAMINE STACK TO FIND CAUSE
fAZ214 000! L+3 : NEXBECTED TRAP T THIS LOCA™ 10N
530216 GCO0A0 ST tEYAMINE STACK TO FIND CAUSE
003825 grgass 42 ! NEXPECTED TRAP T2 THIS LG:ATION
300222 DO500C haLT 'EXAMINE STRCK TO FING CAUSE
000224 000226 .43 :UNEXPECTED TRAP TO THIS LOCATICN
002226 DCCCOD AT 'EXAMINE STACK TO FIND CAUSE
000230 000232 42 !UNEXPECTED TRAP TO THIS LOGATION
00732 200900 HAL™ 'EYAMINE STACK TO FIND CAUSE
90534 005236 48 :UNEXPECTED TRAP TQ THIS LOGATION
0323 290000 mALT }EXANINE STACK 10 FIND €

833240 000242 43 ;UNEXPECTED TRRB TQ THIS AcaTIoN
£a0242 030000 AT 'EXAMINE STACK TO_FIND ZAUSE
FAta4q  DOAZ4E 43 ' UNEXPECTED TRAP TO THIS LOCATICN
Oo0e4s  5C0OG0 NAT tEXAMINE STACK TO FIND AUSE
030ecC Q03ese 43 tUNEXPECTED TRAP TO THIS LOCATION
000252 000020 HALY TEXAMINE STACK TO FIND CAUSE
S0C3E4 009256 .+8 {UNENPECTED TRAP TQ THIS [LICATS
£5028e 00DCO3 HALT 'EXAMINE STACK TO FIND CAUSE
30960 COC2k2 42  GNEXPES"ED TRAP TO THIS LOCATION
£33%€2 00200 AT LEXAMINE STACK TO FIND CAUSE
52026~ 00GZBE .*3 :UNEXPECTED TRAP T2 THIS LOCATION
3303ee  20CCIS HA, T 'EXAMINE STACK TG FIND CAUSE
O20z-8 J0CerE i 'UNEXPECTED TRAP 7o THIS LOCRTICON
83dsrz 000SCH AT 'EXAMINE STACK TO EIND CRUSE
FE0a74 20faTE .43 *UNEXPECTED TPAP TQ THIS LOCATION
500276 200000 MALT 'EXAMINE STACK TO FIND CAJSE
026300 ©80307 43 }UNEXPECTED “RAP TO THIS LOCRTION
500302 0000CS HA_™ 'EXAMINE STACK TO FIND CAUSE
000304 000336 vE ' UNEXPECTED TRAP TO THIS LJCATION
200306 DOOCO0 hA_T 'EXAMINE STACK TO FIND CAUSE
320310 00031z +2 :UNEXPECTED TRAP TO THIS LOCATIS
833312 000000 HALT {EXAMINE STACK T0 FIND CAUSE
00315 Q00ZIE .43 : NEXPECTED TRAP TO THIS LIcATIZN
03C2ie 0C00C] HALT :EXAMINE STACK T0 FINC CAUSE
00320 000322 42 {UNEXPECTED TRAP TO THIS L3cATION
000322 002300 HALT "EXAMINE STACK T0 FIND CRLSE
00C3e4 DCO326 42 ;UNEXPECTED TRAP 19 THIS LICATION
£033s6 DS2000 HALT 'EXAMINE STACK TO FINC CRLSE
otetcicle e JSe 42 {LNEXFECTED TRAP TO TRIS LOCATION

gaazze Coloac HALT ;EXAMINE STRCK TJ FIND CRUSE
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TRAPZATIHER FOR JNEXPECTED INTERUPTS

350336
000000
Q00342
00000
000346
CS20CC
0003s2

QoJ512

sleeioe

E02

{UNEXPECTED TRAP TO T+.3 LOCATION
{EXAMINE STACK TO_FIND CAUSE
{ GNEXPECTED TRAP-TO THIS LOGATION
'EXAMINE STACK TO_FIND CAUSE
;UNEXPECTED TRAP 7O THIS LOCATION
JEYAMINE STACK 10 FIND CAUSE
{UNEXPECTED TRAP TG THIS LOCATIO!
'EARMINE STACK TO FIND CAUSE
}UNEXPECTED TRAP_TQ THIS LOCATION
(EXAMINE STACK 10_FIND CAUSE
{L¥EXPECTED TRAP TO IS LOEATION
{EXAMINE STACK TO_FIND CAUSE
{UNEXPECTED TRAP TO_THIS LOCA™ION
:EXAMINE STACK TO FIND CAUSE
}UNE \PECTED TRAP TQ_ THIS LCCATION
tEXGMINE STACK TO_FIND CAUSE
UNEXPECTED TRAP TQ THIS LOCATION
'EXAMINE STACK T0 FIND CAUSE
: JNEXPECTEC TRAP TO_THIS LGCATION
:EXGMINE STACK TC FINC CAUSE
:UNEXPECTED TRAP TQ_ THIS LOCATICN
;EXAMINE STACK TO_FIND CAUSE _
tUNEYPECTED TRAP 79 THIS LOCATICN
LEXF'INE_STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO_FIND CAUSE
tUNEXPECTED TRAF TO THIS LOCATIIN
{EXAMINE STACK TO_FIND CALSE
{UNEXPEGTED TRAP TQ THIS LOCATICN
:EXAMINE STACK T0_FIND CAUSE
: JNEXPECTED TRAP TQ THIS LOCATION
1EXAMINE STACK TO_FIND ZAUSE
: INEXPECTED TRAP TO THIS LOCATION
'EXAMINE STACK TO FIND CAUSE
 UNEXPECTED TRAP 19 THIS L3CATION
IEXAMINE €.4CK 10 FIND CRUSE
;UNEXPECTED T, % To_ THIS LOCATION
1€ AMINE STACK TO_FIND CRJSE
:UNEXPECTED TRAP 70 THIS LOCATION
;EXAMINE STACK T0_FIND CAUSE
:UNEXPECTED TRAP_TQ_THIS LOCATICN
IEXAMINE STACK TC_FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
JEXAMINE STACK TO_FINC CAUSE
{UNEXPECTED TRAP T THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP T THIS LOCATION
'EXAMINE STACK 70 FIND CAUSE
;UNEXPECTED TRAP T THIS L2CATION
tEXAMINE STACK TO_FIND CAUSE
: [NEXPECTED TRAP TQ THIS LOCATION
:EXAMINE STACK T0_FIND CAUSE
:UNEXPECTED TRAP TQ THIS LOCATION
:EXAMINE STACK T0_FIND CAUSE
;UNEXFECTED TRAP 10 THIS LJATION
'EXAMINE STACK TO FIND CRUSE
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TRAPCATCHER FOR UNEXPECTED INTERUPTS

920516
000300

B8as

000526
60020¢
000532
000000
Q00S 3¢
230303
000542
200000
B00SHE
030000
000552
800350
000556
000353
0505E2
000000
000566

£00C0C

.42
HALT

.42
HALT
.+
HALT

FO2

{UNEXPECTED TRAP TO THIS LQCATION
ENAMINE STACK TO FIND CRUSE

EN XPEC TS? TRAP Tg THIE ngﬁT'ON

XRAMIN RCK TO FIND CR

;UNEXPECTED TRAP TO THIS LOCATION
EXQNINE STACK TO FIND CARUSE
sUNEXPECTED TRAP TO THIS LOCATION
s EXAMINE STACK TO FIND CRUSE
:UNEXPECTED TRAP TO THIS LCCATION
:EXAMINE STACK 70 FIND CQUSE
tUNEXPECTED TRAP TC THIS LOCATION
;EXAMINS STACK TO_FIND CAUSE

s UNEXPECTED TRAP TQ THIS LACATION
;EXAMINE STACK TO FIND CALSE

s UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCFTION
:EXAMINE STACK TO FIND CAUSE
:JNEXPECTED TRAF TO THIS LCCATICN
(EXAMINE STACK TO FIND CRUSE
+UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
‘EXAMINE STACK TO FING CAUSE
:UNEXPECTED TRAP TQ THIS _QCATILN
:EXAMI'IE STACK TO FIND CAUSE
sUNEXPECTED TRAP T0 THIS LOLRTION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCSTICN
.EXQHINE STARCK TC_FIND CRUSE
:NEXPECTED TRAP TO T41° LOCATION
EXHMINE STACK TO FIND CAL:™

{UNEXPECTED TRAP TQ THIS LCLATICN
EXRHINE STACK TO_FIND CA USE

s UnEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CRJSE
sUNEXPECTED TRAP TO THIS LOCATION
'EXAMINE STACK TO CIND CAUSE
:UNEXPECTED TRAP TQ THIS LOCATICN
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATICN
:EXAMINE STACK TO FIND CRUSE

: UNEXPECTED TRAP T0 THIS LOLQTIOh
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCRTION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAF TO THIS LJCATICN
{EXAMIME STACK 7O_FIND CARUSE
,.NEXPE’TED TRAP TO THIS LCCRTION
{EXAMINE STRCK TO FIND CRUSE
:UNEXPECTED TRAP T3 THIS LOSATION
;EXAMINE STRCK TO FIND CAUSE
:UNEXPECTED TRAr TO THIS LOCATION
:EXAMINE STACK "0 FIND CRUSE
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GIR30C.PII - TRAPCATINER FoR' UNENPESTED INTERUPTS

391 000eTM 00676 42 ; JNEXPECTED TRAP TO THIS LOCATION
932 DGCE7e 0000D0 HAL™ 'ENAMINE STACK TO €IND CAUSE

333 003700 000702 42 :UNEXPECTED TRAP TQ THIS LOCATIOM
834 000702 0C003C HALT :EXAMINE STACK TO FIND CAUSE
295 036r04 020796 42 :UNEXPECTED TRAP TO THIS LOCATION
895 £0G70e 00000C HALT JEXAMINE STACK T0 FIND CAUSE
837 0DO7I0 000712 42 CNEXPECTED TRAP TO THIS LOCATION
§33 00Cri2 0000CC HALT LEXAMINE STACK T0 FIND CAUSE
833 (000714 000716 .42 :UNEXPECTED TRAP TQ THIS LOCATION
300 000716 £00000 HALT 'EXAMINE STACK TO FIND CAUSE
351 000720 Q20T:2 42 t UNEXPECTED TRAP TO THIS LOCATION
952 000r32 JC0060 HAL™ 'EXAMINE STACK TO FIND CAUSE
333 0oer34 Doctee 43 :UNEXPECTED TRAP TO THIS LJCATION
$08 0DO72e 000000 HALT :EXAMINE STACK TO FIND CAUSE

305 600730 000732 42 :UNEXPECTED TRAP TQ THIS LOCATION
S5 000732 000200 HALT tEXAMINE STACK TO FIND CRUSE

07 090734 000736 .42 : JNEXPECTED TRAP TO THIS "QCATION
afe 00073k 0DO00O HALT :ZXAMINE STACK TO FIND CAUSE

339 DOgTH0 000742 .+2 : JNEXPECTED TRAP TO THIS . -CATION
§:0 000742 00907 HALT 'EXAMINE STack T0 FIND CAUSE

Sil 0007%4 J007-35 42 :UNEXPECTED TRAP TO THIS LOCATIC"
312 QcC74e 20-200 HALT sEXAMINE STACK TO_FIND CAUSE

913 0007S0 DOO7S2 L +2 s UNEXPECTED TRAP TO THIS LOCATION
313 506752 ©0CDODO HALT :EXAMINE STACK TO FIND CAUSE

5i5 000754 000756 .42 :UNEXPECTED TRAP TO THIS LOCATION
§15 00075k 000DDO RALT :EXAMINE STACK TO FIND CAUSE

3.7 0007B0 000762 .42 ;UNEXPECTED TRAP TO THIS LOCATICN
3ie §DI7e2 0OOCOD HALT ;EXAMINE STACK T0 FIND CAUSE

913 000764 D00TEE . .42 :UNEXPECTED TRAP TQ THIS LOCATION
$2C 000766 0OCOO0 - HALT JEXAMINE STACK TC FIND CAUSE

§2: C2J770 QG0TTe .42 UNEXPECTED TRAP 70 THIS LOCATION
$g2 000772 0CE000 RALT 'EXAMINE STACK TO FIND CAUSE

993 ©00774 00QT7B .42  CNEXPECTED TRAP TO- THIS LOCATION

353 £35°me 090309 HALT :EXAMINE STACK TC FIND CAUSE
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Q00024

00CC34
033038

000046
0003s2

00C05S
000056
30C060
000054
J00056
200072
080074
000102
000110
000114
000116
000122
050124
000132
000134
002136
000142
020144
000146
021350
GOCisy

0CCe00

000340
016460
000340
COCQu46
015240
JECa5e
03C000

cocaca

003200
£00137

HOZ2
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ES USED FOR ALTO SIZING.
- STANDARD INTERRUPT VECTORS
=24
.PFAIL :POMER FAIL HANDLER
340 :SERVICE AT LEVEL 7
HLT 'ERROR HANDLER
340 :SERVICE AT LEVEL 7
. TRPSRV ! GENERAL HANDLER DISPATIH SER/IC
" 340 !SERVICE AT LEVEL 7
.:sa LOGICAL :AST HOKS
T .WORD 10

:THIS ROUTINE TRIES TQ FORCE THE RECEIVER TOQ INTERUPT

+TO ITS VECTOR WMERE IT WILL PICK UP THE STATUS LOCATION

:FOR ITS NEW PC: ANDC PICK UP AN I0T INSTRUCTION FOR ITS

‘NEW PS. WHEN THE NEW PC IS FETCHED AN IOT INSTRUCTION IS
{EXECUTED, TRAPPING TO LCCATION 20 WHERE A RQUTINE IS EXECUTELD
;TgsTQKE tHE PC FROM THE STACK AND US IT AS THE VECTOR ADDRESS

VECMAP:
13: MOV R1, (RO)+ :START FILLING THE VECTOR ARER
0OCo04 MOV 4RI+ SHITH .+2; 10T (4)
CMP RO+, (R1)+ :UPDATE THE POINTERS
0o10ce cMP R1, #1300 :15 ALL FLOATING VECTOR AREA DONE
BLOS 1§ :BR_IF NOT ALL DONE
000146 000020 MOV 243, 220 :SET FOR IOT TRAP BY 03Il
001500 J0le44 _ MOV DRALTV, TEMP1  :GET THE ACTIVE DOI1 S
001244 z§: RCR TEMPI :ARE YOU ACTIVE.. DQ!1
BCC 5§ : IF_CARRY CLEAR.. NO MORE DQ11S
177776 CLR ES :CLEAR PS
ST (R2)+ :PUT PCINTER TQ STATUS TASLE
00340 17777 MV 8340,3-2 R2)  ;TRY AND SET PRI-SEC DONE ANC IE
INGB RO :DELAY.......,
BNE =2 e rreiins DELAY
002300 MOVE #2300, (RD) :NO_INTERUPT ASSUME 300 FIX IN TEST ¢
33: 757 (R2)+ s UPDATE POINTERS
BR 23 :G0_DO IT_AGAIN
4S: BIS (SP), (R2) ;ENTERD BY IOT TRAP BY DQII
000007 BIC 87, (R2) : CLEAR_UNWANTED BITS
CMP (SP)+, (SP)+ :POP 10T JUNK OFF STACK
000142 MOV £33, (5P) sSET RETURN PC ON STACK
RTI :GO HOME,
c§: RTS PC ;ALL SIZING IS DONE
:*;g:sorrunns SWITCH REGISTER##¥x
DISPREG: C :SOFTWARE DISPLAY REGISTER
SWREG: 0 : SOFTWARE SWITCH REGISTER
:PROGRAM START
.=200
001512 IMP .START :30 TO START OF PROGRAM




102

o@D MRCYIL! 27:732) 24-MAY-TS 13:10 PAGE 22
<CQ0C.P11 ROUTINES USED FOR RUTO SIZING.

981 900220 .=22C

932 000220 012702 001400 CSRMAP: MOV  #1400.R2 ;CLEAR ALL STATUS TABGLE
933 002224 005022 CLR  (R2)+ ;00 CLEAR
000326 022702 001512 CMP  »1512,R2 tALL_TABLE DONE
000232 00137 BNE =6 ;BR_IF MORE T0 GO
000234 50S037 00150H CLR  DONUM :SET NUMBER OF DQ11S TO O
000240 .3702 001400 MOV #1400,R2 ;SET TABLE POINTER
000244 012701 160000 MOV #160000,R1 :GET FIRST FLOATING ADDRESS
000250 012737 003614 00OODY MV #5§, 3wy’ 1SET FOR TIME OUT TRAP--NO DEVICE--
00025€ 11276: 000012 000035 !S: MOVB  #12,5(RD) ;TRY AND SEL MISC REGISTER
000264 005061 0COO0QE CLR B(R}) ;TRY OND CLEAR MISC REG
000270 2le7li 010000 MOV #10000.(R!, :TRY AND SET RX ACTIVE
000374 0237kl (C3000C 000COS CMP  #30C00.6(R1)  ;LOOK FOR SYNC 1 AND SYNC 2
800302 0oioZl BNE 28 :THIS_IS NOT A DQIl IF I BRANCH
50304 010122 MOV R, (R2)+ ;NOW THIS IS A DQ1l --STORE CSR
00206 0S2712 100003 BIS  #SYNBIT,(R2)  ;SET FOR TWO SYNC CHARS
000312 005011 CLR (R :CLEAR D@ ACTIVE BIT
000314 11276l 002010 020Q2S MOVB  #10.5(R1) :SEL_CHAR DET REGISTER
[0Q3z2 0lerel 17777 OOCCOE MOV.  #-1.BRD) ;WRITE INTO CHAR DET REG
1533 000390 DoE-Rl 020006 TST s(ai) :WAS THE REGISTER WRITTEN?
1C01 00C334 0OIMC2 BEa tAPPERENTLY N B8 OPTION.
1002 0GC33% 052712 020000 SIS iBgelT, (R2) :SET FOR BB OPTION
1003 00C342 11976l 000017 00COQS MOVB  #17.5(R1) :SEL_POLYNG. REGISTER
1005 386350 0Ql127el 177777 0O00CCE MOV #-1;B(RD) tWRITE POLYNO,REGISTER
1035 009356 0QS761 0OCOCH ST 6(RD ;WAS REG WRITTEN??
1006 0330352 00102 BEQ  .+4b :BR_IF NO AB OPTION
1307 CQ0384 052712 £C2000 BIS  #ABBIT, (R2) tSET FOR_AB OPTICN
1308 000370 012761 GOI40C 000072 MOV  #1430,2(RI) ;TRY 10 SET .DTR. .RE.
1033 009376 03276l 001400 000062 BIT  #1400.2(Rl) :DID_ANY OF THEM SET
IC10 000404 0OI4G2 BEQ 46 ;BR_IF NO BA OPTION
1011 02040 052718 010000 BIS  #BASIT,(R2) :SET FOR BA OPTICN
iZ12 000412 03276l 030000 000202 BIT  30000.2(RL)  ;QID .CS, .CO. SET
1013 000420 00:402 BEQ .46 | :BR_IF NO_JUMPER
1014 030422 052712 040000 BIS  #JUMBIT.:R2)  :SET FOR JUMPER
1215 000426 052712 OC4COQ BIS  #ACTBIT.(R3}  ;SET FOR ACTIVE ON FIRST NON-SYNC
1016 000432 0S2rl2 061907 BIS  #0DDBIT,(R2)  ;SET FOR ODD VRC.......
1017 Q00436 005722 18T (R2)+ PGP PCINTER
1018 000440 005011 ¢LR  (RD) {CLEAR RCSR
1019 030442 00506l 000002 CLR  2(Rl) :CLEAR TCSR
1020 00044 005061 0QCOQS CLR  2(R1) : CLEAR AGAIN
1021 003452 00506l 0BOCOOY CLR  9(RD) ;CLEAR ERROR REG
1022 000456 02506l 0000%6 CLR  B(RI) :CLEAR_SEC REG
1023 000462 005237 0015CH INC  DGNUM :UPDATE NUMBER OF DG11S
1024 000466 062701 GOODIO 2§: ADC  s10,R ;UPDATE CSR POINTER BY 10 (8)
1325 000472 02270f 1EMGAO CMP  #16%000,R1 'HAVE_ALL FLOATING ADDRESSES BEEN CHECKED®
1926 000476 001267 BNE $ :BR_IF NOT ALL DONE
1027 0C0S00 005037 001500 CLR  DGACTV ;ZERO ACTIVE DQLIS
1028 000504 005737 001504 TST  DGNUM ;WERE_ANY DG11S FOUND
1029 000510 001434 BEQ 4§ ;HEY BUDDY. NO DQLIS FOUND IN SYSTEM
1030 000S1. 01370; 0C15CH MOV DQNUM,AL ;SAVE NUMBER OF DG1IS
1031 000S1e 010137 001276 MOV RI,SAYNUM ;SAVE_NUMBER FOR ACTIl
32 009522 00Ce41 28: CLC :CLEAR CARRY
00CSe4 006137 091500 ROL  DGACTV teeere ACTIVE ADDRESS
009530 005237 001500 INC  DOACTV 1SET BIT O
009534 (G05301 DEC ;DEC_NUMBER OF DQL1S
002536 CO01371 BN 38 :BR IF MORE TO GO
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DZDSDC. P11l ROUTINES USED FOR AUTO SIZING.

1037 000S40 012737 000006 0OOOOH MOV 85, InY :RESET TIME OUT VECTOR

1038 000546 013737 001500 001502 MOV oobcrv SAVACT  :SAVE ACTIVE

1039 000854 012737 000340 000022 MOV 2422 +SET 10T TRAP PRIO: TO 7

1040 000862 012702 0014CQ MOV u1qob R2 :SET TABLE POINTER

1041 000S66 012700 000200 MOV %300, RO :SET VECTOR START

1042 000572 Gl12701 000302 MOV 8302 Rl :SET VECTOR+2 START

1243 000576 000137 00O0SE INP VECMAF :G0 FIND THE VECTORS

1044 000BQ2 104402 4g: TYPE s TYPE MESSAGE

1045 000604 017462 MERR2 x DIDN'T FIND ANY DQ11S. DON'T USE ARUTC SIZE.

1045 0D060& 005000 CLR RO

1047 000610 000000 HALT HON CAN 1 TEST NO DQ11S

1048 000612 200776 BR -2 :DON’T LET OPR MIT CONT, SW

1048 0006:i4 012716 0004ES 5%: MOV 2%, (SP) 'ENTERED BY TIME OUT TRAP

1050 000620 000002 RTI :GO HOME .

1081

1052

1983 001000 .=1000

1054 Q01000 005377 040515 047111 MTITLE: .RSCIZ <377 <12 >/MRINDEC-11-DZDQD-C/<377>/TRANSMITTER AND RECEIVER EXERCISER/¢3
1055 001006 042504 026503 030461

1056 001014 0420585 042132 Q42121

1857 001022 041485 052377 (Q40S22

1058 001030 051516 044515 Q52124

1059 001036 051105 040440 042116

1060 001044 O0S1040 041505 0O4450S

1061 0010S2 042526 02Cl22 Q54105

1062 J0I1060 051105 O44SC3 042523

1063 00i06k 177522 000

1085 00120C .=1200

*8%% ; INDIRECT POINTERS

cb8 001200 177570 SKR: 177570 :SWITCH REGISTER PQINTER

1369 001202 177570 LIGHTS: 177570 :DISPLAY REGISTER PQINTER

1070 0C0i204 177563 TKCSR: 177580 s TELETYPE KEYBORRD CONTRCL REGISTER
1071 001206 177562 TKDBR: 177562 :TELETYPE KEYBORRD DATA BUFFER

1072 001210 1775eM TPCSR: 177564 s TELEPRINTER CONTROL REIISTER

%8;3 001212 177586 TPCBR: 177566 : TELEPRINTER DATA BUFFER

{3;2 ; PROGRAM CONTROL PARAMETERS

+077 001214 000000 RETURN: O ; SCOPE ADDRESS FOR LOOP ON TEST
1878 (001216 000000 NEXT: 0O :ADDRESS OF NEXT TEST T BE EXECUTED
1079 001220 000200 LOCK: 0 s ADCRESS FOR_LOCK ON CURRENT DAT

108C 00ic2z22 000c03 ICOUNT: 3 :NUMBER OF ITERATIONS THAT CURQENT TEST WILL BE EXECUTED
1381 00.224 000003 LPCNT: 0O ‘NUMBER OF ITEREATIONS COMPLETED
1082 00i226 000000 TSThO: O :NUMBER OF TEST IN PROGRESS

1082 001230 000203 PASCNT: O :NUMBER OF PRSSES COMPLETED

1084 001232 000000 ERRCNT: O :TOTAL NUMBER OF ERRORS

%ggg 001234 000Cceo LSTERR: O :PC OF LAST ERROR CALL

iggg ; PROGRAM VARIARBLES

1089 001236 000000 CHARL: 0

1090 (001240 (£000CO CHAR2: O

1091 00l242 00000C CHRR3: 0

1092 001244 (CO0G03aC TEMPL: O : TEMPORRRY STORRGE
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000500
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TEMP2:
TEMP3:
TEMPY:
TEMPS:
SAVRO:
SAVR]:
SAVRZ:
SAVRI:
SAVRY:
SAVRS:
SAVSP:
SAVPC:
SAVNUM:
CREAM:
RUNFLG:
RUN:
RUNCNT:

0000

OO0 OO00O00O00O0OoV00

. BLKW

AND TRAP CALLS.

1

KOe

: TEMPORARYT STORAGE

: TEMPORARY STCRAGE

: TEMPORARY STORAGE

: TEMPORARY STORAGE

;RO STORAGE

{R] STORAGE

;R2 STORAGE

:R3 STORAGE

:RY STORAGE

:RS STORAGE

:STACK POINTER STORAGE
: PROGRAM COUNTER STORAGE
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DZ0QDC. P11 PROGRAM PRRAMETERS, VARIABLES. AND TRAP CALLS.
1110
ifié +PROGRAM CONTROL FLAGS
f%}g oeigia INIFLG: .B$¥E 0 - PROGRAM INITIQLIZQTION FLAG
1118 8 131 888 ERR CE: By 8 EEEOR occunsb FLAG
1116 001313 LOKFLG: .BYTE O :LOCK ON CURRENT TEST FLAG
%§;g oooooo $Y=0
‘*
1118 :DEFINITIONS FOR TRAP SUBROUTINE CALLS
1120 :POINTERS TO SUBROUTINES CAN BE FOUND
iigé :IN THE TABLE IMMEDIATLY FOLLOWING THE DEFINITIONS
1123 ****l'********!****li**************i******************i*******i*!****
1124 ****************************************************************i***
1125 001314 " TRPTAB:
1126 104400 SCOPE=TRAP+0 :CALL TO SCCPE LOOP AND ITERATION HANDLER
1127 001314 015314 .SCOPE
1128 109401 SCOP1=TRAP+1 +CALL TO LOOP ON CURRENT DATA HANDLER
1129 001316 015426 .SCIP1
1130 134402 TYPE-TRRP+2 :CALL TO TELETYPE OUTPUT ROUTINE
1131 001320 Q015446 YPE
1132 104403 INSTR-TRQP+3 :CALL TO ASCII STRING INPUT ROUTINE
1133 091322 015584 . INSTR
1134 _ 109404 IN:TER-TRQP+4 :CALL TO INPUT ERROR MANCLER
1135 001324 015872 INSTER
1136 104405 PRRAM=TRAP+S :CALL TO NUMERICAL DATA INPUT ROUTINE
1137 001328 Qls7ed . PARAM
1138 109408 SAV0S5=TRAP+6 :CALL TO REGISTER SAVE ROUTINE
1139 001330 016140 .SAVOS
1140 104407 RESOS=TRAP+7 :CALL TO REGISTER RESTORE ROUTINE
1141 001332 015200 RESQS
1142 104410 CONVRT=TRAP+10 ;CALL TO DATA OUTPUT ROUTINE
1143 001334 0le232 .CONVRT
1144 104411 CNVRT=TRAP+11 -CALL TO DATA OUTPUT ROUNTINE WITHOUT CR-LF.
1145 001336 01p23% .CNVRT
114§ 104412 MSTCLR=TRAP+12 -CALL TO ISSUE MASTER CLEAR
1147 001340 Ol2114 MSTCLR
1148 104413 MEMCLR= TRRP+13 -CALL TO CLEAR ALL SCRATCH PAC MEMORIES
1149 001342 011770 MEMC
1150 104414 CKSWR= TRRP+14 :CALL TO ALLOW SWREG TO BE LOADED FROM TTY
1151 001344 017140 . CKSWR :
1152 104415 CNTLU=TRAP+15 :CALL TO ALLOW LOADING OF SWREG FROM TTY
i;ga 001346 017214 .CNTLU
by
11585 : EREFRREEXREREXEREEEREENEEEIE TR ETT T TR R T E T %% %% %35 % % %% EEER
11%& H FEREREEEFREEEEEEEXEEXERAEEREREEREREE R EREEEREREERERREEEEEEE R R ERE
1157
ii%% :D311 VECTOR AND REGISTER INDIRECT POINTERS
1160 001350 000CCO DGRVEC: 0 POINTER TO DQG11 RECEIVER INTERRUPT VECTOR
1161 001352 000000 CORLVL: O :POINTER TO DQ11 RECEIVER INTERRUPT SERVICE PS
1162 001354 000000 DQTVEC: 0 :POINTER TO DQ11 TRANSMITTER INTERRUPT VECTOR
1163 00135 000000 DOTLVL: O :POINTER 70 DG11 TRANSMITTER INTERRUPT SERVICE PS
{ie4 001380 000000 DGRCSR: O POINTER TO DQ1l1 RECEIVER CONTROL REGISTER
116 901362 CO000C DGRCSH: 0 :POINTER TO HIGH BYTE OF D31l RECEIVER CONTROL REGISTER
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DZDQDC.PLL PROGRAM PARAMETERS, VRRIABLES, AND TRAF CALLS.

1166 001364 Q00200 DGTCSR: O sPOINTER TO DQI1 TRANSMITTER CONTROL REGISTER
1167 001366 0CI000 DQERR: 0 POINTER T0 D@11 ERROR REGISTER
1168 001370 00000Q DOREG: O tPOINTER TO HIGH BYTE CF ERROR REGISTER
1159 001372 0C0200 DQSEC: O POINTER TO DQi11 SECONDARRY REGISTER
{IZ? 001374 000030 DQSECH: O POINTER 0 HIGH BYTE OF DQil SECOMDARY REGISTER
49
1172
1173
iizg :0Q11 STATUS TRBLE AND ADCRESS RASSIGNMENTS
1176 001400 .=1400
1177 001400 200901 DQCROO: .BLKW ! :CONTROL STATUS REGISTER FOR DEVICE NO: 00
1178 001432 00000l DQSTOC: .BLKW 1 VECTOR AND CONFIGURATION STATUS FOR DEVICE NO: 00
1179 001404 000001 DQCROL: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NO: 0l
1180 001406 000001 DQSTOLl: .BLKW 1 *VECTOR AND CONFIGURATION STRTUS FOR DEVICE NO: Ol
il81 COI410 000GC1 DQCRO2: .BLKW I :CONTROL STATUS REGISTER FOR DEVICE NO: 02
1182 001412 000001 DRSTO2: .BLKW 1 :VECTOR AND CONFIGURATION STATUS FOR DEVICE NO: 02
1183 QQI41% 00000t DGCRC3: .BLKW I CONTROL STATUS REGISTER FOR DEVICE NO: 03
1184 001416 00000! DQSTO3: .BLKW 1 VECTOR AND CONFIGURATION STATUS FOR DEVICE NO: 03
1185 001420 000001 DQCROY: .BLKW 1 LONTROL STATUS REGISTER FOR DEVICE NO: 04
1185 (001422 (00000! CQSTO4: .BLKW | VEuTOR AND CONFIGURATION STATUS FOR DEVICE NO: 04
1187 00l42% 000001 DQCROS: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NO: 0S
1188 001426 000001 DQSTOS: .BLKW I VECTOR AND CONFIGURARTION STATUS FOR DEVICE NO: 0S5
1189 Q001430 0QCO9C! DQCRO6: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NQJ: 06
1130 001432 0C000! D@STO6: .BLKW 1 :VECTOR AND CONFIGURATION STATUS FOR DEVICE NO: 0B
1131 901434 000001 DQCRO7: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NQO: 07
1192 Q001436 02000l DQST07: .BLKW 1 VECTOR AND CONFIGURATION STATUS FOR DEVICE NO: 07
1193 001440 000001 DQCRIQ: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NO: 10
1194 001442 00000! CaST10: .BLKW 1 VECTOR AND CONF IGURATION STATUS FOR DEVICE NO: 10
1195 (001444 00C00! DQCRIL: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NO: 11
1196 021446 00000! DQST11: .BLKW 1 VECTOR AND CONFIGURATION STATUS FOR DEVICE NC: 1l
1197 0C1450 0092001 DQCRI2: .BLKW | CONTROL STATUS REGISTER FOR DEVICE NO: 12
1198 001452 00000! DQST12: .BLKW 1 VECTOR AND CONFIGURATION STATUS FOR DEVICE NC: 12
1199 001454 000001 DGCR13: .BLKW 1 CONTROL STATUS REGISTER FOR DEVICE NO: 13
1200 001456 000001 DESTI3: .BLKW I VE’TOR AND CONFIGURATION STATUS FOR DEVICE NO: 13
1231 001460 000301 DGCR14: .BLKW | : CONTROL STATUS REGISTER FOR DEVICE NO: 14
1202 Q01462 002001 DQSTiIY: .BLKW ! VECTOR AND CONFIGURRTION STATUS FOR DEVICE NO: 4
1203 001464 000001 DQCR1S: .BLKW | : CONTROL STATUS REGISTER FOR DEVICE NO: 1S
1204 001466 0CO0001 DQSTIS: .BLKW 1 VECTOR AND CONFIGURATICN STATUS FOR DEVIVE NO: 1S
1205 001470 000001 DQCR1B: .BLKW ! CONTROL STATUS REGISTER FOR DEVICE NO: 16
ic06 G0Cl472 200001 DGST16: .BLKW | VECTOR AND CONFIGURATION STATUS FOR DEVICE MJ: 1B
1207 001474 Q00001 DQCR17: .BLKW | CONTROL STRATUS REGISTER FOR DEVICE NO: 17
1208 001476 000001 DQST17: .BLKW 1 VECTOR AND CONF IGURATION STATUS FCR DEVICE NG: 17
1209 001500 00000l DGACTY: .BLKW ! HOLD RCTIVE BITS FOR TESTING
1210 001502 000001 SAVACT: .BLKW 1 SQVE NUMBER OF RCTIVE DQ11S
1211 00i504 00200l DGNUM: .BLKW 1 OCTQL NUMBER OF TOTAL NUMBER CD DQl1S
iele 001506 000001 DQCSR: .BLKW I :CSR OF DQII UNDER TEST
ISI% 001510 000001 DQSTAT: .BLKW 1 VECTOR AND CONFIGURATICN STATUS JF DQll UNDER TEST
1218 ; PROGRAM INITIALIZATION
1216 LOCK OUT INTERRUPTS
1217 SET UP PROCESSOR STACK
1218 SLT UP PCGWER FAIL VECTOR
1218 :CLEAR PROGRAM CONTROL FLAGS AND COUNTS
igg? :TYPE TITLE MESSAGE

c
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PROGRAM INITIRALIZATION AND START UP.

300340

000001
00isl2

001310

01000
1310

000006
000342

000i76

177232
000220
017667
001400
177252

000002
000201

177148

177775

000024
00127s

0012C0
0Cl1244
001246

C0l244
177182

n~-gr

wwéd

.STRRT: MOV
MOV
MOV
MOV
CLRB
CLR
CLRB
CLR
MoV
CLR
CLR
MOV
MOV

1578
BNE

TYPE
coMB

MOV
MOV
MOV
MOV
MOV
CHP
BEQ
B8R
649 CMP
658%: MOV
MOV
668 MOV
MOV
TST
BNE
CMP

67%: TST8

128: BIT

NO2

#340, PS
#STACK, SP

s, PFAIL , e
DONUM, SAVNUM
STFLG

PASCNT
ERRFLG
RUNFLG
#1400
ERRCNT
LSTERR
$1, TSTNO
%.5TART, RETURN
INIFLG

12§

MTITLE

INIFLG

#0SWR, SWR
#OLIGATS, LIGHTS
386, - (SP)
2wy’ -(Sp)

se4d, any

#-1, JSKR
653
66

(SP)+, (SP)+
#SWRES, SUR
$DISPREG, LIGHTS
(SP)+, 3%t

(5P)+ 346
442

E7S
%SWRES, SWR
BRE ' &7%

JSWR
+

.46
PC.CSRMA®

. XHERD

81400, TEMP!
JTEMPL ., TEMP2
L+

CREAM

82 ;Enpl
#SWG0, ISR
1§

:LOCK QUT INTERRUPTS

:SET UP STACK
;SET UP POWER FRIL VECTOR

;CLEAR START FLAG
; CLEAR PARSS COUNT
:CLEAR ERRCR FLAG

:CLEAR ERRQR _COUNT

;CLEAR LAST ERROR POINTER

;SET UP FOR TEST 1

;SET UP FOR POWER FAIL BEFORE

s TESTING_STARTS

;HAS INITIALIZATION BEEN PERFORMED

:TYPE TITLE MESSAGE
; IF NOT SET FLAG AND DO

:MOV HARDWARE SWR_TO SWR
:MOV DISPLAY LIGHTS TO LIGHTS
. SAVE VECTORS

.SET UP FOR TIMEOUT
- REFERENCE HARDWARE SWITCH REGISTER

:ADJUST STACK
:POINT TO SOFTWARE SWITCH REG
:POINT TO SOFT DISPLAY REG
*RESTORE VECTORS

:UNDER MONITOR
; 1S SWREG USED
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Za

1355 252
1332 AREINg
1338 %3y
1382 TIEIW
13T %
1335 5559
+323 §§3§*g
-ixg ==EiE]
13X ARSiED
13a° ER31RY
38 R
1333 3880
13T 55%?14
2312 PRl
1313 AgzzEan
13i% Dngead
‘3 ™Eass
1315 Dheoge
1317 £3E30
137e €333
13.5 Go0ze23
1330 DCge34
1321 7C3e3%
1322 Tl
1323 Coaese
1324

i3zs

132 D002PSY
137 022
1228 002270
1329 csgagg
133 023
D331 ST
i3I frEIie
1333 23230

" Te338AM InrTIac1ZaTidNTAND sTRRTUP.

A B

: 15 PROGRAM UNOER MONITSR ZONTRLL

:C:ECk FOR <1
svHECK FOR JOCK N TEST

‘SE7

ST R Bl

:STHR

P T3 LACK

T AT TESY |

:TYPE R

:STAR

T TESTING

€T JB FIR NCRMAC 510PE 33

tRERRRRRER RN R R R R R RPN RRRF R R AR R AR DR AR A RENPRRRALRPRR RN RERR

s e L
C1745] MERR3
555??% SQLT =2
Clon3e inri2C 201500 118: MgV JSWR, DIACTV
L33 00iS00 33:7 OGRC v, RC
§:§3“§ CkSWR
812700 202390 18: MOV 300,80
g127g1 0032 MOV 8302, R
2ac220 28: Wy A tRO)+
225221 LR (R} )+
essCel L. . ;ggg;.églr*
:E?'-xE bwww é‘.‘ : wlat g i
WOJ‘ 0 -
. TES® START AND RESTAR”

S1373° 220340 ITTTTR LBESIN: MOV 83%2,PS
xR R e
gie~3r 200042 787 g.«a
% Bew
33z°77 0o0ocd 1TTo3R p1? 88172.35.R
301411 BEa 1S
104452 217807 TYPE  ,MLICk
§1273F ZCoE4C  2i3324 MGV @NOP, 1157
§53337 800240 :5328 ggv aNOP . TTSTe2
cxgr 01422 215324 IS: MOV AW, 7757
13737 (18424 ©01832e MEV BRX, 715" +2
882?77 00fad2  17ETE4 28 8IS sSul1. 3548

1412 BES 38
104403 TNETR
017478 MTSTPZ
i 2
055254 TLAST
090207 RETURN

501 JBYTE ]
ol L
012737 1002254 001214 3§: MOY $7ST1,RETLRN
134432 Bivar? 48: TYPE MR

i?7? 176740 P JRETURN
+ TEST |

012737 00070 Col22e YsSTi: MoV 8], TSTNO
012737 0CzeNY 201214 MOV 87572, RETURN
012737 002644 00lcle MOV #7572 NEXT
68%% 601302 Eg*r:a Tgnm
013737 08C3C1 0013% MOV 88170, RUN
512737 000027 0D130¢ MOV 816.  RUNONT
102137 F31352 2OM3  RUNFLG

;IS THIS MY F
+BR IF FLRG !
:SET RLN PJIN
:SET FOR MARX

+SET RUN FURG

IRST TIME WERE®
S _SET

TER.

J¢ 16 C3li'5 PER

SYSTEM
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PRIGRAM INITIRJIZATION AND STRART UP.

001304
€808

001304
000204
801306

S00C20
G100
020001

. |

e+ o (_

B0060600
(DLW COL)

<032

00
00
-
QW
RE

¥

QOO0
QOO0
Pt P2 P—ah-spa
WIDILIIL)

SN U
4 RO

0C1502

001300

260200
0
Rt
(NN Y
2000
Koo

J (2000000 OI0)
bmpobubobe bap o

D OO0 OO0

2isie

17eSC2

i ¥

28

ki H

tsva:

HEr-4M 4

DOM DWW
OO Zv—

ROC

ato
ol
oD
5
ING
MOV
TN
MGV
TRC

Ca3

QgH.DGQCTV
DERCTV
s

RUN .
SCREAM, DGCSR
82 . CREAM
JCREAM DQSTAT
.a,cnshr
DGLSR, PRRCSR
00STat DORVEC
cxrrgq? DORVES
DARVES . BORL VL
82, DARVL
DGRLVL , DATVES
ac, DOTVEC
oetvEC, DaTLVL
82, 00TCVL
DZR<SR, DGRCSH
OUR;SH

P eR(CER garcsn
82, 0QTLER
CatiSR, CIERR

sc, D3EAR
oﬁtgé.ocfss

DIRES
JOREG,DASES
SeSES

D3SE . DOSECH
D3SECH

{CINC AN ACTIVE DOLL TC
:BR IF 1 FOUND ONE 15 TE
:FIND OUT IF "HERE ARE N
{0R TQ FATAL ERRCR. WHY
t7LEAR ALL THE CONDITION
: UPCATE RUN POINTER

' UPCATE ACCRESS PCINTER.
:CEC NUMBER OF TIMES I LIC¥ED AT
:BR AND KEEP LOCKING.

:START RESTORING MY PCIMTERS.
:RESTSRE ADDRESS POINTER

:FESTORE RUN POINTER.
+KEEP_ON TESTING.

M. RCTIVE 0GLi’'S77?

“we,r
wiaePme

+ALLERT OPERRTOR OF FRTAL ERRCR
10 DQI1 ACTIVE. WHY WM I HERE???
:YCU MUST RELOAD DQI1 DIASGNCSTIC!!

;STICK HERE ON CONT.
:-LEAR CPU COND. COOES

s JPDRTE RUN. RCTIVE DQ.1 FCUNC.
+PLACE RCDAESSS OF D311 T DQCSR

:UPDRTE RJDRESS POINTER
TATUS OF DQl1 AT DASTRT
; UPCRTE A[DRESS POINTER

PLRoE S

:GENERATE RDDRESS OF RECEIVER INTERRUPT SERVICE PS
: SENERRTE RDDRESS OF TRANSMITTER INTERRUPT VECTOR
:GENERATE ADCRESS OF TRANSMITTER INTERRUPT SERVICE PS

: 9ENERATE »OCRESS OF HIGH BY

;GEMERATE RDDRESS OF TRANSMIT

R CONTRIL REGISTER

:GENERRTE ROCRESS OF ERRCR REGISTER

: GENERATE ADCRESS OF HIGH BYTE CF ERROR RESISTER
: SENERRTE RODRESS OF SECONDRRY REGISTER
:oENERRTE ROORESS OF MIGH BYTE

:TEST TJ SEE IF TRANSMITTER RCTIVE
tCAN SET

.b .

sAND IF 1T DOES SET CMECK Y0
;SEE IF 1T CAN BE CLERRED BY
;MRSTER CLERR.

. TEST 2
AR PR R EARR AR AP R AR LR R PR AR ARRARRARRLRRRRRRRRERRRARDERRRRRRRRRRNLDR

MOV
MOV
MOVB

82, TSTNO
SCKSYN], NEXT
82.s03REG

+SEL T\ BR PRI
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cecdle . Pll DRIl TRANSMITTER RAND RECEIVER EXERCISER.
1330 QR2666 Qlave? Ol4066  ITBRYYS MOV #TMPBLF ,JDQSEC  ;LCAC TX EA
1330 Cerd l0sgl LedO | INCB  JDOREG :SEL_TTX_CC_PRI
1332 DJ2° 012777 COC20. 17B4EM MoV 2200, 3DQSEC +LORD WITH 200
1333 a0 212777 002012 1TENEM MIVB IHISC. s0QRE 5 :SEL_MISC REGISTER
13349 202718 Q12777 00401 1764580 MO\ #401¢2 QDOSEC +SELZCT 8 BITS TEST LOCP ARUTO 37EP
1335 002722 COSerr 176436 INC J0GTCER +SET TX GO
139§ 002:2& 00827 1764M0 NC JDQSEC ;PRIM THE
337 D02 005377 178434 DEC 8DQSEC : TRANSMITTER
1399 002~ 005277 iTettd INS SCQSEC 1CLOCK THE TRANSMITTER
1398 0O0evNe D3277T 040000 17edee BIT EITIY JDQSEC  :CHECK TX ACTIVE.
1800 002780 O0C1001 BNE .44 +BRANCH IF ACTIVE SET
15C1 032752 104024 HLY 24 +ERROR T¥ ACTIVE NOT SET!!
1802 D027s4 10sN§]2 MSTCLR s ISSUE
103 002786 10uwMl2 MSTCLR . : TWO MRASTER CLEARS
1404 002780 112777 02072012 17¢e402 MOVE sMISC. . JCGREG +RESELECT THE MISC REGISTER
826 0027 032777 040000 17837B BIT 85iT14,30QSES :0I0 TX ACTIVE CLEAR BY MST CLR
JNO8 00277« 801401 BEG L4 +BRANCH IF ACTIVE CLERR
W80T 222TT 104031 HLT | «ERROR TX RCTIVE NJT CLEAREC Sy MST C.R
;:gg O030C0 104420 SCOPE +SCOPE TEST
e S
1812 +ROUTINE TO SET
1411 s TRANSMITTER POINTER
1%! :CORRECTLY CEPENDING
L :UPON THE NUMBER CF SYNC
i:}ﬂ +CHIRACTERS.
1315 003002 032737 1000CC °C0IS1Y <CkSyhi: BIT 8SYNBIT,.DQSTRY ;CHECK TQ FIND QUT IF ONE SYNC QR TuW¢
<417 L0301 901292 BNE 18 +BRANCH IF TWO SYNC CMARRS REQUIREC
1418 2230:2 108037 0l4S22 CLRB SYNC «oLERAR THE FIRST SYNC CHRR]
1419 D003T16 OCCY03 ER 4 1 :BR 7O LEAVE ROUTIMNE
lﬁgﬁ 022Jel 112737 00RCee Ol45e2e ;S: MIVB 826,5/NC sRESET SYNC CHRR TQ 26
%:gé £03C26 C2a240 c3: NCP +FALL IN 70 NEXT TEST
i4¢ :
}j§3 < TEST TC TRANSMITT ONE ~“mARRCTER.
Pt | M
1+=S +TESTING TC MRKE SURE THAT Tkt
1425 +CHARRCTER COUNT INCREMENTS BY INE.
. ;? +TESTING THRT ThE CLRRENT RDCRESS
14z + INCREMENTS BY ONE
}jgg +ALSO MANING SLRE THE PRI-SEC BIT SEVS.
1431 . TEST 3
1422 R RRPRRERE R R AP R RN R AR R RRE R R AR LR AR R R AR R RRRRRERRRRRRRRRERRRRERRRRR
1532 00303C 012737 02023 Q01226 TST3: MoV 83, ISTNU
1434 09373 £15373¢ 003034 ACIZIM MOV 821§, RETLRN
1435 003044 Ci£737 003370 CCl2!e MOV 87ST4, NEXT
1428 023082 104413 MEMCLR (CLERF RLL THE DQ@1I
lig? 303054 104412 Ri3: MSTCLR
=22 D2230Se 112777 000072 176304 MOVB 82, JDQREG +SELECT TX CURRENT WRCC.
1439 o20e4 012777 Cl4Ses 176300 MOV 8$7ABUFF ,aDQSEC  :SET THE TX CURRENT wDD.
442 052072 108277 176272 INCB J0GREG :§ELECT THE TX CHRR CSNT.
1) 202076 212777 177777 176266 MOV #-1. 80 23EC :SET TX CHRAR CNT FOR . CHMRRRCTER.
;44§ oCZ104 112777 00001z 178256 MOVS BHIQC. &IQPEG <SELECT THE ™MISC REGZS’ER.
e £031:2 012777 2040:0 1768282 MOV IQDIO.QDO;EC ;SET_FOR glodT BITS. RND TESY LooP
-t4% gC2120 (00S037 DISCe0 CLR CELRY oLERR THE DELRY
1€ Z2Zi24 28277 1TE2M IN s0QTCER (SET THE GO BIT ®RND aCM!
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TRANSMITTER AND RECEIVER EXERCISER.

IST8 ZRATCSR .PRIMARY CONE?"
BNl 3 'BRANCH IF DONE
0 #LDELAY %TRLL FOR DONE

BN§ 1 0 SET.
HLT 2 :TX PRI DONE FAILED TC SET.
MOVS 83, JDJREG 'SELECT TX CHAR CHT

757 aobssc : MAKE :uas 1T INCREMENTED
BEQ :BY ONE T1C ZERO. _

AT 3 'TX PRI CHAR CNT NOT ZERC.
MoVB~  #2,I0QREG :SELECT TX CJRREN" ROC..PRI"
CMP $TXBUFF+1, acoseC’ :

8EQ e

HLT § . CHAR CNT NOT INC 8Y +i
Sﬁé ugara.aoorcsn :cID PRI, SEC SET?

HLT & s 7X PRI/SEC NOT SET.

:TEST _THAT WITH A CHQRRCT§

:COUNT THAT IS EVEN THAT THE

: CJRRENT ADDRESS INCREMENTS 24 +2
:AND THAT THE CHAR -NT GOES T9 ZERO.

MOVB 86, 309REG ;SELECT_TX_ CURRENT ADD.

MD, $TXBUFF,9DQSEC :SET THE TX CURRENT RDC.

INCB  QDQRES :SELECT THE TX CHAR CNT.

MOV 8-2, 3DASEC :SET TX CHAR CNT FOR TWO CHARS.
MOVB  #MISC. aDGREG  :SELECT ThE MISC REGISTER.

MOV 040'0 .JDGSEC  :SET FOR EIGHT arrs AND TEST LOCF
CLR DELA :CLEAR THE DELAY

INC 303 csn :SET THE GO BIT ANC GO!!
BIT 88176, I3DQTCSR - SECONDRRY DONE>”
BNE 23 +BRANCH }F DONE

ROD 81,DELAY :STALL FOR DONE

BNE 13 : 70 SET.

HLY & ' TX SEC DONE FAILED TC SET.
MIVB 87, JOOREG :SELECT TX CHAR CNT

18T aobssc ‘MAKE SURE IT INCREMENTEL
BEQ +4 :BY ONE TC ZERO.
HLT 23 :Tx SEC CHAR CNT NOT ZERO.

MOYB 86, 2DGREG :SELECT TX CUPRENT ACH..FRI
CMP :Txaurr+a aDasec’ :

HLT H ; CHAR CNT IN
gég OBITE aDATCSR  :DID PRIZS ET?
HLT b :TX PRI-SEC NOT SET.
MEMCLR

SCOPE

"Rgusnxrrsn CHARACTER LENGTH TESTS.
TEST T0 TRANSMITT A CHARACTER

; 2 BITS LONG MAKING SLRE THRT
s THE CHARACTER IS ALL ZERG'S

CT_INC BY <2
S

l"\
2z
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TRINSMITTER AND RECEIVER EXERCISER.

sty THRT THE TX LINE GOES SACK T¢
:R MARK STATE WHEN DONE.

: TEST M
SRRRRERERRBRRERERRERRRERRRRFERHEICRRERAFARRRERRRRERREREER I REAFRRRSES

000005 091226 tere:
003444 001316

gicre

2CC0
0g3se

0

7 O
c 0

p1zae  toty:  mov 8- TSTNO
61216 MOV $75.% NEXT
JSR RS, TXSTRB ;JSR TO ROUTINE A
2 sNUMBER OF TIMES CHAR IS TO BE SHIFTEC
7000 :BIT SELECTION TO BE PLACED INTC MISC RES
SCOPE :SCOPE TEST
: TEST TO TRANSMIT™ A CHARACTER
: 37 8ITS LONG MAt ING SURE THAT
: THE CHARACTER IS ALL ZERQ’S
:AND THAT THE TX LINE GOES BACK 10
:A MARK STATE WHEN DCNE.
; TEST S
sRERRRREBRREERERERERERFEERERRF R R RERRLREREEEEEREERERLLERRARREESERERE
MOV #5, TSTNO
MC. #7576, NEXT
JSR RS, TXSTRR :JSR TC ROUTINE
3 :NUMBER OF TIMES CHAR IS TO BE SHIFTED
E400 :BIT SELECTION TO BE PLACEC INTO MISC RES
SCOPE :SCOPE TEST

:TEST T0 TRANSMITT A CHARACTER

: 4 BITS LONG MAKING SURE THAT

' THE CHARACTER IS ALL 2ER0’S

:ANC THAT THE TX LINE GOES BACK T¢
‘A MARK STATE WHEN DONE.

: TEST &
CRERRERERERERFEERR SRR RERRRRRRPERREARRRERREARRRIRREREEPRRRREFRERRRRAE

01226 tsTe:
31216

MY 86, TSTNO
MOV gT8T7 NEXT

JSR RS. TXSTRB :JSR T0 ROUTINE

4 ;NUMBER OF TIMES CHAR IS TC BE SHMIFTED
6000 :BIT SE.ECTION T2 BE PLACED INTC MISS REa
SCCPE :SCOPE TEST

s TEST TO TRANSMITT A CHARRCTER
: S BITS LONG MAKING SURE THAT

: THE CHARACTER IS ALL ZERQ'S

tAND THAT THE TX LINE GOES BACK TC
:A MARK STATE WHEN DONE.

TEST 7
P REERRREREA R R R R R R R RN R AR N R R R R AR R R R R R RR AR R R IR R AR RN

oi122e tsr7:
0i2l6

MOV 87, TSTNO
MOV sT8T10, NEXT
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Dall TRQNSNITTER AND RECEIVER EXERCISER.

Qa4S3?
S

104420

012737
012737
QO4s3”
C0000s
005009
104400

912737
012737

004<00
104400

012737
012737
004537
000010
004COC
104400

010720

JSR RS, TXSTRB ;JSR TO RCUTINE

S ;NUHBER OF TIMES CHAR IS TQ BE SHIFTED
9400 ;BIT SELECTION TO BE PLACED INTO MISC REG
SCOPE : SCOPE TEST

TEST T0 TRANSMITT A CHARACTER
: 6 BITS LONG MAKING SURE THAT
: THE CHARACTER IS ALL JERQ'S
sAND THAT THE TX LINE GOES BACK T0
Q MRARK STATE WHEN DONE.

TEST 1C
SRRRERFRRARRERRREREEEEREERE RS RRRERARRERRRERERRERERLEFRERREEEREENEEEEH

000010 9001226 YsTI0: MOV #10, TSTNO

003546 001216

010720

00CCLl
003574
015720

000012
003ec2
c107ee

001226
01216

MOV #7611, NEXT

JSR RS, TXS1RB :JSR TO ROUTINE

B :NLMBER OF TIMES CHAR IS TJ BE SHIFTED
5000 :BIT SELECTION TO BE PLACEC INTO MISC REG
SCOPE :SCOPE TEST

s TEST TO TRANSMITT A CHARACTER

; 7 BITS LONs MAKING SURE THAT
:THE CHARACTER IS ALL ZERO'S

:AND THAT THE TX LINE GOES BACK TO
R MARK STRTE WHEN DJNE.

TEST 11

:**i*i*l**!****ii******i**i**l**i**i*!*i*i**l********i*ii********l*i*
tstit: mMov 811, TSTNO

MOV 87512, NEXT

ISR RS, TXStRB :JSR TC ROUTINE

7 :NUMBER OF TIMES CHAR IS TO BE SHIFTED
4400 . :BIT SELECTION TO SE PLACED INTO MISC REG
SCOPE- :SCOPE TEST

TEST TO TRANSMITT A CHRRACTER

; 8 BITS LONG MAKING SURE THAT

: THE CHRRACTER IS ALL ZERO’S

;ANC THAT THE TX LINE GOES BRCK TO
tA MARK 5™ TE WHEN DONE.

’

TEST 12

.*ii*i**i**i*!ii!iil!lilii*i!il*iili**iliiiiil!il*iii*!iiiililli!lili

001226 ‘tsTia: MOV 812, TSTNO

00iele

MOV e7St13, NEXT

JSR RS, TXSRB : JSR TO ROUTINE

8. *NUMBER OF TIMES CHAR IS TO BE SWIFTED
4000 :BIT SELECTION TO BE PLACED INTO MISC RES
SCOPE :SCOPE TEST

gTEST OF CHARACTER LENGTH
;FOR CHARRCTERS OVER 8 BITS LONG.
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P11l

903650
033656
003664
0C3670
003672
003674

003676
003704
003712
003716
003720
00372¢

12737
012737
Q04537
000011
033422
1044G0

012737
012737
004537
000012
003033
104400

012737
012737
004537
000013
002400
104400

24-MAy-76 13:

HO3

TEST TG TRANSMITT A < JARACTER
{ 9 BITE LOG MAKING SURE THAT
: THE CHARACTER IS ALL ZERO’S
:AND THAT THE TX LINE GOES BACK TO
‘A MARK STATE WHEN DONE.

: TEST 13
CERFEREAEREREERAEERRERREERRELEREEARERERL SR RAEERRERREREEERERLERRREERE S

000613 001226 tSTia:

R036SQ 001216
01372C

MOV #13, TSTNO
MOV 875114 NEXT

JSR RS, TXStRB ;00 JSR TO THE SUBROUTINE

9. :NUMBER OF TIMES CHAR IS T0 BE_SHIFTED
3400 :BIT SELECTION T0O BE PLACED INTO MISC REG
SCOPE :SCOPE THE TEST

TEST TO TRANSMITT A CHARACTER

; 10 BITS LONG MAKING SURE THRT

s THE CHARACTER IS ALL ZERO’S

:AND THAT THE TX LINE GOES BACK T0O
;A MARK STATE WHEN DONE.

¢ TEST 1M
DEEERREREEHE R RE BRI R R R AR RN RRERREH TR RER R

000014 001226 YsTiM:
003676 001216
010720

MOV 214, TSTNO
MOV #75t15 NEXT

JSR RS. TX5iRB :00 JSR TO THE SUBROUTINE

1C. :NUMBER OF TIMES CHAR IS TG BE SHIFTED
3000 81T SELECTION TO BE PLACED INTC MISC REG
SCCPE :SCOPE THE TEST

T‘ST TO TRANSMITT R CHARACTER

1 BITS LONG MAKING SURE THRT
THE CHARACTER IS ALL ZERJ’'S
iAND THAT THE TX LINE GOES BACK TC
‘A MARK STATE WHEN DONE.

!

TEST 1S5
DEERSEREAERRARRE R R R R R R RO R R R R AR R RS

000015 001226 Ystis:
003724 001216
010720

MOV #15, TSTNO
MOV 876116 NEXT

JSR RS, TXSRE ;D0 JSR TO THE SUBROUTINE

11. :NUMBER OF TIMES CHAR IS TO BE SHIFTED
2400 :BIT SELECTION TO BE PLACED INTO MISC REG
SCOPE :SCOPE THE TEST

TEST TO TRANSMITT A CHARACTER
; 12 BITS LONG MAKING SURE THRT
i THE CHARACTER IS ALL ZERO'S
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TRANSMITTER AND RECEIVER EXERCISER.

103

:AND THRT THE TX LINE GOES BRCK T¢
;R MARK STATE WHEN DONE.

TEST 16
S HEERERERAIEREEERREIIIER IR R R R RRERR R ER D S A S SRR AR

tstie: Mov 16, TSTNO

MOV 275117 NEXT

JSR RS, TXStRE ;00 JSR TO THE SUBROUTINE

12, sNUMBER OF TIMES CHAR IS TO BE SHIFTED
2000 tBIT SELECTION TO BE PLACED INTO MISC REG
SCOPE :SCOPE THE TEST

TEST TO TRANSMITT A CHARACTER

+ 13 BITS LONG MAKING SURE THAT
:THE CHARACTER IS ALL ZERO'S

:AND THAT THE TX LINE GOES BACK TO
ﬂ MARK STATE WHEN DCNE.

TEST 1?7

’**********ii*****!*ii************i*********i**!***i****i****ii**i!i!
000017 001226 tSTi?: MOV 817, TSTNO
803038 001216

MOV 87520, NEXT

JSR RS. TXS1RB D0 JSR TO THE SUBROUTINE

13, :NUMBER OF TIMES CHAR IS TO BE SHIFTED
1400 :BIT SELECTION TO BE FLACED INTD MISC REG
SCOPE :SCOPE THE TEST

TEST TQ TRANSMITT A CHARACTER

; 14 BITS LONG MRKING SURE THRT

: THE CHARACTER IS ALL ZERQ'S

:AND THAT THE TX LINE GOES BACK TO
R MRRK STATE WHEN DONE.

TEST 20

EREE R R R R R R R ERE R R SR IR R AR AR AR IR

000020 001226 tsT20: Mov #20, TSTNG
0J4026 001216

MOV sT5t21, NEXT

JSR RS, TX5tRB :D0 JSR TO THE SUBROUTINE

:NUMBER OF TIMES CHAR IS TQ SE SHIFTED
1000 :BIT SELECTION TO BE PLACED INTO MISC REG
SCOPE :SCOPE THE TEST

TEST T0 TRANSMITT A CHARACTER

: 15 BITS LONG MAKING SURE THAT

; THE CHARACTER IS ALL ZERQ’S

:AND THAT THE TX LINE GOES BACK TO
Q MARK STATE WHEN CONE.

TEST 21
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Dall TRQNSHITTER AND RECEIVER EXERCISER.

SEREEERREEREXRREREFRLFRREFRRREREEEEEEEEREREXREE BRI RAERR SRR AL ERRES

815 3 8000=1 001525 Ysta1: mov o;g TSTNO
737 004054 MOV Y22, NEXT
004537 010720 JSR RS, TXSTRB ;D0 JSR TO THE SUBROUTINE
805 15. NUMBER OF TIMES CHAR IS 10 BE SHIFTED
§0C 400 e T SELECTION TO BE PLACEC INTO MISC REG

104400 SCOPE :SCOPE THE TEST

TEST TO TRANSMITT A CHARACTER

16 BITS LONG MAKING SURE THAT

THE CHARACTER IS ALL ZERO'S

:AND THAT THE TX LINE GOES BACK TO

:A MARK STRTE WHEN DONE.

TEST 22
S REFERERRELNERRRE RN TN T UK %3 332333 %I X 3% %X %R X %% EREREEREEER

012737 000022 00le2e tYst2a: mov 822, TSTNO
0i2737 004102 J01216 MOV s75123, NEXT
004537 010720 JSR RS, TXS1RB -D0 JSR TO THE SUBROUTINE
000020 16. NUMBER OF TIMES CHAR IS TO BE SHIFTED
000000 0 :BIT SELECTION TO BE PLACED INTC MISC REG
104400 SCOPE :SCOPE THE TEST

:TEST OF TRANSMITTER IDLE SYNC

:TEST THAT THE TRANSMITTER CAN

*REALLY IDLE SYNC CHARACTERS

TEST 23
cREEREEREEEEREEEREEE R EEREEREEEEE XL EEEEERREEEEEEXEERLRERERREERREEE

012737 000023 GQ0l226 tste3: mov #23, TSTNO
012737 004436 001216 MOV s7St24 NEXT
005077 175242 CLR 3DQTCSR :CLR TX STATUS
032777 000002 175234 BIT $8IT1,300TCSR  :IDLE SET?
001401 BEQ P A
104000 HLT : IDLE SHOULD NOT BE SET!
052777 000002 175222 BIS #BIT1,3DQTCSR  :SET IDLE BIT
032777 000002 175214 BIT :9171 '30QTCSR IS IDLE SET?
001001 8NE 'BR IF SET,
104000 : HLT ,ID LE BIT SHOULD BE SET!
Q42777 000002 175202 BIC #BIT1.3DQTCSR  ;CLEAR IDLE B
032777 000002 175174 BIT #8IT1 JDQTCSR ;1S IDLE 917 ssr~
001401 BEQ L+ :BR IF CLERR.
104000 HLT :IDLE BIT NOT CLEARED.
052777 000002 175162 BIS #BIT1,9DQTCSR  ;SET IDLE
104412 MSTCLR
032777 000002 175152 BIT #BIT1,30QTCSR @16 IDLE SET?
001401 BEQ .44
184000 HLT + IDLE BIT NOT CLEARED BY INIT!
012737 000005 003250 MOV %5, TEMP3
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1832
1833
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P11l

004224
004232
Q04240
004246
004254
0042k
004270
004276
004302
304310
004316
004324
004332
004340
004344
004350
004354
004360
004364
004370
004374
004400
004402
004406
0044 1Y
0044ee
Co4424
Co4426
004432
00s434

004436
034444
004452
004460
004464
004466
004472
004476
004502

DQll TRANSMITTER AND RECEIVER EXERCISER.

31er3?

00sz277
005377
C.7702
042702
050237
005337
001361
Q0S137
012737
123737
00140}
104C12
005337
001274
104400

012737
012737
012737
105037
00S000
005037
010037
00s037
104412
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000377

00ligse
001252
175016
175012
175006
177577
001252
014062

001252
030028
001254

001250

000024
004570
004472
012602

0140S2
014056
gcl2se

001254
go12se

001226
001216
001ec20

es:

3%:

MUV
MOVB
MoV
MOV

KO3

8377, WORD
#11,dCIREG
.SYNC, 3DASEC
210, COUNT
#4000, BITSEL
%2, 2DOREG
#WORD, 3DGSEC
JDQRES
#-1,JDQASEC
#MISC. , aCIREG
BITSEL ) dDQSEC
12, JDGSEC
s81%1,20GTLCR
TEMPY

TEMPY

30GSEC

JDQSEC
J0QSEC,R2
2177577 .R2

R2, TEMPY
COUNT

2%
TEMPY

#26, TEMPS
TEE#S,TEnpq

12
TEMP3
1%

+PICK UP THE NUMBER OF SHIFTS

+PICK UP NUMBER OF BIT PER CHAR.

+SELECT THE TRANSMITTER BR °FI.

;LORD THE BA

;SELECT THE TRANSMITTER CC PRI.

;LORD THE CC WITH -1

;SELECT THE MISC REGISTER,

;LORD _MISC REG WITH NUMBER OF BITS PER CHRR.
;ADC TO THAT TEST LOCP AND AUTO STEP.

;SET TRANSMITTER IDLE MODE.

:SHIFT THE STORAGE OF DATA FROM THE TRANSMITTER.
!CLOCK THE TRANSMITTER -UP-

:CLOCK_THE TRONSMITTER -DOWN-

:MOVE THE MISC REG TO R2

!CLEAR ALL BUT THE BIT WINDOW.

:PLACE DATA_INTO TEMPCRY LOCATION

115 CHARACTER COMPLETELY SHIFTED OUT?

:BRANCH IF MORE BITS T0 GO.

! COMPLIMENT DATA STORAGE

' TRANSMITTER DATA REALIBILITY TEST.
'EST TC TRANSMITT AN EIGHT
'8IT BINARY COUNT PATTERN (000-377)

tNOTE THIS TEST IS FOR UP TO EIGHT BITS PER CHARACTER.
+PARITY WILL BE ENABLED WHEN “PARFLG™ IS NON-ZERC

TEST M
DAEREEARE AR RO RO R R R R R R R R R R

tsTey:

13:
cs:

MOV
MOV
MOV
CLRB
CLR
CLR
MOV
CLR
MSTCLR

$24, TSTNO
s75t25 NEXT
28, LOCK
PSR#LG

R
EXTFLG
RO, WORD
TEMPY

;SET DATA TO_ZERO i
}TELL SUBROUTINE THIS IS FOR EIGHT BITS
*PLACE DATA FOR WORK,

:CCLEAR WHERE CHAR 1§ TO BE STORED
tMASTER CLEAR
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1839
1840
1841
1842
1843
1844
184S
1845
1847
1848
1843
1850
1851
1852
1853
1854
1855
1856
1857
1858
1859
1860
1861
1862
18E3
1864
1865
1866
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Pl

004504
004510
gG451e
004514
004520
004522
004526
004534
£O45H2
04544
004546
004550
004552
GO4554
004560
004564
004566

0Q4S70
004576
004604
004612
004620
004624
004626
004632
004636
Q04642
004644
004ES0
004652
004654
004660
0gueee
0Qu4666
004674
004702
004734
004706
004710
004712
004714
00<4720
004724
004726

(732)

Q04537
000010
C04000
105737
001432
004737
013737
123737
00140}
104012
104401
105200
001347
0l2voa
105137
001342
104400

012737
012737
012737
112737
105037
005000
010037
000337
00sC37
104412
004537
0Co020
00C000
105737
001402
004737
013737
023737
001401
1040]12
104401
105200
001345
012700
105137
001340
104400
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0llake

012602

012444
014056
001254

000200
012602

000025
004730
004626
000377
012602

014056
014056
00ies2

011266

012602

0le444
014056
001254

000200
012602

001254
00:i25¢

001226
001216
0C.220
0140Se

001254
0Clese

tst28:!

(g VT

JSR
8.
4000
1578
BEQ
JSR
MOV
CMPB
BEQ
HLT 12
SCOP1
INCB
SNE
Mov
COMB
BNE
SCOPE

LO3

RS, TXZTRD

PARFLG
+6

PC.GENPAR
WORD, TEMPS
Tsmpé TEMPY4

RO
2%
200, RO
PARFLG
2%

;GO TO ROUTINE
NUMBER OF SHIFTS REQUIRED
:EIGHT BITS

;STORE GOOD CHARACTER

CONPQRE GOOD CHAR TO TX CHAR

:BR_IF SAME

:DATA COMPARISON ERROR

;D0ES _USER WANT TO LOCK ON THIS CHAR?
:UPDATE GOOD CHARACTER

: IF NOT ALL CHARACTERS GO DO AGAIN

; SCOPE THIS TEST

s TRANSMITTER DATA REALIBILITY TEST
:TEST 70 TRANSMITT AN EIGHT BIT
BINRRY COUNT PATTERN (000400-177400)

PQRITY WILL BE ENABLED WHEN “PARFLG™ IS NON-ZERO

tNOTE THIS IS FOR 16 BITS PER CHAR.

TEST 25

(LOW BYTE IS=0; THE HIGH BYTE =BINARY COUNT.

TRREREEFEREREREREREEEERREREXNEEEEREEXREEEEREXEEEEREREEREELEELRF LA RS

MOV
MoV

%25, TSTNO
$75126, NEXT
228, LOCK
£377 EXTFLG
PARFLG

RO

RE, TXSTRD

PARFLG
+b

PC, GENPAR

WORD . TEMPS

TEMSS, TEMPHY
.+4

12

RO
23
#200, R0
PARFLG
]

; TELL SUBROUTINE THIS IS FOR 16 BITS PER CHAR
tNO_PARITY CHECKING NOW

: ZERO DATA POINTER

; PREPARE DATA FOR SUBROUTINE

;PUT DATA IN HIGH BYTE

1 2ERO STORE ARER

s INIT D@1l

:GOTO SUBROUTINE

: THIS IS NUMBER OF SHIFTS.

:THIS IS BITS/PER/CHARACTER SELECT
: 1S PARITY ENABLED?

iBR IF NOT ENABLED

;60 CALCULATE THE PARITY
:STORE_THE CHARACTER

;1S THE CHARACETER CORRECT

:BR_IF GOOD

:DATA COMPARISON ERROR.

:LOCK_ON DATAR? (SWQ9=1)

:UPDATE DATA_POINTER

:BR IF MORE TO GO

:NOW ENRBLE THE PARITY TEST.
;BR IF FIRST TIME FOR PARITY
+SCOPE THE TEST.
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1833
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P11

004730
BO4736
004744
604750
004752
004754

004756
004764
Q34772
004776
905000
005002

00s004
00sQle
005020
005024
005026
005030

005032
00S040
005046
00S0S2
00SOSY
00s0Se

005060
00s086

012737
J12737
004537
007000
000002
104400

012737
012737
004537
006400
000004
104400

012737
012737
QO4537
006000
003010
104400

012737
012737
004537
00S400
000020
104400

012737
012737

MO3
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000026
004756
012132

000027
00S004
01213e

000330
005032
0ici3e

000031
0050e0
0i2i3e

000032
005106

001226
00lels

001226
001216

001226
001216

tRECEIVER CHARACTER LENGTH TEST
; TEST THRT ALL CHARACTER
:LENGTHS WORK CORRECTLY.

s TEST OF RX CHARACTER LENGTH 2 BITS LONG.

. TEST &6
P REERBEEEEE LR LR R R LSS LELFAR LA REARELEBLL LT LERRE LA R LS F XL ERRE XL LT REEE
tstee: mov £26, TSTNO
MOV #75t27 NEXT
JSR RS, RXLAG :GOTO JSR SUBROUTINE
7000 s CHARACTER EXPECTED TO FIND

2 :BITS/PER/CHAR TO BE PLACED INTO MISC REG
SCOPE :SCOPE THIS TEST
: TEST GF RX CHARACTER LENGTH 3 BITS LONG.

. TEST 27

CHEEREAEERLEER LR REEELERREREE LR AR LI E 62522 % 2 EE %KX %% EEEEEERE
tsra7: Moy #27, TSTNO
MOV #75%30, NEXT

ISR RS, RXLNG :GOTO JSR SUBROUTINE
£400 : CHARACTER EXPECTED TO FIND
4 :BITS/PER/CHAR T0 BE PLACED INTO MISC REG
SCOPE :SCOPE THIS TEST
s TEST OF RX CHARACTER LENGTH 4 BITS LONG.
TEST 39 )

S RERWEEREEEEEEREEREEFLERREETEEEE XTI EIE T E L EEEEEEEREETEEEEEEEEEEEEE
tst3n:  Mov #30, TSTNO

MOV 875131, NEXT

TSR RS, RXLAG :GOTO JSR SUBROUTINE

6000 : CHARACTER EXPECTED TO FIND

10 :8ITS/PER/CHAR TO BE PLACED INTO MISC REG
SCOPE :SCOPE THIS TEST
: TEST OF RX CHARQCTER LENGTH S BITS LONG.

TEST 31

!***l!***!l!***l***l!*****!********!*****!****!**i***ii!**********!i*

Yst3i: Mov #31,TSTNO
MOV #75132, NEXT

JSR RS, RXLAG :GOTO JSR SUBROUTINE
5400 : CHARACTER EXPECTED TO FIND
20 :BITS/PER/CHAR TO BE PLACED INTO MISC REG
SCOPE :SCOPE THIS TEST
s TEST OF RX CHRRACTER LENGTH & BITS LONG.
TEST 32

I BN R I I I NI BRI I IR R R R AR AN

tstaa: mov 32, TSTNO
MOV #7533, NEXT
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1348 005074 Q04637 012132 ISR RS, RXLNG :GOTO JSR SUSROUTINE
1849 Q0S100 00SH00 5000 : CHARACTER EXPECTED TO FIND
1950 005102 000040 40 :BITS/PER/CHAR TO BE PLACED INTO MISC RES
{325 005104 104400 SCOPE :SCOPE THIS TEST
i%%& : TEST OF RX CHARACTER LENGTH 7 BITS LONG.
1955 +  TEST 33
195§ SR REEERAEEELEEE LB L LR REE AR L LR A LR L LB R LR LA S EL S L LR XL S L XL L L LR L AERLEFE

1957 00S10e Q12737 000033

poi22e 1ts733: MOV £33, TSTNO
1858 00S1I4 012737 00SI34 001216

MOV 275139 NEXT

1959 005122 9J04537 012132 JSR RS, RXLAG -GOTO JSR SUBROUTINE
1360 005126 DO4400 4400 . : CHRRACTER EXPECTED TO FIND _
1861 005130 000100 100 :BITS/PER/CHAR TO BE PLACED INTO MISC REG
iggg 005132 104400 SCOPE - :SCOPE THIS TEST
i3§§ :TEST OF RX CHARACTER LENGTH B BITS LONG.
1966 +  TEST 34
1967 2333223 SI2ILITLEITILILISSZISIIS P22 SIS ISSIISPTIS SIS SIS RL 2SS
1868 005134 012737 000034 001226 tsTay: Mov #34, TSTNO
1969 0GS14c 012737 00S1e2 001216 MOV 275135, NEXT
1870 00S1S0 004537 012132 ISR RS, RXLNG :GOTO JSR SUBROUTINE
1971 005184 004300 4000 : CHARACTER EXPECTED TO FIND
1972 Q005156 000200 200 :B81TS/PER/CHAR TO BE PLACED INTO MISC REG
igﬁa 005160 104400 SCOPE :SCOPE THIS TEST

I'd
1375 ;
187§ s RECEIVER CHARACTER LENGTH TEST
%gzg :FOR CHARACTERS OVER EIGHT BITS LONG.

i ;
1879 ;
iggg TEST OF CHARACTER LENGTH 9 BITS LONG.
1882 . TEST 35
1983 R T332 33323323223 32223 3232323322323 2323 32332332223 3223222 Y
1984 005162 012737 000025 COl22e 1tsT3s: Mov 35, TSTNO
1885 005170 012737 005210 001216 MOV #7536, NEXT
1386 035176 004537 012302 ISR RS.RXELNG :GOTO SUBROUTINE
1987 005202 003400 3400 : CHARACTER EXPECTED TQ BE FOUND
18988 (Q0S204 000400 400 :BITS/PER/CHAR TO BE PLACED INTO MISC RES
iggg 005206 104400 SCOPE :SCOPE THIS TEST
iggé s TEST OF CHARACTER LENGTH 10 BITS LONG.
1993 . TEST 3%
1994 s A RREERREERREREEREEREREERSEEEFEEEEREEEEREEERREREREEEEEREXERBRREEEREEE
1995 705210 012737 000036 001226 tsT3e: MOV 36, TSTNO
1896 00E21gp 012737 00523t 001216 MOV 875137, NEXT
1997 005224 004537 012302 JSR RS, RXELNG :GOTO SUBRGUTINE
1998 005230 003CO0 3000 : CHARACTER EXPECTEC TC 3E FSUND
1899 005332 (001200 1000 :BITS/PER-CHAR TC BE PLACED INTY MIS> RES
gggg 005234 104400 SCOPE :SCOPE THIS TEST
Euve
g;gg :TEST OF CHARARCTER LENGTW 11 BITS LING.
220 :

e -
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: TEST 37
LR PR RN R R R F R R SRR B RPN RO RN R AR RN PR NS EFRIRIRRRRPREIIRIRIR9 4594555

025238 21203° 22003~ coizae Ystat: Mo 837, TSTNO
nc§24q 86;~ o 0ISIzy 0012k MOV 075143 NEXT
Aegss2 pQes3t DIt JER RS, RXE(NG 15079 SUBROUTINE
seoich xu2MCC 3¢5 : CHARACTER EXPECTEC T2 BE 73.MC
RRESEC AQecds 3000 i BITS/PER CrAR TC BE PLRCED T72 st
D382 13433 SIoFe :SCOPE THIS TEST
;TEST OF CHARACTER LENGTH 12 BITS .ONG.

:  TEST 49

i”i’fiti*QiQt!iiifﬁQQ!l!!il90!!'Q'liill{i'!liiliQOQ!’!!‘##OQQ’ff&ff00
S3526% 0I3TIT 20004C 2niE2 YSTHD: Muv w43 TSTN
s=D2.5 mii.gn oSdig JCidle M0, TSt NEXT .
ifoi K folalilloralr' & R ¥k B SSR PSTRNELNG +397C SUBRCUTINE
=hds R ajale ‘859“°CTE“-§§SEQ’E§573 3.

- wo loww "uuu : = ! ° C : :“-: :s-
35310 TIsE ENRL R
:TEST OF CHARACTER LENGTH 13 BITS LING.

. TEST 4y

ioQQQOQOf!ii‘000!!!"09!0!000’{009QQQQ00’0’!00!!000’!909000090!00‘000
TEIE JETI SEIoh g Y W 1, TSN
SoE3gS Rig~3n ITEE.D IR o aTste3, NEXT
miEise 3ibcd~ ITEE TR ALRELNG 13070 SLBRSUTINE
£2833 30.4C0 1420 :CHARACTER EXFECTED T2 2E TI.MD
fa & Rl toaet 12232 13175 PER JMAR 1o BE FACEZ IATS “I3
ERS33%  138%3 SCIFE :S2OPE THIS TEST

;TEST OF CHARACTER LENGTH i4 BITS LCNG.

.+ TEST 42
: SRERFERERFPRREERBPERRERRERR PR PR R E R SRR PR R AR ARRR RS AR R RPN 222

£ooo42 20122 YsTea: MOV a42, TSTNG

036340 212737 .
COS34e 012737 0033es CCIZl6 MOV 875 H43 NEXT
Cos3sy QOMEdr Cladke. J5R  RS,RXELNG :3CTO_SUBROUTINE
O3E38c BL1A00 : 1300  CHARACTER EXPECTED T2 BE FOUND
0o53£2 220C37 29009 ;BITS PER/CHAR TO BE PLACED INTC MISC !
£OE3ES 104400 SCOPE - :SCCPE THIS TEST
: TEST OF CHARRCTER LENGTH 15 BITS LONG.
; TEST 43

cBRRERREE R R R R ER PR AR R R E R R AR R R R R R R R R R AR R R R R RN RRR RN R P RRERRER D
001226 YsTwa: MOV 843, TSTNO
001216 MOV sTStuN, NEXT

8:5493 334s§7 :an RS RXELNG ;Gorgnggano'rrng
AS406 LO0N30 400 s CHARACTER EXPESTED T2 3E FOUND
978415 043000 40000 :BITS ‘PER CHAR TO BE PLACED INTC MISC
COS412 124400 SCOPE :SCOPE THIS TEST
:TEST OF CHARACTER LENGTH 16 BITS LONG.
. TEST 4y

‘0
(A ]

[ ]

o
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*lli’iilll!illii!*!!lliiilil!!il!!iii*ifii**i!!ii9!’#!%#**!!*6!#0*9!

£2004S

630005

C2OCN0
CCClie
17383z

¢ *sTys:
3

4000
SCCPE

COM

MOV 44 TSTNQ

MOV sTctyd, NEXT

JSR RS, RNELNG :GOTO SUBROUTINE

0 : CHARACTER EXPECTED T4 BE €7 SUND

10C000 :BITS/PER/CHAR 70 BE SLACEC INTO MISC REG
SCOPE :SCOPE THIS TEST

?T THRT SYNC1 AND SYNC2

.:E WHEN RECEIVER RCTIVE SET

tAND IF THEY DQ THE TEST THART THEY
:cLEAR BY MASTER CLEAR.

TEST 45
SRERERERREPIEFRERXRERRRBERRERER R FIRFERAERRER PR ERRELRFS RS EI2P RS SHES
MO, #45, TSTNO
¥V 875145, NEXT

MOvB lMISC QDJRE’ :SELECT THE MISC REGISTER

MOV SEC :SET TEST LOOP AND RUTC/STEP
BIS ca 11 aoonfsn :SET RX ACTIVE
MV 20GSEC RO :READ THE DQSEC
BIC 8147777 RO :CLEAR ALL BUT SYNC | JAND SYNC 2
CMP sao.oo RO : 81 BOTH OF THEM SET?
8EC GOOD
hLT 16 :»ng nno SYNC 2 NOT SET.
8IS oax 15.200SEC  :SET MASTER ZLEAR
Mov8  #MISS. ICGRES PESELECT THE nzsc REGISTER
Tﬁ: ahQSEv ;Au E E :
BEa ;BR_IF VES
KT 17 :DISEC NCT=0
SCCPE +SCOPE THIS TEST.
:SYNC TESTS.

:TEST THAT RECEIVER ACTIVE AND SYNC 1 AND SYNC 2
:ASSERT AT THE PROPER TIME,

:TEST INVOLVES BOTH SYNCING AN AN EIGHT BIT CHAR
:AND A SIXTEEN BIT CHAR.

:LOOK AT LOCATION "WORD™

:IF_"WORD IS EQUAL TO 377 THE THE EIGHT

:BIT PER CHAR IS BEING EXECUTED.

PIF_"WORC® IS EJUAL TO 170o77 THEN THE SYXTEEN
817 PR CHAR 1 BEING EXECUTED.

TEST 46
iniiiiiiiiiiiiliiiiiiili§l§iiililiil’b*l!liii!i!iii!!i&!itttliiiii!

0co04e 00lzee  YsTue:

00ES76 001216

008828

MOV 856, TSTNO

MOV e7St4T NENT

JSR RS, 5vNST +30T0 THE ACTUAL TEST.

kY sDATA_CHAR FIR EIGHT BITS PER CHAR.
:SHIFTS PEF WED_ ik EUED TCR TEST
B’TS PER CHRR SELELTI N FOR CJISES.
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+RBOVE TEST FOR E
:BELOW TEST FOR S

1 TEST W7
SEERERRFRRENREERERRERERARNRRERRAFCAE RS RI RIS IR IR AR IR R SRR R4S

gHT BITS _PER CHAR.

)
IXTEEN BITS PER CHAR.

11
T
118
a9
15
-b
2132 00SS?6 012737 Q0OCYT 001gde tSTw?: MOV w47 TSTND
g123 005604 012737 00623p 001216 MV 875150, NEXT
£.24 008612 00453~ 00582 J3R___ RS, SYNYST ;6070 THE ACTUAL TEST
2125 J0SplE 1°777 177777 :DATA_FOR_16 BTS PER CHAR.
£.26 CoSee0 002929 16. ;SHIFTS PER CHAR,
2.c. 0035632 200930 0002 :SELECTION FOR DQSEC BITS-PER CHAR.
2128 C08p3+4 104400 3COPE :SCOPE THIS TEST
2lzg ]
213¢
gl3l ;
£132 :TEST THAT SYNZ 1 AND SYNC 2
2133 :SET WHEN DATA 15 RECEIVED
2N : THIS TEST WILL CHECK FCR EITHER
g3 ;1 JR 2 SYNC CHARACTERS.
2137 (CCSe2s SYNTST:
2128 00SB26 018537 C14CSE MOV (RS)+,WCRD :GET DATA CHARACTER
£133 Q0Sp32 Qli837 0gS722 MOV (RS ,43 :GET NUMBER COF SHIFTS.
2143 005e3g 011837 (0C0E044 MOV {RS) .68 g -
2.41 D205p42 162737 (0900C2 00604 SuB o, kd *ADJUST SHIFTS.
gl42 005pS] 0.2537 COBIGE MOV (R8)+, 88 :GET THE_SHIFTS
2143 COSeS4 005337 (OCELBE CEC 38 iADJUST THE SHIFTS.
gl44 00SpR2 011837 005724 MOV (RS), 58 iafT THE BITS/PER CHAR.
2145 4 Q11E3" 006046 MOV (R) 7§ Sl
2146 00SerQ 312537 OCEL7 MoV (RS)+ 83 g
£.47 0CSp74 010837 (006234 Mv RS, 108 :SAVE TRE PC TO RETURN
2148 Q08700 109412 MSTCLR . iINTT THE DGLI
3149 055702 112777 0000LLl 173u4sC MOVB  s1l,3DGRES ;SEL THE SYNC REG
Z.83 D0571C Q12777 177077 iT3+4E4 MOV $-1,30G3EC 1SET SYNC CHAR TC ALL 1°S
2:5]1 008716 0O4S37 011822 JER RS, AXSTRA sGITO THE SUBROUTIME
2.8 OnEr32 CI0C: 4§: .BLKW 1 ;NUMBER OF SHIFTS
2153 (C2Ergy OOGCIL 5§ .BoKM 1 sMISC _ FUNCTION
2:54 03Erde 112777 000012 172434 MOYB  sMISC.,J3DGREG  ;SELECT THE MISC REGISTER
21 £OS738 332777 020003 IT3MED BIT  #BIT13,30QSEC ;IS S/NC I UP YET
2158 QCEr42 001401 8EQ L+ 1BR IF NO
£157 2098744 104000 HLT $SYNC 1 LUP TOO SOON
2188 00576 032777 01000C 173404 BIT  #BIT12,300RCSR ;ACTIVE UP??
155 00E754 0OINOL BEQ .44 sBR_IF ACTIVE NQT UP
2160 GC57Se 104030 HLT ;ACTIVE UP T30 SOON.
21€] 00S76C (005277 173406 INC  20QSEC :CLOCK UP
2162 005764 008377 173422 DEC  2DGSE: : CLOCK DN
21€3 008770 032737 10003% 0015iC BIT  #SYNBIT,DASTAT ;NUMBER OF SYNG CH3PS="
Z1es 005776 001033 BNE .+10 :BR_IF TWO SYNC ShAR.
2165 006000 C05337 CC6lE6 DEC &8 ;ADJUST COUNT WHEN UNE SVNC SELECTEC.
£.6b CCEQDY 0OQ4H2 BR 13 :BR_TO_TEST INE SYNC CHAR.
21€7 COB306 017700 173340 M0y JDQSEC,RO :READ DQSEC
£.28 00ell2 Q42700 147777 BIC 8147707 RO : CLEAR GARBAGE
21€3 00eGle 222700 C2C000 CMP 20000, K0 : 1§ SYNC | UP?
.70 0CE222 CCIC) BES .44 18R IF YES
2170 20elz24 104000 HLT :SYNC CNE NOT SET JR SYNC 2 IS SET
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El'E 0060226 032777 Q10000 173324 BiT #BIT1c,4DORCSR  :ACTIVE Ur’
88&834 001485 BEQ L4 BR % TIVS
21 6036 1040 HLT }ACTIVE UP_T00 SOON
EI?S 006040 00NS3T u1isee JSR RS,RXSTRA 1GOTO THE SUBROUTINE
EIZQ 206044 000001 £$: BLKKW | NUHBER OF SHIFTS MINUS 2
2177 00s046 Co000! - ¥ BLKKW | MISC FUMCTION (PERS PER Crar),
gl?ﬂ N060SC Q017700 173316 MOV JDQSEC RD REQD THE DQSEC
2179 J06CSH 042700 INTTTT 8IC Ui CLEQR ALL BUT SYNC 1 AND S/NC 2
.80 008080 022°CC 0200CC cMP 820000 ﬁO RRE BOTH SYNC | *QND* SYNC 2 SET?
2181 0060e4 001s0! BEG BR IF YES
£l82 0060k 104020 . HLT EITHER OR 907H SYNC 1 OR SYNC 2 NOT SET.
c.83 006070 232777 QIC0R0 173382 BIT #8IT12,3CIRCSR RCTI VE U
2194 (0080786 001401 BEQ .+ BR I¢ RCTIVE NOT SET.
2.85 C06100 1048000 HLT ﬂuTIVE UP TOO SICN
2186 ZC0610s J0S277 173284 e aDISEC CLOCK UP.
£i37 C06106 005377 173200 OEC sUQSEC CLOCK DN
§188 006lle Q17700 173284 18: MOV QDQSEC*RO REQD AND SAVE DJSEC
€139 J26il6 042700 147777 81C 8147777 .RO .LLE R ALL BLY SYNC | AND SYNC 2
2133 00si22 022700 C3000 CMP £30000.R0 :ARE BOTH SYNC 1 AND SYNC 2 SET”
.91 0%6l126 02149! BEa .44 BR IF YES
2132 Q00&130 104000 HLT EITHER OR BOTH SYNC 1 OR SYNC 2 NCT SET.
2193 QCEl3z 03273 004000 001c10 BIT #RCT3IT,.DQSTAT NHEN DO YQU GO QCTIVt’7
2l 008140 001908 BNE c3 BR IF ACTIVE ON FIRST NON-SYNC.
cl3 Jo61842 032777 01C00D 173210 BIT #8I1T12,dCQRCSR ;IS ACTIVE UP?
c13% 006150 001901 BNE .44 :#3% NOW ACTIVE SHOULD BE SETas#
g.?z 206152 104200 HLT NON RCTIVE SHOULD BE LP..
cl38 (06154 0C0+4eH BR 38 RL' DONE GO MOME
2i99 006156 005037 G§140S6 es: CLR WORD _ SEY DATR TO NON-SYNC
€20 006162 004S37 011522 JSR RS,RXSTRA FJSH IT INTO THE RECE’VEG
22l 006166 000001 5% .BLKW ! NUHBER CF SHIFTS MINLS
8202 00B17D 000001 3.  .SLKW 1 ) n'sc FUNCTION.
2203 BC6172 Q32777 Q010000 173180 BIT 8BIT12,.3DGRCSR CTIVE UP
z C0e230 00:401 BEQ .+Y4 ONE MORE SHIFT BEFCRE RCTI.E=!l
2205 (00e202 1040 HLT RCTIVE IS UP TOO SOON
§29§ 006204 00S2 173162 INC aCQSEC FIhﬂL CLOCK UP
=207 006210 305377 173!SB DEC dDQSES CLICK DN
gagg 006214 022777 010000 173136 s 1 8BIT12,J0GRCSR iili NOW RC’IVE SHOULD BE SET =+
22 006222 1001 NE .44 :BR IF ACTIVE =
2210 0Xe224 108000 HLT QCTIVE ON FIRST NON=-SYNC NOT WJCRKING.
21l 00t2gb (13705 00e234 38: MOV 108.RE RESTORE PC POINTER
2212 (232 DTL20S RTS RS ,uOTQ MRIN TEST
%gia GOegad CJCA00 108: 0 :STCAZ RS (PC) HERE.
c2.8
c2lb
2el?
2cl18
2213 }YEST OF RECEIVER CHARACTER COUNT AND BUSS
eced QDDRESS YEST TO MAKE SURE
gggé THRT THEY INCREMENT PROPPERELY.
-
ggsa ;TEST WITH CHARACTER COUNT OF -1 (CDD)
c ’
€225
) + TEST 80

ez2e7 CRERR AR AR AR A RAERRRERRRRAARR R PR RE AR SRR RARAARRRR R R AR RO RER DR ERERRROR RS
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2DADC.P1L DQ11 TRANSMITTER AND RECEIVER EXERCISER.
2238 006236 J12737 QJ00S0 001226 TSTSO: Muv %50, TSTNO
3539 QOESYM 0l273r 006384 001216 MOY 7SS, NEXT
2030 006352 104412 MSTCLR ; INIT Dol
3321 006284 105077 173110 CLRB SDGREG :SEL RX BA PRI.
3i>c 006380 0l2T?? 014116 173104 MOV RYGUFF , QDOSEC 1SET RX BA PRI
3235 005266 105277 17307 INCB  JDQREG tSEL RX WC PRI,
2334 006272 012777 177077 173072 MOV %-1, JDGSEC $ONE_CHAR RECEIVE
$335 (006300 112777 0000l2 173062 MOVB  #MISC. IDGREG  ;SELECT THE MISC REG.
2235 006306 012777 004010 173056 MOV #4010 I0QSEC  iSET EIGHT BITS AND_TEST LOOP
2237 006314 012777 010001 173036 MOV #1000}, “70RCSR }SET RX ACTIVE AND mx GO!!
c238 006322 105777 173032 TST8 ooncsh ;RX PR1_DONE?
2239 006326 100375 BPL sHANG HERE TILL DONE.
3240 006330 135077 173034 The  3ocRes :GET RA BA PRI,
o541 006334 022777 OINII7 173030 CHP lRXBUFF+1.aDQSE’ :DID BA INC RIGHT?
2242 [06342 001401 BEQ .44 IF BA GOOD
£343 006344 104000 HLT RY 3h ERRCA.
2344 096346 105277 173016 INCB  2DGREG :GET RX WC PR].
2245 006352 005777 173314 18T aDQSEC :DID_IT GOTO ZERO?
2345 005356 001401 BEQ .+ ;BR IF YES
2247 006360 104000 HLT tRX WC PRI NCT =0
2248 00B362 104400 SCOPE :SCOPE THE TEST
2250
225]
2252 .
223
2254 !TEST OF RECEIVER CHARACTER COUNT
2255 ;AND BLSS ADDRESS
2256 :WITH A CHARACTER COUNT OF -2 (EVEN)
2257 *MAKING SURE THAT THE CC AND BA
2258 : INCREMENT CORRECTLY.
2259 .
2260
2261 : TEST SI
226¢e 2212 2RL2222IL22T XIS S22 22222228222 322 2332332382223
2263 006364 012737 00J0SL 201226 ‘Ysvs1: Mo 851, TSTNO
cob4 008372 012737 006512 C0I216 MOV 875152, NEXT
2255 006420 104412 MSTCLR : ISSUE_CLEAR
2266 00E402 105077 172762 CLRB  IDAREG :SELECT THE RX BA PRI
£367 00E40B J12777 Ol41i6 172756 MOV $RXBUFF ,309SEC ;SET RX BA PRI,
oop8 0O0E41d4 1058277 172750 INCB  3DQREG +SELECT RX WC PRI.
2269 Q0E420 012777 177776 172744 MOV #-2, JDGSEC :SET FOR TWO CHARS
2270 0Je426 119777 000012 172734 MOVB  #MISC.,JDQREG  ;SELECT THE MISC REGISTER -
£271 00g43% 012777 GONOIG 172730 MOV #4010, J0QSEC  :SET EIGHT BITS AND TEST _CCP
2272 00e4d2 012777 010001 17271C MCY #1000]  9DGRSSR  :SET RX ACTIVE AND GO!?
2273 008450 105777 172704 TSTB  aDQRCSR tHAIT FOR RX PRI DONE.
274 006454 100375 BPL . =4 sHANG HERE TILL DONE
2275 00456 105077 172706 CLRB  DGREG s SELECT THE RX B3 P
czrt 00EMB2 022777 Q14120 172702 CHP SRXBUFF +2, 3DQSEC’ DI RX BA INCREMENT RIGHT®
2277 006470 OCI401 "0 .44 :8R IF 600D
278 00e472 104000 HLT ;RX BA_ERRCR
cc79 0OEM7Y 105277 172670 INCB  3DQREG :SELECT THE RX WC PRI.
cz82 008500 (0QE777 1726es TST  JDQSEC :010 IF_GOTO ZERQ
61 D00eS24 001401 BEG +4 :BRIF YES

ec .
ccE2 (00&S06 104000 HLT ‘RX WC NOT =ZERO
2282 00eSi0 104430 SCOPE SLOPE THE TEST

e
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DI0I0C.PLI
cs84

228; DOBS12
2238 006520
2039 [00eS26
2300 00653y
2301 006540
2302 D0BSYS
2303 006550

006552
2305 0GE55E

2306 00eSke
c3C7 30&564

23

(W)

2325 005656

Deil T

012737
012737
013737
105037
112737
005000
104812
010037

001335
104400

S4-MRY-TS

GO4
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QANSMITTER RAND RECEIVER EXERCISER.

00005Sze
006660
006550
012602
000377

0140586
0iz2e02
Ola444
0115z2

Gl4116
014056
72546

001284

177400
0lesle

:RECEIVER DATA REALIBILITY TEST,
:T%%T 10 RECE%VE R E‘XTEEN
+BIT BINRRY COUNT PRTTERN (000000-177777)

iNOTE: IF PARFLG 1S NON-ZERO THE PARITY TFST IS
: IN PROGRESS. THERE ARE NO ERRORS EAPE”1tD

: PARITY TEST DATR (177400-177777)
TEST &2
CHEAARELEEEL RS RLEREEEEELLERRE AL RSB EEFELERE RS RLEEE RS R R LR LSRR LRE LS

tsTsa:  mMov 852, TSTNO
MOV crsfsa NEXT
MOV 813, (OCK
CLRB  PARFLG :SET FOR NO PARITY NOW
nova 8377 EXTFLS :TELL SUBROUTINE 16 BIT CHAR.

RO : 2ERC_DATA POINTER

18: HSTVLR + ISSUE CLEAR DQII
MOV RO, WORD :LOAD DATA FOR SUB ROUTINE
TSTB  PARFLG : IS FARITY ENABLED?
BEJ +5 :BR IF NO
JSR PC.GENPAR :G0 AND FIGURE PARITY.
JSR RS, RXSTRA :GO PUSH CHARACTER INTO RECEIVER.
16. *NUMBER OF SHIFTS NEEDED
0000 :BITS PER/CHAR FOR MISC REG
MOV RXBUFF. TEMPY  :GET EXPECTED
MOV WORD, TEMPS :GET EXPECTED

2§: 1ST aooshn :ANY ERRCRS?
B5L :BR IF NO ERRORS
HLT :D311 ERROR FLAG SET CHECK SEL 4
CMP TEMPS, TEMPY :DATA C
BES .Y :BR IF acoo DATA
HLT 20 ‘RECEIVER DATA COMPARISOM SRROR.
SCOP! LOCK ON SLECTEC DATA (Sh.3=!)
INC RO ' UPDATE DATA POINTER.
BNE 18 :BR IF MORE CHARS T0 GO.
MOV $177400, RO :SET FOR PARITY TEST.
COM8  PRRFLG *TURN PARITY ON NOW
BNE 18 :D0 TEST WITH PARITY ENABLED NOW.
SCOPE :SCOPE THE TEST.

;RECEIVER PARITY ERROR TEST.
s THE_PARITY WILL PURPOSELY BE MADE INCCRRECT ANC
QN ERROR WILL BE EXPECTED EVERY TIME.

TEST T0 RECEIVE A SIXTEEN
:BIT BINARY COUNT PATTERN (000000-000177)

TEST &3
;*i***ii*ii!i*i!lii!*i**ii**i*i*i*i**i*i*ili**iiiiii*iliiiiiiiiiil*i*
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<0d0
<0u0C.

2340
2341
342
2343
234
2345
2346
2347
2348
2349

MACYll
Pl1

Q05660
COE6EE
005&(“
006702
306710
006716
006720

eo7 030

0Cr032
067040
007046
007050
007054
007056
007080
007062
007064
007066
007072
007074
007076
007100
007104
gorziie

-OQ‘-’

Soleds

012737
012(3/
012737
112737
112737
005000
104412
012737

01404
042737
000403
052737
004537
000020
000C00
013737
013737
00577

100401
104000
104401
105200
100334
104400

012737
012737
00sCa0
012704
110024
105200
1080375
104413
00s000
012704
105024
105200
00137%
105077
012777
105277

24-MRY-7& 13:10 PAGE 47
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000053
007032
00620
009377
000377

000377
014056
012444
100230

100000
100000
0115ee

314116
014056
172350

00Q05H
007434

014524

014116

172264
014116
172252

00lc26 TSTS3:

001216
00leeg
012602
014082

1%:
011766
014056
014056
014056

001252
001254
cs:

MOV
MOV
MoV
MOVB
MOVB

SCOPE

HO4

#53, TSTNO
#TS5t54, NEXT
213, Lol

8377 PARFLG
3877 EXTFLG

8377, NPRFLG
RO, WORD

PC’ GENPAR
#81T15, WORD

+12
:8}515 ,WORD
#BIT!S, WCRD
RS, RXSTRA

RXBUFF , TEMPY
WORD . TEMFS
aooshn

: TELL SUBROUTINE PARITY IS ENABLED.
s TELL SUBROUTINE THIS IS A& 16 BIT

: CLEAR DATA POINTER

s INIT D11

:SET FOR suenourxnz

:L0AD DATA

:CALCCATE PARITY.

:CHECK PHR:TY BIT

:BR IF PARITY SIT CLEARED

PARITY BIT SE™ :; SO CLEAR IT.
:CONTINUE TEST

*PARITY BIT CLR ;; SO SET IT.
*PUSH CHARACTER tATO RECEIVER
:SHIFTS NEEDED.

BITS PER CHAR SELECT.

s GET ACTUAL . .

'GET EXPECTED

:DID THE ERROR FLAG €_T..%*,
BR IF &N ERRCr UCLURED.
:ERROR NO ERROR (PARITY ERROR)
:LOCK ON CHARACTER? (SW09=1)
:UPDATE DATA POINTER,

'BR IF NOT 20018) CHARS DONE.
:SCOPE THIS TEST

CHAR.

TEST OF RECE" 'ER_HALF DUPLEX
s TEST TO TRAL IITT
:A_TWO_HUNDRED CHARACTER BURST CF DATA CHARACTERS
:WITH THE RECEIVER IN HALF DUPLEX

:MAKING SURE THAT THE RECEIVER

:DOESNT RECEIVE PNY CHARACTERS.

TEST S4
LR R R R R RN AP R R AR R AR R A AR AR

001226 tsTs.:
001216

1%:
2%

38:

172260

MOV
MOV
CLR
MOV
MOVB
INCB

BPL
MEMCLR
CLR
MOV
CLRB
INCB
BNE
CLRB
MOV
INCB

254, TSTNO
agsfss NEXT
$TXBUFF , R4
RO, (R4
RO’

18

RO
#RXBUFF ,RY
(R4)+

RO

33

JDGREG
#RXBUFF , JDQSEC
JDQREG

; INIT DR73 REG
:PREPARE TO FILL TX BUFFER WITH BINARY COUNT.
:START FILLING TX BUFF

:UPDATE DATA REG

:BRANCH IF BUFFER HA.N'T BEEN FILLED
tINIT THE DEVICE

s CLEAR_COUNT REG

:PREPARE TO CLEAR THE RECEIVER BUFFER.
+START CLEARING RX BUFF

s UPDATE_THE COUNTER

: 1S RX_BUFF ALL CLEARED?

sSELECT THE RECEIVER BA PRI

:LOAD THE BRA

:SELECT THE RECEIVER CC PRI
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2395 007116 012777 177600 172246 MOV 8-200,3DGSEC  ;LOAD THE cc NITH -aon (I WANT TC RECEIVE 200 CHARACTERS

2337 88 g 603;?7 6?2@42 INCB ag Eb SELECT TH;

5338 o 0i12%77 014822 172234 MOV #SYNC,aDQSEC  :LOAD THE TX en NITH STARTING ADD OF TX DATA PLUS THE SY

2339 00:13& 105277 172226 INCB  JDQRES :SELECT THE TX CC PRI

2400 Q07142 012777 177576 172222 MOV 9-202,dDQSEC ~ :LOAD THE TX CC WITH -202 ‘FOUR HUNDRED CHARACTERS AND T

240! 007150 112777 00001l 172212 MOVE  #1[,aDQREG :SELECT THE SYNC REGISTER

2402 007186 013777 DOl4520 172206 MOV .SYNC,aDGSEC  :LORD IT WITH THE SYNC CHAR

2403 00716 108277 172200 INCB  2DQRES "SELECT THE MISC REGISTER

2404 007170 012777 QOQ4OI0 17217y MOV uqoxo JDGSEC  :LOAB IT WITH EIGHT BITS PER/CHAR AND TEST LOOP

2405 007i7& 005037 001244 CLR TEMP 1 ZERO DELAY LOCI

2406 007202 012737 000020 001246 MOV %20, TEHPE :SET DELAY FOR 20X177777 (8)

2407 007210 012777 0000I1 172142 MOV 11 J0GRCSR :SET RECEIVER HALF DUPLEX AND GO!!

3408 007216 005277 172142 INC J0atCSR :SET TRANSMITTER GO'!!

2409 007222 105777 172136 4§ : TSTB aDQTCSR : TRANSMITTER DONE??

2410 007226 100407 BMI g ' BRANCH_IF TRQNSMITTER IS DONE.

2411 007230 005237 001244 INC TEMPL 'START THE DELAY

2412 007234 001372 BNE 4§ : DELAY-----

2413 007236 005337 001246 DEC TEMP2 j DELAY-=--=- TRANSMITTER DONE?

5414 007242 001367 BNE 4§ : DELAY=-=~=-=-

2415 007244 10HCO0 HLT : TRANSMITTER DONE NEVER SET (PRI)

2416 007246 065000 5§: CLR RO tINIT COUNT REG

2517 00725C 012705 O014ile MOV #RXBUFF , RS :SET REC DATA POINTER

2418 007254 105725 6%: 7STB  (RS)+ :START THE DARTA CHECK

2419 097256 OO14C1 BEQ +4 :DATA GOOD SO FAR

2420 007260 104000 HLT :DATA COMPARISON ERROR

2421 90T2e2 105200 INCB RO : UPDATE COUNTER

§3g§ 007264 100373 BPL 33 :BRANCH IF MORE DATA TO CHECK

c

2424

2425 :RECEIVER HALF DUPLEX TEST. PART 2

2426 s TEST THAT WHEN TX IS NOT ACTIVE THAT THE RECEIVER

gzsg :CAN RECEIVE CHARS.

2423 007286 104412 MSTCLR < INIT DQI1

2436 007270 005000 CLR RO : ZERO DATA POINTER

2431 007272 012704 014116 MOV $RXBUFF , RY ' FREPARE TO ZERC RX BUFFER.

243z 007276 105024 7%: CLRB  (R¥)+ :START CLEARING.

2433 007300 105200 INCB RO : DONE?

2434 007302 108375 BRL 7$ :8R IF MORE TO DO.

2435 007304 105077 172060 CLRB  JDGQREG SEL RX BA PRI.

2436 007310 012777 014116 172054 MOV $RXBUFF, aDQSEC  :LOAD IT

2437 007316 105277 172046 INCB  JDGREG SEL RX WC PRI.

2438 007322 012777 177600 172042 MOV 8-200,3DQSEC ~ :LOAD FOR 200 CHARS.

2429 007230 112777 000012 172032 MOVB  #MISC.,dDGREG :SLE MISC RESISTER.

2440 00733 012777 0O0MCI0 172026 MOV #4010, 0QSEC  ;SET EIGHT BITS AND TEST LOOP

2441 007344 00S037 001244 CLR enpx :SET DELAY

2442 007350 012737 000002 001246 MOV EMP2 S

2443 007386 012777 010011 171774 MOV n10011 3DGRCSR  :SET RCTIVE,HALF DUPLEX.30

2444 037364 105777 171770 8%: TSTB  2DQRCSRA :RX DONE PRI”

2445 007370 100M07 BMI 93 !BR IF YES

o446 007372 (005237 001244 INC TEMPY : DELAY

2447 007376 001372 BNE 8% g

2448 007400 005337 001246 DEC TEMP2 v

2443 §07404 001367 BNE 83 noeow

2450 007406 10<000 HLT :RX PRI. DONE NOT SET..

245! 007410 005000 9% CLR RO : INIT COUNTER
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2452
2453
2454
2455
2456
2457

2459
2461
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Pil

007412
0041k
007422
0Cr424
007426

007420,

00432

037644
007846
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Ja4

;GET RX_BUFFER.
:MARK STATE IN BUFFER?
1BR_IF YES

: ERROR
;ALL DONE?

:BR_IF NO.
:SCOPE THIS TEST.

TRRNSHITTER AND RECEIVER

RATE

NDRED CHRRQCTER BURST

: a3 e2222223223 2232222232222 2L 2222232222222 223222222232

012705 014116 MOV $RXBUFF , RS
122725 000377 108: CMPB a37? (RE)+
goING1 BEQ
104000 HLT
105200 INCB RO
100372 8PL 108
104400 SCOPE
rssr OF DQLI
:DATA REALIBILITY
:DATA IS TRANSFERED FULL
RT A FOUR HU
TEST 55
012737 0000SS 0O0l226 YSTs5: Mov #55, TSTNO
012737 007754 001216 MOV 875156, NEXT
605000 CLR RO
012704 014524 MOV #TXBUFF , R4
110024 13: MOVB RO, (R4)+
105200 INCB RO’
001375 ENE 18
10451 2%: MEMCLR
005300 CLR RO
012704 DI41l6 MOV $RXBUFF , RY
105024 33: CLRB  (R¥)+
165200 INCB RO
001375 BNE 3%
105077 171662 CLRB  JDAREG
012777 DI4116 171856 MOV sRXBUFF , 3DQSEC
105277 171650 INCB  JCGREG
012777 177500 171644 MOV #-400, JDGSEC
105277 171636  _ INCB  2DOREG
012777 014522 171632 MOV $SYNC, JDGSEC
105277 171624 INCB  JDQRES
012777 177376 171620 MOV $-403 aDASEC
112777 000011 171610 MOVE  #11,30GREG
013777 014520 171604 MOV SYNC , dDASEC
105277 171576 INCB  JDGRES
012777 004010 171572 MOV 04010 ADGSEC
005037 001244 CLR TEMP
012737 000020 001246 MOV 820 TEMPE
005277 171542 INC JDGRCSR
006277 171542 INC JDGTCSR
105777 171832 4§: 7sTB DGRCSR
100407 . BMI 5§
005237 001244 INC TEMPL
001372 BNE 4§
005337 001246 DEC TEMP2
001367 BNE 4§
104000 HLT _
005777 1715i- 5%: 15T JDQERR

; INIT DRTA REG

:PREPARE 70 FILL TX BUFFER WITH BINARY COUNT.

sSTART FILLING TX BUFF

:UPDATE DATA REG

:BRANCH IF BUFFER HASN'T BEEN FILLED

:INIT THE DEVICE

:CLERR COUNT REG

:PREPARE TO CLEAR THE RECEIVER BUFFER.

:START CLEARING RX BUFF

:UPDATE THE COUNTER

: 1S RX BUFF ALL CLEARED?

:SELECT THE RECEIVER BA PRI

:LOAD THE BA

:SELECT THE RECEIVER CC PRI

:LOAD THE CC NITH =400 (I WANT TO RECEIVE 400 CHARACTERS
:GELECT THE TX BR PRI

:LOAD THE TX BA WITH STARTING AOD OF TX DATA PLUS THE SY
+SELECT THE TX CC PRI

sLOAD THE TX CC WITH -402 (FOUR HUNDRED CHARACTERS AND T
tSELECT_THE_SYNC_REGISTER

+LORD IT WITH THE SYNC CHAR

;SELECT THE_MISC REGISTER

:LOAD IT WITH EIGHT BITS PER/CHAR AND TEST LOOP

: ZERO DELAY_LOCL

:SET DELAY FOR 20X177777 (8)

:SET RECEIVER 60!!

:SET_TRANSMITTER GO!!!

sRECEJVER DONE??

:BRANCH_IF RECEIVER IS DONE.

BTRR* THE DELRY

ELAY-~---
BELQ\ ----- REC DONE?
}RECEIVER DONE NEVER SET (PRI)
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Pll
00?652

007676
007700
007702
007704
007710
007714
007720
007724
007730
007734
0077492
007744
007746
007750
007752

007754
007762

100001
104000
122777
0C1401
104000
128777
001401
104000
0Cs0a0
C1e704
012705
305037
005037
11a437
112537
023737
001401
104025
105200
001361
104400

00S000

KO4
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00020+

000204

000400

171474

171466

001252

901225
€01216
001220

001s10
001214
010154

010156
010272

BrL .44

HLY

CMPB 8204, JDQRCSR

BEQ .4

HLT

CMPB %204, 9DQTCSR

SEQ .4

HLT

CLR RO

MOV $TXBUFF ,RY

MoV $RXBUFF .RS
bs: CLR TEMPS

CLR TEMPY

MOVB (R4)+, TEMPS

MOVB (RE)+, TEMPY

CMP TEMPS TEMPY

; INIT COUNT REG
:SET GOOD DATA POINTER
:8ET REC DATA POINTER

;DATA GOOC SO FAR
:DATA_COMPARISON ERROR

:BRANCH IF MORE DATA TO CHECK

BEQ
A

INCB RO ' UPDATE COUNTER
BNE &%
SCOPE :

}TEST OF THE THREE STRAP SELECTABLE

! CHARACTERS

:ON THE FIRST PASS THE CHARACTERS
HILL BE TYPED QUT FOR_VERIFICATION
:ON PRSSES AFTER THAT THE CHARACTERS WILL BE VERIFIED

BY THE PROGRAM.

NOTE IF THE BB OPTION Ig INSTALLED

PROCEED 10 NEXT T
TEST 8

,*******************************************************i******i*****

tstoe: mMov 56, TSTNO
MOV 8. EOP NEXT
MOV #18, LOCK

MEMCLR

CLR NPRFLG

BIT #BBBIT,DQSTAT
BEG .+14

MOV NEXT, RETURN
IMP ARETURN

MOV %8.,53

MOV 24000, 63
MOV 400, 153
CLR RO

'CLEHR RLL

:DOES BB OPTION EXIST?
:BR IF BB NOT THERE.
DO NEXT TEST.

EIGHT SHIFTS.

;EIGHT BITS PER CHAR.
sLAST CHARACTER.

: ZERO DATA POINTER

CEEERRERERRER R R R RN E R R R R REREER RN

MAINTRINCE RID,.

FRSTER.

,
!
’
9
9
’

THE FOLLOWING IS TO HELP TROBLE SHOOT
PROBLEMS IN THE CHARACTER DET. LOGIC

l***l****i!**************¥i********i***ilii************
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g1cose

N UNTUIU £ LW NY - p—eb—
L0 LrO0L£O0L£f0LoO0LLNN L0

eld
elb
220

OO0OO0000O000000000000O0000000000000000
funPMPDMPVDPVND
£ £ L£Wwwhuny
oOLENNVOoO L0000 L

OOO0O0O0O0O0000OVOO0O0O0O00CO0O0O0O0OOO0O0OO00O00OOoO00
Bt e Dt Bt B et Dt Pt Bt Gt B—s Bt Pt Pt Pt Pt b Pt Pt Pt Pt b Dt ft Bn et P $—t Dt Pt P Pt Pt

260

Wecr-g

000416
000000

104414
017700
00C0as

104414
000467

012737
005037
005037

012704
005024
022704
001374
005037
012704
005137
005077
010037
004537
000010
004000
005777
100037
Q42777
005700
001003
005737
001410
012702
020022
001423
005722
022702
001372
010024
017714
Q42714
000324
005237
022737
001002
104020
005177

24-MRY-75

171114

000020
010156
010272

014066
014104
Ci4ll4
G14066
011766
171214
014056
011522
171174

1000C0

014114
014086

014106

170730

010154

171184

014114

1%:

5%:
B3:

19%:

13:10 PAGE 51
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BR
HALT
CKSWR
HALT
BESNR

MOV
CLR
CLR

LO4

36%

JSKR, RO
368

$1E..5%
£$
15§

; CHANGE THIS LOCRTION TO 243" (NOP)
:T0_LOCK ON SELECTED 8 BIT CH@R.
P%T %%LECTED CHARACTER IN SWR.

CHECK FOR <G>

:LOAD_CHARACTER.

:PUT DYNAMIC SWR SETTINGS IN SWR AND
sHIT CONT,

iCHECK FOR 1G>

sCHANGE THIS LOCATION TQ "240" (NOP)
:ALONG WITH THE ABOVE FOR 16 BIT CHAR
NOTE BOTH LOCATIONS ARE TO BE CHANGED
;FOR A 16 BIT CHAR.

iSET FOR_16 SHIFTS.

:8ET "BITS/PER/CHAR"

SET LAST LIMIT.

NOTE SWR BIT 9 MUST BE SET TO LOCK ON THAT CHAR. SE_ECTED.

# TMPBUF , R4
(RY4)+
aTEPEUF+16,RH

NUMBER
$TMPSUF , RY
NPRFLG
JDARCSR
RO, WORD
RS.RXSTRA

3DORCSR
SBITIS, B0ARCSR

R
18$
NUMBER

19§

$TMPBUF ,R2
RO, (R2)+

2§’

(R2)+

#TMPBUF +20,R2
133

RO, (RY)+
ADARCSR, (R
170377, (
(RY)+

NUMBER

85, NUMBER

2%

JRETURN

P L T T e e T P T PP p—p——

s STORAGE POINTER,

ZERO STORAGE

QLL CLEAR?

BR IF NO.

HON MANY FOUND.

PREPQRE POINTER

nELL SUBROUTINE NOT 7O FORCE RX NFPR,
LLEQR CSR

LORD CHQRQCTER

PUSH CHARACTER INTO RECEIVER.
‘BEHARE THIS LOCATION WILL CHANGE.
BENRRE THIS LOCATION WILL CHARNGE.
an R CHARACTER DETECTED?
BR IF NO CHAR FOUND.

CLEAR DETECED CHRR FLAG
gRSI;HEOCHHR =0

'HOW MANY WERE FOUND?

;BR_IF NONE YET.

:POINTER STORE.

:WAS THIS CHARACTER FOUND BEFORE?
:BR_IF YES

:POP” POINTER

gkLICHQRS CHECKED?

:STOE CHARACTER

:GET_ADDRESS FOUND IN.

:CLEAR ALL GARBAGE.

: SWAP_ARQUND.

: UPDATE COUNTER.

ESOINRQY CHARS FOUND?”

'ERROR MORE THAN 4 CHARS. WERE DETECTED.
:RESTART TEST. DO NOT CONTINUE IN THIS TEST
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104401
005200
020027
000000
001317
00S737
001024
022737
001434
012737
005337
112777
Q42777
005037
00S000
000137
022737
001010
022737
001004
005337
Q2444Y
000740
0057237
001004
104402
000137
105737
001050
012704
012437
012437
0la437
012437
012437
012437
012437
012437
013737
104402
013724
104410
010630
005337
001414
104410
0i0e4e
005337
001407
104410
010654
005337
001402
104410
010666
022737

24-MRAY-76

014114
000020
000020
010156
000012
177400
010272

010134
000001

000010
014114

0Clese

00!ese

001ese

000001

2%:

i58%:

010154 31§:

010154

171034
171030

014114
014070

7%:

001252

00iS04 3§:

308:
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D@11 TRANSMITTER AND RECEIVER EXERCISER.

SCOP!
INC
cMP

0

BNE

MO4

RO
RO, (PC)+

19
NUMBER
30%
$16.,5%
’

)
$16..5%
6%

$MISC. . 3DGREG
:é;?qﬂb JDQSEC

RO

13

%1, NUMBER

7%

%10, TMPBUF +2
73

NUMBER
-(R4J, - (RY)
319

NUMBER
412
EMY

1os

éYZFLG

$
8 TMPBUF , RY

(RY)+, . LHARL
(RH)+,.RDDR1
(R4)+, .CHAR2
(RY)+ .ADDR2
(R4)+. .CHAR3
(RH)+ -ADDR3
(R4)+, . CHARY
(R4)+. . ADDORY
Nunssh TEMPY

TEMPY
3%

TEMPY
3%

TEMPY
3%

#1,CQNUM

;LOCK _CN CHAR (SW09=1)

s UPDATE CHARACTER

tALL DONE?

:LAST CHAR STORED HERE.
:BR IF NOT DONE

:ANY CHARS FOUND?

:BR IF_NONE FOLND -
: 1S TEST ALL DONE?

i8R IF YES

:00_A_16 BIT CHAR NOW
:SET FOR 16 BITS PER CHAR.
sSEL MISC REG

:CLEAR THE HIGH BYTE

:SET LAST CHAR TO O

: ZERO DATA POINTER
:GQ_AND DO IT AGAIN

:WAS 1 CHQR FOUND?

:BR_IF N
: WAS ”SYNC DET" ENRBLED"
:BR_IF NO.

: ZERO NUMBER.
:ADJUST POINTERS
:KEEP_GOING.

:ANY FOUND?

i8R IF YES

:ALLERT OPERATOR NONE FOUND.
s LEAVE

sWAS THIS DONE BEFORE”
:BR_IF TEST WAS DONE BEFCRE
: POINTER

:STORE CHARACTER 1

:STORE ADDRESS 1

:STORE CHARACTER 2

:STORE ADDRESS 2

:STORE CHARACTER 3

:STORE ADDRESS 2

: STORE CHARACTER 4

:STORE ADDRESS 4

: STORE NUMBER OF CHARACTER FOUND.
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DQ11 TRANSMITTER AND RECEIVER EXERCISER.

BNE
MOV
MOV
MOV
MOV
CMP
SEQ
HLT
cMP
BEQ
HLT
DEC

XCHRRL: 2

XCHARZ: 2

XCHAR2: 2

XCHARY: 2

OCOOo000000D: » ¢« -

NO4

.+10

$-1 XYZFLG
NUMBER , TEMPY
$TMPBUF , R4
8.CHARL RS
(RY)+, (RS)+
.44

(R4)+, (RS)+
.44

TEMPY

4§

6.2

4,2

6.2
4,2

5,2
4,2

&,2
4,2

e -
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(g 1LV A1)

002eC9

014954
014052
014964
£0J002
614056
170218
177777
000012
614064
800012
170153

170z22
173216

170204
170174
170170
173162

*XSTRS:

18:

T¥STRS:

TER ANS RESEIVER EXERCISER.

§**i!*iQii&1;{94!1&{{*}1545&5{}.40&19*91009!ttli!.i
:SUBRCUTINE TO STROBE INTO THE TRANSMITTER

i THE CHARRCTER ZWORD®.
:ENTEREC BY A JSR RS, T4STR
: THE NUMBER OF SHIFTS AND YHE BIT

:LENGTH SELECT ARE LNDER THE JSR CALL

(RERRRRINEPIRNFRRRVERFVARARRFDEDOEE 2220220992000 82

RSTCLR

CLR WIRD

MOV RS, SRVEPL
MOV REYs, COUNT
MOV {RS)+ BITSE.
MIVB 82, a0AREG
MOV aubac*ascssc
NS sCIRES

".OV .'1 aDQSE:

3.5 an¥sc..ac;n£;

Mdv~  BITSEL,a0QSEc

RIS 812, 300SES

"N S0atCSR N )
LB aREIER.LATCSR SHAIST TIE
Ny ~DGTCER, ADGTISR (WAIST TIME
cMP GCATCSR,JCATISR ;wRIST TIME
ING SLuSEL

0 SDQSEC

ING S0CSEC

CEC £CQSEC A

BIY 8BI77, JCASE:

BNE .4

HLT 23

DES COUNT

e S

INC DQSEC

CES aDSEC

BT 8BI77,30ISEC

8ed .+4

HLT ;

RTS RS

MOV RS,SAVEPC

MOV (RE)+, SCUNT

MOV (RS)+ SITSEL

MOVB 82, 3DUREG

MOV sWdRD, ADASEC

INCB  JOQRES

MOY s-1,d0QSEC_

MOVB  sMI5C..30QRES

MOV BITSEL,aDQSES

BIS  12,aDJSEC

INC 30GtCSR
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SMITTER RNC RECEIVER EMNERCISER.
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D0 MU

179144 170142 CMP JDGTCSR, ADQTCSR ;WAIST TIME

170136 CMP J0GTCSR, 3DGTCSR :WRIST TIME

xagxag ?"P aggrggn.aooTcsn ‘WRIST TIME

17013 NG J00S

1708124 DEC I03SEC

170120 INC JDQSEC

170114 NES J0ISEC

014062 DEC COUNT

ENE 18
RIS RS

010537 014054 TXSTRD: MOV RS, SAVEPC :SAVE PC OF ROUTINE CALL
012537 014d82 MOV (R&)+, COUNT :PICK UP TME NUMBER CF SHIFTS
£12537 O1408Y MOV \RE + BITSEL  ;PICK UP_NUMBER OF BITS PER CHARAZTER
112777 500002 170080 MOVB  #2,a08REG 'SELECT THE TRANSMITTER BA °R1I.
012777 014086 170054 MOV sWORD,90GSEC  :LOAD THE BR
108277 170046 ING J0GRES :SELECT THE TRANSMITTER oC PRI.
012777 177777 1700u2 MOV 8-1, 9DOSEC :LOAD THE CC WITH -1
112777 000012 170032 MIVB  aMISC.,3DGREG  ;SELECT THE MISC REGISTER.  _
013777 0I408M 170026 MOV BITSEL,d0QSEC  ;LOAD_MISC REG WITH NUMBER OF BITS PZR CWeA.
0Sc777 000012 170020 8IS 812, 2D4SEC :A0D TO THAT TEST LCOP AND RUTC STEF.
105737 02802 T5TB  PARFLG : 1S PARITY TO BE TURNEC ON?
GC1403 BEQ .+10 :BR IF NO
nS2~?7 100000 170094 81s #81715,3005EC  :TUR! PARITY Q.. ...
308277 18777e ING 203 TCSR :SET TRANSMITTZR 50111
Ca>: 167766 16276 Smp 9DQTCSR. IDGTCSR $WAIST TIME
a37777 1ET76D  1ETTSE cup 9DQTCSR, CaT SR (HAIST TIME
g2 167752 167750 Sup aDQTCSR.QCGTISR (WASST TIME
005277 1E77ES ING 2DQSEC :PRIME THE )
9G53 15?7;3 2EC 30GSEC : TRANSMITTER.
Q06337 0412 18: ROR TEMPH SSHIFT THE STORAGE OF DATA FROM TwE TRANSMITTER.
005277 167736 ING 20GSE" :CLOCK THE TRANSMITTER -UP-
0oE37? 167732 CES o03SEL :6LOCk THE TRANSMITTER -DOuN-
017702 167726 MOV 3DQSE¢, R2 :MOVE THE MISC REG TQ R2
Q§2702 177877 81c 8177672 R2 :CLEAR ALL BUT THE BIT WINDOW.
106737 0:4082 ISTB  EXTFL3 :FIND CUT IF BIT PER HAR 8
001404 BEQ 2 :BRANCH IF B8ORS
106102 ROLB  R2 :SHIFT 27T WINDOW INTD CARRY BIT.
ANENGR ROR R2 :SHIFT CARRY INTD R2 BIT :5 OF R2)
032702 077777 BIC 877777 . R2 :ZLEAR ALL BYT TRAT BIT 2F DATA
0s0237 001252 zs: 81s Ra,renﬁq :PLACE DATA INTO TEMPORY L3-ATION
GOE337 014062 DEC COUNT ;25 CHARACTER COMPLE”EL™ SHIFTEC LT
001352 i BNE 18 :BRANCH IF MORE BITS To &o.
108737 014082 TST8  EVTFLG
701203 8NE 38
10137 0Ci282 COMB  TEMPY
050492 BR 4§
98%557 001282 5§: comM TEMPY :COMPLIMENT DATA STORR3E

RTS RS :LERYE THE RCUTINE.
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SSBabC. Pl
2333
3331 0u1522
5335 011326
§933 011832
33 8112%
533t QllSW
353 011550
§53 Duigey
838 G1i262
2333 D01186E
S840 01154
5341 011602
5342 011610
5843 C1i6l4
344 G1iees
2845 (11€30
5546 01163
3847 01163
2848 Qllp4
5543 gligsa
o0 011636
5681 011BAC
5662 011666
5923 J1ibmM
5554 011702
3855 111706
5836 Q11712
5357 (11720
5988 011796
5829 Ql:730
5880 01.736
S2c1 ATiTaa
5865 Hii74G
5863 011750
oee4 011782
5865 011760
235 DIl7Ed
3665 DI17€6
5888 011770
2869 011779
2875 C1l774
5671 G12C00
5872 012004
2873 012010
2874 112016
887¢ 015024
287t 012030
5677 DIs0NM
ge78 01203
5679 §.504C
26e7 0igt4y
2561 012050
2235 §130c+
2363 nisoee
SE64 OlzoBe
3635 212074

014362
0117eb

00202C
0117¢6

167364
167384
167352

0320
G0C220
000140
1€734¢
167334

L7324
16731¢
£0202C
002219
167304
ocon1d
17272

V=06

l
R RND

1777

1567610
167576
167566
167562

167850
167542

£01244
167444

167412

167352
167344

167308
167274

3:10_ PRGE S§
RECEIVER EXERCISER.

RASTRRA:

28:

NPRFLG:
MEMC_R:

1%:

MOV
MOV
MOV
MOV
COoM
CLRB
MOV
INCB
MOV
MOVB

DOS

RS, SAVEPC
\R&1+, COUNT
(RE)+ BITSEL
WORD, tEMP
TEMP

JDAREG )
#RXBUFF , JCOSEC
J0GREG

#200, JDISEC

81!, JDQREG
8-1 9DGSEC

JDQREG
BITSEL, aDQSEC
812, 300SEC
Pa?ch

.+

$BIT15, ADGSEC
80001, 9DQRCSR
NPRFLS

® ‘10

#81712, JDGRCSR
#MISC. , IDQREG
88177, 2DQSEC
TEMP

TEMF]

8177577 TEMPL
TEMP1, 90GSES
200SEL

JDQSEC
COUNT
2$

NPRFLG

.+]
sBITH
NPRFLA
RS

aDJSES

JDGRCSR
30QTCSR
9DGERR_
816, ,RS
saxrﬁﬂaoonsc
3690 JDQREG

GSEC
3DGRES
RS

1§
JOOQREG

A
814, JOGREG
90G3EC

+IS PGRITY TO BE TURNED ON?
+B€ IF NO
:TJRN PRRITY ON.....
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ceede  MACYIL 2T(732) 24-MRY-"S 13:10 PRGE &7

oofabC.PLl DIl TRANSMITTER AND RECEIVER EXERCISER.
gggg_ Uiéiw wgen 167256 INCB gooncsu
23 JiER SAniE e 5
2339 G12110 108377 187246 CLRB  SDGRCSH
2890 013118 MSTCLR:
3891 OQI21l4 112777 000012 167246 MOVEB  #I'ISC.,acnREG
2832 012122 Dl277r DOOONG 167242 MOV #BITS,JDGSE.
£883 012130 000002 RTI
2834 012132 010537 014054 RXLNG: MOV RS, SAVEPC
2895 012136 104412 MSTCLR
263 012140 108777 167234 CLRB  ODOREG
2837 Q12144 212777 OINlle 167225 MOV #RXBUF F, JDQSEL
3698 012152 D0S037 OlM11E LR RXBUFF
2993 (12156 105277 167206 INCB  JDQREG
2500 012162 012777 000200 167202 MOV 8207, 3DQSEC
2331 01210 112777 00001 167172 MOVE  #l1,aDQREG
5802 012176 013777 OI4520 16TI6E MOV .SYAC, JDGSES
2903 01224 105277 167180 INCB  JDGRES
2334 012210 012577 1671SH MOV (RS)+, 3DOSEC
3505 012214 053777 000012 167150 815 12, 50QSEC
290c 012222 Q53777 000001 167130 BIS #0001 . IDGRCSR
2957 012230 042777 000200 167134 BIC 88177 2DQSEC
2928 012236 005277 167130 INC  JDGSEC
29C9 Q12242 DOS3?? 167124 DEC AD3SEC
53918 0i334g 062777 000020 1671l BIS sBIT4, 30GSEC
2911 913354 000240 NOP
£3.2 012256 000z40 NCP
2313 012260 000240 NOP
29i4 0.2252 000237 0id4lle SWAB  RXBUFF
2515 013256 122837 Did1le 18: SMPE (RS} +,RaLUFF
2516 012272 001401 BEQ .+
5617 012274 1040.5 HLT 15
2918 (0iZgre 105205 IN RS
2319 012300 0503245 RTS RS
2325 012302 010537 014054 SXELNG: MOV RS, SAVEPC
g3zl 0lc3Cb 104412 MSTCL
g3z 013310 10077 167054 _ CLRE  JDQREG
2§22 cCl23l8 012777 OIMIIe 167030 MOV $RXBUFF , 30GSEL
292§ 012322 005037 014116 CLR RXBUFF
2925 012326 105277 167036 INCB  JDGREG
226 (12332 012777 000200 187032 MOV 8260, aDGSEC
2987 012340 1127~7 00CGII 1€7023 MOVB  #11,4DGREG
2928 012346 01I~77 0l14520 1670I€ MOV . SYNC , 9DGSEC
2929 012354 105277 167010 INCB  2DQRES
2930 012360 012577 167006 MOV (RS)+, 3DASEC
2921 DI23p4 053777 000012 167000 3IS 12, 36QSEC
2932 012372 052777 00000 186760 BiS 0501, 30GRCSR
2333 012400 042777 000200 166764 BIC $BI1T7 J0GSEC
2934 012406 008277 166760 INC 30GSES
2935 Qlg412 00S3°T lE6754 DEC 3DQSEC
2936 0l24le 052777 000020 166746 8IS 8BITH, JDGSEC
2937 0i242¢ 000240 NOP
2938 012426 000240 NOP
2929 012430 000240 NOP
2540 Dl2432 022537 014116 CMP (RS s+ ,RXBUFF
2941 012436 001401 BEQ .+4




220e0

2o0da0C
2942
2343

2394

MRCYLi
Pl!

012440
212442
013444
Rl

12446
Q12450
012452
012456
£12450
012466
012474

0iaSiy
012516

012520

3 =

-t \‘32‘

104015
000205

010146
010246
C10346
105737
003003
242737
43737
005052

032737
001404
032702
001016
QCo4L3
032702
001412
105737
001004
052737
000403
052737

24-MAY-76

014052

000200
100000

Q00020
014056

001000
00000!

000001
g140S2
000200
1CC00C

g14CS5
014056

CJIs10

014056
014056

13:10 PAGE 58
Ddil TRANSMITTER AND RECEIVER EXERCISER.

HLT 1§
RTS
GENPRR:

c3:
38:

43

PARFLS: C

FOS

R1,-(SP)
R2.-(5P)
R3,-(SP)
extrLG

. +10
#8IT7,.WORD
agITIQ.HORD

#16.,R3
WORD, R

#00DBIT.DQS™RT
2%

%8:70,R2

4§

3%

3170, R2

4§

E.TFLG

412

#8177, WORD
45

#BIT15, WORG
(SP)+ . A3
(SP)+.R2

«SP)+,R!
PC




occab

p20a0C.

O

OO0 -3
PPt g

Pt ot Pt Pt Pt s P Pt Pt Pt ot Pt Pt P

4]
o
£
n

e todurd
norrv
HOF £

et
un)
oo
uun
oL

12660
12662
912664
12666

Pt
i
ENQ

ie7de
12704

1e752

OO0OO000000O000UOO0O0O000OOOOO0O00OOOOOUVOOOOOOCOO0OMNO0COOOLOOO000

RCY1Ll 27,732 2+4-Mv-r% 13:10 PAGE 59

D@11 TRANSMITTER AND RECEIVER EXERCISER.
.ERRTAB:

000900 0

£00C7 0 tHALT
000900 0

013010 EMD

013326 DHI  :HALT
000300 9

013010 EMD

013347 CH2  HALT
000200 0

013026 EM]

213364 DH3  :HALT
902200 9

013026 EM]

013375 DH4  :HALT
€000 0

03026 EM]

013431 DHS  ;HALT
000000 0

0130!7 | EMD

013465 DHE  ;HALT
000000 g

013010 EMD

013508 DH?  {HALT
000000 g

013173 EMG

0i 3540 DH3  ;HALT
000200 g

000030 0

013534 DH3  ;HALT
000000 0

013010 EMO

013546 DHIC  :HALT
014040 DTQ

013064 EM3

013540 DHY  :HALT
000000 i

013064 EM3

813534 DHE  :HALT
000000 0

013173 EMB

013675 CHI3  :HALT
000009 i

013150 EMS

013534 DHE  ;HALT
000000 0

013159 EMS

013540 DH3  :HALT
000000 0

013173 EMG

013546 DHIO  ;HALT
014040 D~2

013116 EMH )
00000C 0 tHAL T
600096 g

C1320¢ EM?

4

1S

16

17

20

el

GOS
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D200 MACYIL 271732)  24-MAY-T&  13:10 PRGE 60
D<DQ0C.PIL DQ11 TRANSMITTER AND RECEIVER EXERCISER.
3234 DI2re2 Q00000 0 ;HALT 22
3035 012764 (000000 0
3035 013766 013254 . EMS
333¢ 012770 0C003Q 0 ;HALT 23
3338 013772 C00090 0
3033 0i2~™ 013016 EMD
304G 012776 013306 DHO {HALT 24
3041 012000 00COQQ 0
3042 013002 Q0COCO g
3043 913009 013546 DHIO  ;HALT 25
3044 0i3006 014040 D10
3045 013010 252377 040522 051516 EMO:  .ASCIZ <377 TRANSMITIER /
013026 083377 (40832 O0S1816 EMI:  .ASCIZ «<377>/TRANSMITTER CHARACTER COUNT /
013064 053377 041522 QY2440 EM3:  .ASCIZ <377>/VRC ERROR BIT SHOULD BE /
013116 047377 020117 Q44103 EMY:  .ASCIZ <377>/NO CHARACTERS DETECTED./<O>
012180 951777 OQu47131 020103 EMS:  .ASCIZ <377>/SYNC 1 AND 2 NOT /
01317 377 Q42522 042503 EMB:  .ASCIZ <377) /RECEIVER /
013206 Q41777 Q40510 Q40522 EM?7:  .ASCIZ <377 /CHARACTER DETECTION COMPARISON ERROR/
013254 Q4i777 (040510 Q40522 EMS:  .RSCIZ «377)/CHARACTER NOT ALL ZERG'S/
013306 041501 044524 Q42526 OHO0:  .RSCIZ /RCTIVE NOT SET./
012326 041501 044524 042526 DH1:  .ASCIZ /ACTIVE NOT CLEAR/
013347- 104 047117 020105 DH2:  .ASCIZ /DONE_NQT SET/
013364 " 047516 (020124 Q42532 DH3:  .ASCIZ /NOT ZERO/
013375 *. 116 0S21I7 Q44940 DH4:  .ASCIZ /NOT INCREMENTED BY PLUS TWO/
013431 116 052117 044440 DHS:  .ASCIZ /NOT INCREMENTED BY PLUS ONE/
913465 120 094522 051452 CHB:  .ASCIZ /PRIXSEC NOT SET/
013505 114 47111 020105 DH7:  .ASCIZ /LINE NOT AT MARK STATE
013534 Q42522 (000124 DH8:  .ASCIZ /SET/
013540 Q46103 040505 000122 CH3:  .ASCIZ  /CLEAR/
013846 04C504 040524 041440 ODHi0: .ASCII /DATA COMPARISON ERROR/
013573 377 054105 Q42520 ASCIZ <377>/EXFECTED _ RECEIVED /
01362} 123 082105 0S3440 DH1l: .ASCIZ /SET WHEN ACTIVE SET/
013645 163 042514 051101 DH12: .ASCIZ /CLEARED Y MASTER CLEAR/
013675 103 Q40510 040522 DH13: .ASCIZ /CHARACTER LENGTH ERRCR/
013724 051777 042505 Q40440 MDETCH: .ASCII <377>/SEE 38STRACT OR TEST #56 FOR DETRILS/
013771 377 044102 051101 .ASCII <377>-CHARA-TERS DETECTED: -
014020 041777 040510 027122 evey  FSCIZ (377 /CHAR.TORNR.
DI4040 0C0002 pT0: 2
3046 014042 006 004 BYTE 6.4
3047 014044 001254 TEMPS
3048  D14046 006 002 BYTE 6,2
3049 014050 001252 TEMPY
3050 014052 0O0ODO EXTFLG: O
3051 D0I4C84 000000 SAVEPC: 0
302 014056 00OCOD WORC: @
3052 014060 000000 DELAY: O
2084 Qi4062 000000 COUNT: O
3025 014064 000000 BITSEL: O
3056 014066 0OO0I2 TMPBUF: .BLKW 12
3057 Qi41l2 0OOCOO XYZFLG: 0
3058 Qi41l14 000000 NUMBER: 0
3059 0141le 000000 RXBUFF: 0_
3080 014520 =, +400
2061 014520 026 026 .GYNC: .BYTE 26,26
20e2 0l4€z2 02t 026 SYNC: .BYTE 26,26
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DZ0A0C. P11 DG11 TRANSMITTER AND RECEIVER EXERCISER.
3063 0:4524 000000 TXBUFF: O
3064 015126 -=.4400
3085
3056 :END_OF PASS
3067 : TYPE_NAME OF TEST
3089 {UPDSTE PASS COUNT
3069 :CHECK FOR EXIT T0 ACT-11
3070 'RESTART TEST
3072 015126 005037 001234 EOP:  CLR  LSTERR :CLEAR LAST ERROR PC
3073 015132 0C5037 001312 CLR  ERRFLG ! CLEAR ERRCR FLAG
2074 015136 005237 001230 INC  PASCNT ! UPDATE PRSS COUNT
3075 015142 104402 TYPE
3076 G15144 017356 MEPASS
3077 015146 104802 TYPE
3578 015150 017536 MCSRX
3079 (015152 104411 CNVRT
3080 015154 015264 XCSR
308] 01556 L0WNO2 TYPE
3082 015160 017544 MVECX
3083 015162 104411 CNVRT
3084 015165 015272 XVEC
3085 0I5166 109402 TYPE
3086 015170 0i75E8 MPASSX
3087 015172 LOM4IL CNVRT
3088 015174 015300 XPASS
3089 015176 104402 TYPE
3093 015200 017563 MERRYX
3091 015202 104411 CNVRT
3032 015204 015306 XERR i
3033 015206 013777 001230 163766 MV PASCNT,aLIGHTS :DISP_AY PASS COUNT
3084 0185i4 005337 001576 DEC  SAVNUM
3095 015220 001013 BNE  RESTRT
309k 0lS222 013737 0OLS04 0G1276 MOV DONUM, SAVNUM
3097 015230 013701 000092 MOV asde, &l ;CHECK_FOR ACT-11 OR DOP
3098 015234 001405 BEQ  RESTRT LIF NOT. CONTINJE TESTING
3099 01523 000005 RESET
2100 015240 LOGICAL:
3101 015240 004711 JSR  PC,(RI)
3102 015242 000240 NOP
3103 01544 000240 NOP
3104 OIS245 000240 NOP
3105 015250 104414 PESTRT: CKSWR
3106 015252 (12737 002254 001214 MOV #TST1,RETURN -
3107 01560 000137 002254 JWP TSTI
3108 015264 0600CQ! XCSR: 1
3103 015066 _ 006 002 .BYTE  B,2
3110 015370 00:i360 DARCSR
3111 018272 0OGOOI XVEC: 1
311 015874 003 002 BYTE 3,2
3113 015276 001350 DQRVEC
3114 015300 00000I XPASS: |
311 015302 006 002 .BTE_ 6,2
31ip 015204 001230 PASCNT
3117 015306 00O0CI XERR: 1
2118 013310 006 002 .BYTE 8,2
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DZ0aDC. P11 END OF PRSS ROUTINE

ggég 015312 001232 ERRCNT
4

gigé <SCOPE LOOP AND INTERATION HANDLER
3123 015214 104414 .SCOPE: CKSKR
2i24 Q15316 032777 040000 163654 ___ BIT $BITI4, 3SWR
3125 015324 001IM07 TTST:  BEQ 18
3126 015326 000432 BR 3%
3127 015330 105777 163650 TSTB  9TKCSR
3138 015334 100027 BPL 3§
3129 015336 017700 16384d4 MOV 3TKDBR, RO
3130 015342 000412 BR 2%
3131 015344 032777 004000 163626 !S: 817 £SK11, ISKR
3132 015352 001006 BNE 2§
3133 015354 005237 D00i2e4 INC LPCNT
3134 015360 023737 00i224 001222 CMP LECNT, ICOUNT
3135 0iF366 001012 BNE 33
3136 015370 105037 001312 2s: CLRB  ERRFLG
3137 015374 005037 001224 CLR LPCNT
3138 01S400 012737 000010 001222 MOV %10, ICOUNT
3139 01540e 013737 0012i6 001214 _ MOV NEXT RETURN
3140 O0I1S414 013716 001214 38: MOV RETURN, (SP)
3141 015420 00C002 RTI
3142 018432 0OC1407 BRW: 1407
giza 015424 000432 BRx: 432
3%33 :CHECK FOR FREEZE ON CURRENT DATA
3147 015426 104414 .5COP1: CKSWR
3148 015430 032777 001000 163542 BIT #5109, ASKR
3148 015436 001402 BEQ 15 7
3150 015440 013716 001220 MOV LOCK, {SP)
giéé 0iS444 000002 18: RTI
g;ga s TELETYPE QUTPUT ROUTINE
3155 0i5446 010546 JTYPE: MOV RS, -(SP)
2156 015450 017605 000002 MOV a2{SP) RS
3157 0i54S4 062766 000002 000002 ADD 82, 2(5P)
3158 0l5462 005737 017136 18: ST J8R0SH
3159 Q0IE46E 001004 BNE 3008
3160 018470 032777 010000 163502 BIT #Sl12, ISUR
3161 D15476 00IORM BNE 3%
3162 018500 10571S 3008: TSTB  (RS)
3163 015502 100014 BPL 2§
3164 015504 105777 163500 TSTB  @TPCSR
3165 015510 100375 BPL .4
216 015612 012777 000015 163472 MOV %15, 3TPDBR
3167 015520 105777 16346M TSTB  JTPLSR
3168 015524 100375 BPL =4
3169 015526 012777 000012 163456 MOV $12,3TPDBR
3170 015534 10S777 163450 2%: 71578 aTPLSR
3171 Q15540 100375 BPL 2%
3172 0iS5542 112577 163444 MOVB  (RS)+,aTPDBR
3173 015546 001345 BNE 18
3174 013550 012605 ] MOV (SP)+,RS
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3280002

010346
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017637

010566
00S00S
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L UTILITIES (TYPE OUT,ERROR,SCOPE,ETC.)

RfI
;ASCII STRING INPUT ROUTINE

JINSTR: MOV R3,-(SP)
MOV R4 -(5P)

000004 015576 MOV a4tsP), .MSG
000002 000004 ADD 82, 4(5P)
JINST1: TYPE
.MSG: 0
017726 MOV #INBUF, RY
000007 MOV 7 .R3
163370 18: TSTB  QJTKCSR
BPL 1§
163364 MOVB  3TKDBR, (RY)
000200 BICB %200, (RY)
000025 CMPB  (RY), %25
BNE 200%
017316 TYPE , MCRLF
BR .INST1
000015 2008: CMPB  {(R4)+,#15
BEQ INSTR2
163332 163334 MOVB  aTKDBR,3TPDBR
163326 2%: TSTB  QTPCSR
BPL 2%
DEC R3
BNE 18
BR . INSTG
.INSTE: MOV R3,-(5P)
MOV R4, -(SP)
.INSTG: TYPE
MGN
017136 157 J#RDSH
BEG 400$
017316 TYPE, MCRLF
400%: BR .INSTI
INSTR2: MOV (SP)+.RY
MOV (SP)+.R3
RTI
s CONVERT RSCII STRING TO OCTAL
.PARAM: MOV RG.-(SP)
MOV R4 -(SP)
000004 MOV 4(8P) RS
016130 MOV (RS)+,LOLIM
016132 MOV (RS)+, HILIM
016134 MOV (RS)+, DEVADR
016136 MOVB  (RS)+ LOBITS
016137 MOVB  (RS)+ ADRCNT
000004 MOV RS, 4(5P)
PARAMI: CLR RS
017726 MOV $INBUF ,RY
000015 CMP8 15, (R%)
BEG PARERR
000080 18: CMPB  (RY4J, #60

IS IT (G
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002415
121427
003012
142714
152405
122714
001414
006305
006305
006305
000760
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104404
000742
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02 013704
06 010524
10 0ee705
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26 000Gc2
30 000000
32 000000
34 000000
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UTILITIES (TYPE OUT,.ERROR.SCOPE,ETC.)

:IS FIRST CHARACTER R <(CR»
;1S CKSWR ROUTINE BEING USED

8LTY PARERR
000067 CMPB  (RY), %67
BGT PARERR
000080 BICB %60, (R4)
BISB (R4}+ RS
000015 CMPB %15, (R4)
8EQ LIMtTs
ASL RS
ASL RS
ASL RS
BR 13
000015 PARERR: CMPB  #15, (R4}
SNE 1204
017136 TST J4RDSW
BNE PRRTI
1208:  INSTER
BR PARAM!]
:TEST TO SEE IF NUMBER IS WITHIN LIMITS
016132 LIMITS: CMP RS, HILIM
BHI PARERR
016130 CMP RS, LOLIM
BLO PARERR
016136 BITB  LOBITS,RS
ENE PARERR
:STORE NUMBER AT SPECIFIED ADDRESS
016134 MOV DEVACR, RY
18: MOV RS, (R4} +
000002 ADD #2. RS
016137 DECB  ADRCNT
BNE 18
PARTI: MOV (SP)+,RY4
MOV (SP)+.RS
RTI
LOLIM: O
HILIM: O
DEVADR: 0
LOBITS: O
ADRCNT=LOBITS+1
:SAVE PC OF TEST THAT FAILED AND RO-RS
000004 031274 .SAVOS: MOV 4(SP), SAVPC
:SAVE RO-RS
001270 SVO5: MOV RS, SAVRS
001266 MOV R4, SAVRY
001264 MOY R3, SAVR3
001262 MOV Rz, SAVR2
001260 MOV R1,SAVRI
001256 gg¥ RO, SAVRO




D2DQD

D2DQ0C. P11
3287
3357
328y
3290 016200
3291 015204
3292 015210
3293 016214
3294 060
3995 016224
3895 01623C
3897
2298
3299
3300 016232
3300 016234
3302 016236
3303 016240
3304 0lbaye
3305 01624
3305 016246
3307 016250
3308 016254
3303 Ol6ebe
3210 Q16270
3311 O1se7
3312 01300
3313 016304
3314 0616310
3315 016314
3316 016320
3317 016324
3318 016326
3319 016332
3320 016336
3321 016340
3377 016342
3223 016344
3324 016346
3385 016350
3396 016352
3327 016354
3388 016356
3329 016360
3330 016364
3330 016366
3332 016372
3333 016374
3334 016400
3335 016402
3336 016406
3337 DleM1P
3338 016414
3339 0IEM16
3340 016420
3341 D1B4E?
3342 Dlg42E

MRCY1l 27(732}

GENERAL

3
62766

bt s s
n
P
W
~

13704

012703
114023
105337
001374
105737
001405
112723
105337
001373
105013
104402
020032
00S337
coli322

24-MAY-7S 13:10 PRGE

MOS

65

UTILITIES (TYPE QUT,ERROR,SCOPE.ETC.)

001es6
001260
00lge2
00igb4
00leged
001270

000012

1%:

c%:
016454
017770

177770
000060

J%:

020032
016454
01&-35

000040
016455

4%:

cs:

£S:

016452

.RESQOS:

;RESTORE RO-RS

MOV SAVRO, RO
MOV SAVRI.RI

MOV SAVRe, R2
MOV SHVR3 . R3
MOV SAVRY. RY
MOV SAVRS . RS

RTI

-CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
TYPE

MCRLF

MOV RO, - (SP)

MOV RI,-(5P)

MOV R3)-(SP)

MOV RY.-(SP)

MOV RS’ -(SP)

MOV 312(SP) Rl
MOV TEMP, TEMP3
ADD %2, 12(SP)
MOV (R1)+, WRDCNT
MOVB  (R1)+.CHRCNT
MOVB  (R1)+, SPACNT
MOV 3(R1)+, BINWRD
MOV BINWRD, P4
MOVB  CHRCNT.R5
MOV $TEMP, RO

MOV RY,R3

BIC $127770.R3
ADD $060,R3

MOVB  R3, (RD)+

cLC

ROR RY

cLC

ROR RY4

cLC

ROR RY

DEC RS

BNE 33

MOV $MDATA,R3
MOVB -(R0), (R3)+
DECB  CHRCN?

BNE 4§

TSTB  SPRCNT

BEQ 3

MOVB #0440, (R3)+
DECB  SPARCAT

BNE 11

CLRB  (R3)

TYPE

MDATA

DEC WRDCNT

BNE 13
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D20QDC.PLY GENERRL UTILITIES (TYPE OUT,ERROR,SCOPE,ETC. )
3343 016430 013737 001250 017770 MUV TEMP3, TEMP
3344 0lE436 012605 MOV (SP)+ RS
3345 015440 012604 MOV (SP)+ RY
ggqg 16442 012603 MOV (SP)+.R3

47 Qleuyy 012801 MOV (&P)+'R1

3348 016446 01260C MOV (SP)+.RO
3349 016450 000002 RTI
5350 016452 000000 WRDCNT: 0
335! 016454 000000 CHRCNT: O
3352 016455 SPACNT=CHRCNT+1
3353 018456 0000GO BINWRD: O
2354 - TRAP DISPATCH SERVICE
gggg ARGUMENT OF TRAP IS EXTRACTED
gggg :TO SELECTED SUBROUTINE
3359 016460 011646 .TRPSR: MOV (SP),-(SP
3360 0le4ee 162716 000002 SUB 82, (5P)
3361 016466 017616 000000 MOV a(sp),(
3362 016472 006316 TRPOK: ASL (SP)
3363 016474 Q42716 177001 BIC $177001 s
3364 01650C 082716 001314 ADD .. Tnprné (S
3365 (016504 OI761E 000000 MOV 3(SP) (s¢>
gggg 016510 000126 IMP J(5P)+
gggg :ERROR HANDLER
3370 Gl16512 104414 JHLT:  CKSWR
3371 0166514 032777 010000 162456 BIT #SW12, ISKR
3372 016522 001406 BEQ XBX
3373 016524 105777 162480 TSTB  QTPCSR
3374 016530 100003 BPL XBX
3375 016532 112777 000207 162452 MOVB  #207,3TPDBR
3376 016540 032777 020000 162432 xBX:  BIT #5113, ISKR
3377 016546 001074 BNE HALTS’
3378 016550 021637 001234 CMP (SP),LSTERR
3379 Q016554 001404 BEQ 13
2380 016556 011837 001234 MOV (SP),LSTERR
3381 016562 105037 001312 CLRB  ERRFLG
3382 016566 104406 18: SAvaS
3383 016570 011605 MOV (SP},RS
3384 016572 162705 000002 SUB 2, RS
3385 016576 011504 MOV (Ré),nq
3386 016600 006304 ASL
3387 016602 061504 ADD (RS) RY
3388 016604 006304 ASL
3389 016606 042704 177001 BIC 317700' RY
3399 0i6612 062704 012604 ADD &.ERRTAZ R4
3391 Qleble 012437 016710 MOV (RY)+, ERRMSG
3392 016622 012437 016722 MOV (R4)+ DATAHD
3293 Qleb2b 011437 016734 MOY LR4) , DATABP
3394 Q16632 108737 G0l1312 TSTB  ERRF(s
2235 D1e63b 001403 BEQ TYPMSG
2296 018640 005737 ClE734 TST DATABP
2397 Qlee44 001027 BNE TYPDAT
3338 J1ZE4E  i04402 TYPMSG: TYPE

NOS

sAND USED RS OFFSET TO OBTAIN POINTER

:GET PC OF RETURN
;=PC OF TRAP

:GET_TRP

sMULTIPLY TRAP ARG BY 2

:CLEAR LUNWANTED BITS

;POINTER TO SUBRCUTINE ADORESS
: SUBROUTINE ADDRESS

;GO TO SUBROUTINE
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D2Canl.FLL GENERAL UTILITIES .TYPE CUT.ERRIR,SCOPE.ETZ.)
3393 318653 JITETM MISTN
3930 01682 104411 ENVRT
3901 016€84 QITO34 XTSTN
3422 Q18656 104402 TYPE
34933 0166R0 O1tee2 MERRPC
3424 C168E3 104411 CNVRT
3935 RIEEES BIrogé RTABC
438 ClEB66 14422 YPE
Iwes 2iBELs QiT3iE i MIRLF
333 FggsE IigtE ovemoroooiai M3VE  m-1,ERRFLS
3523 2162 C00ST3T D1e7il 13T ERRASS
3912 TIETIN 2042 < WRK2.EM
=1l I "I 10wwlz \PE
3.3 _iptif Dooo EQR™SG: 9
3413 312715 7 g3 WRK . FM; ‘ .
Jeld Z1gTi3 "7 DIe”2E 767 "'
3425 CIB716 B142 BE 3 et
3.8 21g~20 V42 PYEE
345 3lg~z2 ala) QATAHC: §
9.3 J1pTN 0TI CIETH P EDAT: Y57 DATAEP
343 BlerIc AR14S BES RESRES
3-22 ;523;5 124412 s sap CINVR?
’:. - e de :
3-22 3S1Er3e 109D BESRE 3¢ Sesos
2423 J1ETN] =7 183234 MA.TS: TST 3SiA
924 DiETW 10002 P EXITER
3425 Diprwe L0046 PUSHRC
™2& S160s0 QiEsC0  coonas M3V 2.6P: . RC
437 C1p789  BOAGO0 HALT
3428 215786 012600 PCPRJ
3428 czszgg 01454 ENITER: -kSWR
3430 Bik: ﬁcsa ? 001232 InNG ERRCNT
3431 D0ig766 032777 0DOON03 162204 817 85W08, ISWR
3932 Qie7™™ 201097 aNE 18
3435 C16778 832?77 002000 162174 BIT a5W13, SKR
3434 017004 001407 BEQ 2§
343 01700¢ 013737 001216 CCl2ld MOV NEXT, RETURN
W3R 017714 912706 001200 18: MOV 8STRK, SP
2437 217020 0001 162179 MNP SRETURN
38 Di7CAN 200002 28: RTI
3439 (i7C26 0000CI ERTABD: |
3446 517039 906 03 .BYTE &.2
341 01703 20127 SAVPC
442 0170 0601 XTSTN: 1
W43 01703 093 coe .BYTE 3,2
344 017040 001226 TSTNG
44 :ENTER HERE ON POWER FAILURE
3446
' g
3448 017042 .PFAIL:
3449 017042 (12737 O0l70S4 CZQCoew MOV SRESTART, 24 :SET UP FOR POWER LP TR=P
2450 017 oc;ngg " HALT ‘HALT ON POWER COWN NORMAL
533; Ai72€2 00%7 BR .
32§§ +PROCESSOR WILL TRAP MERE WHEN POWER IS RESTIRED
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noPaDl.PlL GENERAL UTILITIES (TYPE OUT,ERROR,SCOPE,ETC.) -
3455 01705M RESTAR:
955 QITG8Y 1373 QIT0w2  000C2M MOV 8.BFAIL, 24 :SET 4P FOR PCWER FAILLURE
35, Qiogee AIGe 20iga MOV #STRCK,SP )
3458 Q0I-De€ 30803° QI°%3 SLR TEMP
3489 QITPT3 008e3r C1°T3 INC *EMP
E3 CIT0TE CO13TS BNE et
Wl NITI00 104402 TYPE
3463 017182 017320 MPFAIL
53 QITI0N 109411 CNVRT
368 J10I06 £17:30 PFTAB
3965 Q17110 00S337 0C13)2 CLR ERRFLS
94e6 DITIIN XCS5037 D01E3N &R LSTERR
460 0IT130 164912 MSTCLR
6B CI7132 10wd13 MEMCLR
9Eg 017158 O00ITY 16208 IMP JRETURN
¥ 817130 250501 PFTAB: |
71 Cin132 003 02 JBYTE 3,2
T2 O17I34 0012Es T4TNO
£
3475 sCHECK SWITCH REGISTER RCUTINE. CHECKS FOR 13 TC ALLIM CHA!
MTE :0F L3C 176,
N : LOCAYIONS USED:
34~9 J1T:38 200002 ADSW: .WORD @
M7y
3489
3481 DI7I40 0OSTI7  DOCOO4R .CKSWR: TST 242
3482 CI7I44 001042 BNE OuT
83 01714p 022737 000176 001200 CME 8SWRES, SWR :SIFTUARE SWITCH REGISTER PRESENT
329 017154 0010 BNE ouT :N), GET OuT
485 01718p 105777 1e202e 7STB  &TKCSR :YES. WAIT FOR
486 0I7162 100033 BPL ouT ‘READY, GET SHARACTER
487 CIT169 017737 182016 015576 MOV TKOBR, .MS5 :aNe STRIP OFF
2488 017172 042737 177600 01557 BIC 8177608..55  :TME GARBAGE
3489 017200 122737 0DO0OOF O1857 PR 7. .MSG P16 IT A (16
3490 0i7206 001221 BNE out
43] 817210 104452 017286 TYPE, §CNTG
482 B17214 005137 OITI36 LCNTLU: COM SSRDSW
3463 017320 108402 D17272 TPE , SMSWR
384 D17Ze4 i0Nd1l Q17260 CNVRY, SWRESC
¢ CI7830 1Jw403 217301 INSTR, SMNEL
JWGE 317234 !19uN05 PARAM
3487 01783 00COOD i
488 Q1740 177777 177777
2439 A17242 000176 SWRES
3505 017244 8 901 .BYTE 0,!
3501 Cl7246 104492 017316 TYPE.MCRLF
332 017ese 095037 017136 8UT:  CLR JSROSW
3E03 Qi7eSe 0ogcge RTI
:254 pi17g50 (00OOD! SWREGC: |
3E95 01726e 0%k o2 BYTE b&,2
3E°E (0.72eM 000176 SIREG
3237 0.72¢6 057377 000107 §CNTG:  LASCIZ <377 /157
3Efg ri7g72 0OEi1777 0EL127 020075 §MSWR: .RSCIZ <377 /SWR=
3859 17399 025
50 £123CT 030 047042 0B35S0 §MNEW: .ASCIZ 4 NEW= -
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35811 017306
3.2 -
3813 J73le
3514 012316
gézs 01:°3¢0

SiE 21,326
3817 01733
3518 DQIV34e
3543 017380
53] 217358
3821 J1738M
2522 L173re
3823 Q17377
35 Q17402
3828 LCI7410
3sas CI74ib
3527 91T4e-
353 JiTu3e
35239 DI7440
230 DITH4G
3531 Dlvus!
383 017456
3533 QI74ed
3B Q17472
<335 017475
3336 J17802
<537 C17%07
3538 017514
3533 017822
3540 017530
o4 L1753k
3542 QlI7%¥4
343 0i7ss2
344 017SED
3E48 017562
3E48 017570
3847 D17574%
2548 017e02
3543 017el0
3580 0I7Bib
3551 0Ol7eed
358¢ 017622
3583 017640
3CS4 017846
3558 017654
35Sk 017682
3557 017667
3ESe 017674
2588 Q17702
3560 017710
3€61
Xe2 Ci7714
82 017716
JCe4 L7720
2S6S Q17722
2SeE 21774
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GENERFL UTILITIES

220075
017312

020123
042522
O44S24
041520

77

3
Q43117
0z00€l
gs1528

24-MAY-TE  13:
JTYP

000
0ocorr

Qe112?

Q42040
gS2i23
8Co37?

0a3

ca2

743040
327 1gH
£4052Y
020124
92040
050040
055104

009

351137
J42116
051535

C2C123
047108

052523
C42S1l
0s210!

Gs82123

000
g45503
042523
042105
g00leH
0Co040

000040
0S180%

0s111?
gSe1el

00004C
S51443

0s210!

D06

N~

(
rd

)
/PWR FRILED. RESTART AT TEST /

(377> END PRSS D20QD

377> /R/
‘377> 7/FROGRAM INCICRTES NO DEVICES PRESENT. /

<377 7/INSUFFICIENT CATR!~/

«377>/TEST PC-/
<377 /LCCK ON SELECTED TEST/

7/CSR: 7
/VEC: /
/PRSSES: 7/
/ERRORS: /
377377 /TEST NO: /

(377>/8ET SWITCH REG TO DQLL1°S DESIREC RCTIVE.~

/PC: 7/
377> /MAP OF DQIL STRTUS/<I7MH

6,3
6,2

10 PRGE &9
£ QUT,ERROR,SCOPE,ETC.)
.EVEN
MQM: RSCIZ
MCRLF: .ASCIZ
MPFRIL: .RSCIZ
MEPRSS: .ASCIZ
MR: .ASC1Z
MERR2: .WSCIZ
MERRS: .ASCIZ
MTSTPC: .RSCIZ
MLOCK: RSCI2
MCSRX: .RSCIZ
MVECX: LRSCIZ
MPRSSX: .RSCIZ
MERRX: .ASCIZ
MTSTN: RSCIZ
MNEUW: RSCIZ
MERRPL: .RSCIZ
XHERD: .RSCIZ
.EVEN
XSTRTQ: 2
.BYTE
TEMP]
.BYTE
_TEMP2
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EO0B

O2Cae  MASYIL 27:732) 24-MAY-T&  13:10 PAGE ™0
DSDADC. P11 GENERAL UTILITIES :TYPE OUT,ERROR,SCOPE,ETC.)
3525 .EVEN
3s§9 .BUFFERS F3R INPUT-CUTPUT
Bl oItTee 000000 INBUF: O
X~ +40
¥>3 o1t 000 TEHP )
B4 083 440
3¢5 020032 WDATA: C
&~ 620074 'z, +40

3T 625001 LEND

| -, -~ - -

- - - - -



C<o0QC MACYLL 27732 _a4-MRY-Te 13:10 PRGE 72

D20a0C.PLI SYMBJL TRB.E

REBIT = 002000 OHb 013465 DSWR = 177570 MTITLE 001000 SAYRO  0012S%
ReTSIT= 004000 DH? 013505 D70 014240 MISTN 017574 SAYR1 001260
RORCNT= Q18137 DHB 013534 EMO 013010 MISTPC Cl747S SAVR2 001262
S8 023054 OHY 013540 EM] 013026 MVECX 017544 SA/R3  00lck4
8ABIT = J10C00 CISPRE 0001 EM3 013C54 NEXT Q01216 SAVRY (00126
88BIT = 0200C0 DLIGHT= 177570 EMY 013116 NPRFLG 0117€% SAYRS  00127C
SiNWRD 016456 DGACTY 0CISCO EMS 013150 NUMBER Q14114 SRYSP 001272
SITSEL 014064 DQCRO0 0Q1403 EME 012173 000BIT= 001000 SRVCS = 104406
BIT0 = 000001 OQCROI 001404 EM? 013206 QuUT 017252 SCOPE = .04400
BI71 = 0000Q0¢ CQCRO2 001410 EMS 013254 PARAM = 104405 SCOPL = 104401
81710 = 002000 DQCRC3 Q0IN14 ERRCNT 001232 PARAM] 015764 SECND 003220
BiTil = 004000 DQCRO4 001420 ERRFLG 001312 PRRERR 016040 €zQ. = 000014
8I712 = 010030 DQCROS (QOl424 ERRMSG 016710 PARFLG 012622 =%0000Ce
SI1T13 = 020003 oQCROS 0014230 ERTABC 017026 PRRTI  0lble2 SPACNT= 0164SS
BITI& = 040000 DQCRO? 001434 EXITER 016760 PASCNT 001230 STACK = 001200
81715 = 100000 DACRIJ QCINND EXTFLG 014082 PC =»00000 STFLG 001311
BIT2 = 0QO0Q0u DQCRI1 001444 GENPAR Q12444 PFTAB 01713 Sv35 glel4e
8IT3 = 020010 DGCR12 001450 HALTS 016740 POLY. = 00001 SWR gCl2cC
2174 = 000020 DQCR13 001454 HILIM 016132 POPRO = 0l26CC SWREG 000175
BI7S = 000040 DQCRI4 001460 ICCUNT (0l2z22 POP1SP= 00S7z SWFEGC Q17260
BITS = 000100 DACRIS Q01464 INBUF 017725 POP25P= 222526 SW30 = 0CC0o0l
2277 = 00C200 DQCR1E 001470 INIFLG 001310 PS = 177776 SWOl = 000002
3178 = 000400 DQRCR17 0OIN74 INSTER= 104404 PUSHRO= 010046 SWi2 = QCOCCH
BITS = 001000 DQCSR 001506 INSTR = 104403 PUSH15= 005746 SW03 = 060010
BRU 015422 DGERR 001366 INSTR2 (15716 PUSH25= Q24646 SWO4 = 000020
BRX J1S4z4 DGNUM  CO1S04 JUMBIT= 040000 ROSW 017136 SWOS = 000040
~HRRCT= 000010 DGRCSH 001362 LIGHTS 001202 RESREG 016736 SWO6 = (30100
CHAR1 021236 DGRCSR 001360 LIMITS 016060 RESTAR 017054 SWO8 = 00C40Q
CHAR2 001240 DGREG 001370 LOBITS - 016136 RESTRT 015250 SW03 = 301000
CHAR3  DClo42 CQRLVL 091352 & Q01229 RESOS = 10427 SW10 = 002009
oHRONT 016454 DGRVEC 001350 LOGICA 015240 RETURN (0012i% SWil = 0C430C
CKSWR = 104414 DQSEC 001372 LOKFLG 001313 RUN Q01304 SWig = 010000
CKSYN1 003002 DISECH 001374 LOLIM 015130 RUNCNT 001306 SWi3 = C20000
CNTLU = 104415 DGSTAT 00iS10 LPCNT - 001224 RUNFLG 001302 SWiY = 240000
CNVRT = 1C4411 DQSTO0 001402 LSTERR S5J1234 RXBA.P= 000030 SWlS = 100600
CONVRT= 104410 0QST0l 001406 MCRLF 017316 RXBA.S= 0CCO04 SYNBIT= 100000
SOUNT 014382 DGST02 0Qliu4l2 MCSRX (017 RXBUFF 01411% SYNC 014522
JREAM 001300 DQSTO3 00I416 MDATR 020032 RXELNG 012302 SYNC. = 000Cll
CSRMAP 00220 DESTOY (0Cly4g2 MDETCH 013724 RXLiG 012132 SYNTST (QuUSe26
DRTABP 016734 DQSTOS 00142k MEMCLR= 1C4413 RXSTRA (Qll15g¢ TEMP 1777
pav Q15722 DGST0E 001432 MEPASS 017356 RXWC.P= 000CJi TEMPL 001344
CELRAY 014080 DQST07 00143t MERRPC 0l176b2 BXWo. 5= 00005 TEMP2 001246
DEJADR (16134 DGSTIJ 00l442 MERRX  017t63 RX.BCC= 003015 TEMP3 001250
CHO 013306 DQST11 001446 MERR2 0l17v’2 R =%000000 TEMPY 001252
CHL 013326 DGSTl2 00I4S2 MERR3  0174S) Rl =%00GC31 TENPS  CQl1aS4
OH10 C13546 DGST13 QOI4SE MISC. = 0CQ0l2 R2 =%00C002 TKCSR 001234
OHil 013621 DGSTIY 001462 MLOCK 017507 R3 =000003 TKDBR 001206
DH12 013645 DGST1S 001466 MNEW 017610 R4 =»000004 TLRST = 007°CSH
oH.2 013675 DQSTie Q01472 MPASSX (017552 RS =%000095 TMPBUF 014066
OH2 013347 DAST17 001476 MPFRIL 017320 SAVACT 001502 TPCSR 001210
K3 0133eH DGTCSR 001364 MQM 017312 SAVEPC 014054 TPOBR  0C0l212
CHY 0i3375 DOTLYL 001356 MR 017377 SAVNUM 001276 TRPOK  Qle47e
CmE 013431 OQTVEC 0C.:54 MSTCLR= 104412 SAVPC 001274 TSTNG 2012238




OoCAD MACYIL 2707320 _24-MAY-TE  13:10 PRGE 73

DI0QDC.PLL SYMBOL TRBLE

1811 002254 IST3S  00Slée TXBR. S= 000006 XPHSS
I5T1I0 00350 TST36  00S2.i0 TXBUFE 014524 XSTATQ
IST11 003546 IST37 005236 TXSTRB 010720 XTETN
I1ST12 00357 ISTH 003370 TXSTRC Qllle4 XVEC
TST13  DQO3t22 T1STH40 005264 TXSTRD 011266 XYZFLG
19714 0036E0 TST4Y  00S312 TXWC.P= 000003 $CNTG
15715 00367 TET42  QOS340 TXWC, S= 0GC307 $E

Is & 003red TST43 005365 1X.8CC= 000016 $MNEW
iS1.” 003752 TSTHY 005414 TX.MUX= 000013 $MSUR
1572 JU26uM TSTHS 005442 TYPORT 016724 8N
IST2J 004000 TST46  QOSEH6 TYPE = 104402 sY
T5T21 004026 TST47 005576 TYPMSG Q16646 .RDDR]
IST22 00405+ 1575 002416 VECMAP  0000S& .RDBR2
ISTe3 Q04102 ISTSC 006236 WORD 014056 .RDOR3
ST24 Q04438 ISTS1  00-364 WROCNT 016452 . ADDRY
1572 0o4570 15752  0C&512 WRKO.F 016712 .BEGIN
15726 004730 TSTS3  00BeSD XBX 016540 .CHARI
15727 004756 IST84  QC- 032 XCHAR] 010630 .CHRF2
TST3 003030 ISTSS Q07434 XCHARe 010642 .CHARZ
1ST30  0O0SJ0M ISTSE 007754 XCHAR3 (10554 . CHARY
IST31  DOS032 1576 003444 XCHRRY 010666 . CKSWR
18732  COSO&C TST7 003472 XCSR 015264 .CNTLU

ERRORS DEVECTED: 0
DEFRULT GLOBALS GENERATED: O

¥TUKE: DZDA0DC, DZDQDC/SOL*UNIV LIB,DZ0Q0C. P11
RUN-TIME: 22°33 1 SECONDS

RUN-TIME RATIC: 14:/57‘2 S

CORE USED: 19K (37 PAGES)
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